FONRAY"

HITITH

EXECUTION ELEMENT

ASC R RS
ASC Series Standard Cylinder

AS| % IR (& 1SO15552 FH# )
ASI Series Standard Cylinder (Conforms to ISO15552 Standard)

AMC #R7 SR A &R
AMC Series Aluminum alloy Mini Cylinder

SMC # 71 kR

SMC Series Stainless Steel Mini Cylinder

FA 23 SR ERE

FA Series Miniature Cylinders

FI &% R AIRE
FI Series Stainless Steel Mini Cylinder

FMJ 251 ERIFERET
FMJ Series Pen Cylinders

01-05

06-09

10-13

14-17

18-27

28-32

33-43



FCMBR* %3] 4R sm B ET
FCMBR* Series Miniature Cylinders

STCDFA %5 RIS HT
STCDFA Series Thin Type Cylinder

DFFA R7% B iR &R
DFFA Series Multi-mount Cylinders

TN %71 &8s iT

TN Series Double Rod Cylinder

DPC #7%! #5IREL
DPC Series Double Piston Cyliders

FCGB #7! i {RE&E G2 R
FCGB Series Twin—guide Cylinder

FGT* &7 &5 ERFT
FGT* Series Twin—guide Cylinders

FPRCL* &% fi2HT
FPRCL* Series Rodless Cylinder

ACH &7l mE3k T
ACH Series Air Chuck Hand

FCHA &% 5
FCHA Series Grippers

FCRB %% iE# R/
FCRB Series Rotary Actuator

FRT* &5l j@#ERE
FRT* Series Rotary Actuator

FTA* &%l REE f T B

FTA* Series Pneumatic—Swing Clamp Cylinders

HLRAFERAIRR / B E S

Magnetism Sensor Switch/Fixed Metal Band

ElEdE
Fixed Clamp

44-46

47-50

51-55

56-58

59-62

63-67

68-78

79-86

87-90

91-92

93-95

96-100

101-108

109

110




FONRAY”

RAEREL
Standard Cylinder
ASC & 3%l ASC Series

SFEIETELHE Ordering Code
ASC D 50

=

BI5R

ASC: #igst
ASU: 2
Type

ASC:Pull Rod
Type

ASU: Hidden
Pull Rod Type

L1

=0 FEEEHR
D: &migs)al
J: HEATITIZE

Tube I.D.

##& Specification
A1E Tube I.D. (mm) 32 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
BERR . ) )
MotionIPattem 812 Double Action
TENE o )
Working Medium =R Ar
E R EA&ZR Basictype FAZ! /type FBE! /type CAE /type
Mountings CB ! /type LB#! /type TC & type TC-M ! /type
fERERHEE

Operating Voltage Range

1 ~ 9.0 Kgflem®

RETE S

Ensured Pressure Resistance

13.5 Kgf/cm®

fE AR ERE

Operating Temperature Range

0 ~ 70C

f& Rk
Operating Speed Range

50 ~ 800 mm/s

ZEl
Buffer Type

A 5A#Esh Adjustable Buffer

T2 mm
Buffer Stroke

20 26

45

BEEOL
Port Size

G1/8" G1/4" G3/8"

G1/2"

G3/4"

*ASCD. ASCJ HEIEE X F: FA, FB, LB, TC #1 TC-M &/,
*ASCD. ASCJ mountings: FA, FB. LB, TC & TC-M type.

M 50

25 LB

(Fr
Stroke EE R
=H: ERE
ke LB: RiZEEE
6!\7: 5111575 FA: BIZEEE (RIEH)
=10, AL FB: #EREER (£EHW)
Magnet Code CA: ZHEEER (BHR)
M: Magnet CB: E=ETE (¥HR)
Blank: Without ‘ TC: whfE#ZER
magnet TC-M: 2#E=X B B EE
Mountings
e Blank: Basic mounting
ﬁgﬁj g%ﬁg% LB: Front and back mounting

Blank: Standard Double Action
D:Double-shaft Double Action
J: Double-shaft and adjustable

stroke type

1712 Stroke

ASCJ adjustable
stroke type
ASUJ adjustable
stroke type

FA: Front cover mounting (Front flange type)
FB: Back cover mounting (Rear flange type)
CA: Back cover mounting (Single Earring)
CB: Back cover mounting (Double Earring)
TC: Swinging type

TC-M: Swinging type attaching foot seat

= I O
Tu(lt:;]’gn:.)D. et T SRR Maaixj.g?riie Permifiig#sitroke

32 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 1000 2000
40 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
160 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
200 25 50 75 80 100125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000




RERE
Standard Cylinder

FO" RAY® ASC &%l ASC Series

5pER R~ Dimensions 32 ~ ®200

ASC
A+1TH2(Stroke)
B C+1T#2(Stroke)
E FI.G G G
H N 2-0 N N
J p—————————— ———
A o o ]
el el el
n.%@ @ 14 DC? Q H
w ———————| e — Y (3
_
Q 2-4& Mg ig(Buffer Nut) Q Q 8-LiF(Depth)M
ASCD
A1+{T#2(Stroke)x2
B C+{T#2(Stroke) B+{7#2(Stroke) 0s
E Fl.G G _|F E+{7#2(Stroke) oT
H N, | 20 N ; I
) == ) o 119
I a PN
=] e N . 2N
B> X o r;_@ifi*i*i*ifﬁ NS . Y ¥t§] 7 \&&
o
w e - Q (3]

- L")
Q 2-42 i2E (Buffer Nut) \ 8-LR (Depth)M

(s}

A2+17#2(Stroke)x2+ 7] 31T #2 (Adjustable Stroke)
B C+{T#2(Stroke)

S
E FI_G G _|.F 1742(Stroke) oT @
|J—| N, | 20 N J j ] | o
fffffff — o
o . = o B
a >[:<L N 2 48— — ’ﬂd D) =
Fa q g 7 of
o 7 <1 < ﬁI
v LI/ — & ©) 5
Q 2-4Z MiZ1E(Buffer Nut) Q  Z+iFfFR(Adjustable Stroke) 8-L 7 (Depth)M %
o
e\ A | M | A2 | B | C | D|E|F|G|H [ J K L
32 140 | 187 | 182 a7 93 28 32 15 | 275 | 22 17 6 M10 x 1.25 M6 x 1
40 142 | 191 185 48 93 32 34 15 | 275 | 24 19 7 M12 x1.25 M6 x 1
50 150 207 196 57 93 38 42 15 27.5 32 23 8 M16 x1.5 M6 x 1
63 153 210 199 57 96 38 42 15 27.5 32 23 8 M16 x 1.5 M8 x 1.25
80 183 258 243 75 108 47 54 21 33 40 26 10 M20 x 1.5 M10 x1.5
100 189 264 249 75 114 47 54 21 33 40 26 10 M20 x 1.5 M10 x1.5
125 226 / / 104 122 55 70 34 33 54 40 10 M27 x 2 M12 x1.75
160 201 / /| 123 | 168 | 62 | o1 | 32 | 50 | 72 | 55 | 18 M36 x2 M16 x2
200 347 / / 167 180 80 112 55 50 72 55 18 M36 x2 M16 x 2
e AL N o P Q R s T v w z
32 9.5 13.5 G1/8 3.5 7.5 7 45 33 12 12 21
40 9.5 135 G1/4 6 8.2 9 50 37 16 14 21
50 9.5 13.5 G1/4 8.5 8.2 9 62 47 20 17 23
63 9.5 13.5 G3/8 7 8.2 8.5 75 56 20 17 23
80 11.5 16.5 G3/8 10 9.5 14 94 70 25 22 29
100 11.5 16.5 G1/2 11 9.5 14 112 84 25 22 29
125 15.5 16.5 G1/2 / / / 140 110 32 27 /
160 17.5 25 G1/2 / / / 180 140 40 36 /
200 17.5 25 G3/4 / / / 220 175 40 36 /




FONRAY”

BRI
Standard Cylinder
ASC &35l ASC Series

LB BIZ8 Foot

AD

. RAIHOE
2 '_l Cylinder Axial line
< H N
AD AG AG
AC+1T#EStroke
AA+1TFEStroke
4-@AP
B o8

A
Sy
A
NP

FA | FB i%#i Flange

T

B3

DC

DJ

4-QD

DD

Mt Accessories ®32 ~ 200
ETEELHE Ordering Code
ASC - 50 - FA

ASC 1RHEREL
ASC Standard
Cylinder
Pt AR 5R
TR Accessory Code

Tube I.D.

4% Tube 1.D.

e 32 40 50 63 80 | 100 | 125 | 160 | 200
AA 153 169 173 184 200 210 249 328 380
AC 134 140 149 158 168 174 213 288 320
AD 9.5 14.5 12 12 16 18 18 20 30
AE 50 57 68 80 97 112 140 180 220
AF 33 36 47 56 70 84 90 115 135
AG 20.5 | 235 28 31 30 30 45 60 70
AJ 28 30 36.5 41 49 57 90 115 135
AP 9 12 12 12 14 14 16 18 22
AT 3.2 3.2 3.2 3.2 4 4 8 8 10
{I4E Tube 1.D.

e 32 40 50 63 80 | 100 | 125 | 160 | 200
BA 28.3 | 32.3 | 38.3 | 338.3 | 347.3 | 347.3 | 56 63 81
BB 10 10 10 12 16 16 20 25 25
BC 47 52 65 76 95 115 140 180 220
BD 33 36 47 56 70 84 90 115 135
BE 72 84 104 116 143 162 224 280 320
BF 58 70 86 98 119 138 180 230 270
BH 6.5 6.5 6.5 8.5 10.5 | 10.5 15 20 20
AJ 105 | 105 | 105 | 185 | 16.6 | 16.6 19 25 25
AK 6.5 6.5 6.5 8.5 105 | 105 | 125 | 16,5 | 165
BP 7 7 9 9 12 12 16 18 22

T 33 37 47 56 70 84 110 140 175
#I4% Tube 1.D.

e 32 40 50 63 80 | 100 | 125 | 160 | 200
S 48 50 62 75 94 112 140 180 220
T 33 37 47 56 70 84 110 140 175

DC 34 34 34 34 48 48 50 55 60
DD 14 14 15 15 20 20 25 30 30
DE 12 14 14 14 20 20 25 30 30
DJ 14 14 15 15 20 20 25 30 30
DQ 16 20 20 20 32 32 70 90 90




RERI
Standard Cylinder

FO" RAV® ASC & 3%l ASC Series

Mt Accessories ®32 ~ 200
CB #HIR Hinge

1% Tube I.D.
0s e 32 40 50 63 80 | 100 | 125 | 160 | 200
E‘IT cc_ ¢l cc 19 | 19 | 19 | 19 | 32 | 32 | 50 | 55 | 60
CP+0.1 cD 5 5 3 3 8 8 25 | 30 | 30
I l i CE 12 | 14 | 14 | 14 | 20 | 20 | 25 | 30 | 30
Qi | 79 q cb FAT cJ 13 | 13| 15 [ 15 | 21 | 21 | 25 | 30 | 30
] | | I I CP 16.3 | 205 | 20.3 | 20.3 | 323 [ 323 | 70 | 90 | 90
S N T N S - “==H| CcT 32 | 44 | 52 | 52 | 64 | 64 | 120 | 160 | 160
1| PAI 41 | 518 | 603 | 60.3 | 738 | 73.8 | 130 | 170 | 170
@— | — = PBI 335|458 | 54 | 54 | 655 655 |121.5(161.5(161.5
| /@ ﬂ S 48 | 50 | 62 | 75 | 94 | 112 | 140 | 180 | 220
| f T 33 | 37 | 47 [ 56 | 70 | 84 [ 110 [ 140 [ 175
TC rhiE Center Trumion
|
: $T48 Tube 1D,
! R — 40 50 63 80 100 125 160 200
i EB 113 126 138 164 182 210 264 336
. ) _i_ s EC 63 76 88 114 132 160 200 245
w ) ED 37 47 56 70 84 110 140 175
: EE 63 76 88 114 132 160 200 245
| EG 25 25 25 25 25 25 32 35
! EP 25 25 25 25 25 30 32 32
| ET 30 30 30 35 40 38 38 52
ET S 455 | 555 | 685 | 875 | 1075 | 1345 | 1725 | 2125 E
R
&L

Y $%88 / Y Connector | #3583 / | Connector

19pulA9 piepuejs

NQ NE
| ND ND
NP - NJ NF NG
J |
T L '
| ‘ B X C I o
Gl L . I s S LU §
! FJ=====-= s T
L A . gel
= ' ?F
= =
s =
1 T NH L_@NC R NH
_______ . +<f ,,,,,,, o
T
| "" """ i HLL _______
‘
HI1E Tube 1.D.
NA | NB | NC | ND | NE | NF | NG NH NJ | NK | NM | NP | NQ | PA | PB
%% Symbol
32 19 20 10 40 52 15 20 M10x 1.25 12 18 10 20 52 26.2 20
40 25.4 24 12 48 67 24 20 M12 x 1.25 20 23 12 24 62 32.8 26.5
50 32 32 16 64 89 32 23 M16x 1.5 22 30 16 32 83 39.3 33
63 32 32 16 64 89 32 23 M16 x 1.5 22 30 16 32 83 39.3 33
80 44.4 40 20 80 112 40 30 M20x 1.5 30 39 20 40 105 53.3 45
100 44.4 40 20 80 112 40 30 M20 x 1.5 30 39 20 40 105 53.3 45




FERE
Standard Cylinder

FO" RAY® ASC &%l ASC Series

MifE Accessories ®32 ~ ®100

PHSA fiR#E5E

PHSA Universal Piston Rod Eye

PK
PA PB
e
o ‘ |
T .
Q
I _1 O _
O1 |
o
b .
o
w
| e
1 y O ]
| o
== :
PG ‘ PI
PJ
9% Symbol
PA PB PC PD PE PF PG PH PI PJ PK
HIE Tube 1.D.
32 11 26 10 20 43 56 M10x1.25 13 19 17 14
40 12 32 12 24 50 66 M12x 1.25 13 22 19 16
50 15 40 16 28 64 84 M16x 1.5 15 27 22 21
63 15 40 16 28 64 84 M16x 1.5 15 27 22 21
80 18 46 20 35 77 100 M20 x 1.5 15 34 30 25
100 18 46 20 35 77 100 M20 x 1.5 15 34 30 25
. -
FDJT iZ&hi%sA
FDJT Piston Floating Jiont
MI MH MJ
= =
| — =
L | w
] - [ — T =
og‘ = — ::ﬁ_é
= /é I
MG MF
MB MC MD
MA
FF9% Symbol
MA MB MC MD ME MF MG MH Mi MJ MK
{IE Tube 1.D.
32 58 22 7 21 26 1.5 7 10 M10x1.25 | M10x1.25 12
40 58 22 8 21 28 115 8 12 M12x1.25 | Mi2x1.25 12
50 90 27 10 41 44.5 20 10 17 M16x1.5 M16x 1.5 7
63 90 27 10 41 445 20 10 17 M16x 1.5 M16x 1.5 7
80 102 29 13 46 53 24 13 22 M20 x 1.5 M20 x 1.5 10
100 102 29 13 46 53 24 13 22 M20 x 1.5 M20x 1.5 10

| 05 Y



FONRAY®

EREFI (54 1S015552 5% )
Standard Cylinder (Conforms to 1ISO15552 Standard)

ASI| &%l ASI Series

##& Specification
AJ4E Tube I.D. (mm) 32 40 | 50 | 63 | 80 | 100 | 125
BIERK ; ) )
Operation #EEhE! Double Acting
TENE - )
Workmg Medium = R Alr
B & HAZR Basic FAZltype FBE/type
Mountings CAZi/type CBZE/type LBE/type YBE/type
EREHEE 2
Operating Pressure Range O B gt
R EE S >
Proof Pressure 13.5 Kgticm
ERREEE
Operating Temperature Range 0-70T
fEREEHE
Operatilnlg Speed Range 50 ~800mm/s
é&uﬁfﬁt A4 Adjustable Cushion
BETE
Adjustable Cushion Stroke 20mm 26mm
EEOK D 0 7 D
Port Size G1/8 G1/4 G3/8 G1/2
REIRTER R Ordering Code
EagEd : @
—‘7 Tube 1.D. kK3 ‘ AR o
=1 &R 3
32 Stroke o
EX LR 40 LB: BIEEER 2
TH: EEEHE 50 RIFATHE FA: ?U*@Ei 3
D. &g EnAl 63 Adjustable Stroke ~ FB: REEER o)
J. EEEETITIEE 80 AR 10:10mm CA: RESHEER <
Series Code 100 M: Mi#EE 20:20mm CB: AEYHEIEL 5
Blank: Standard 125 ZTH: NH#E 30:30mm YB: BEXEEER %
double acting Magnet Code 50:50mm Mountings =
D: Double-shaft M: Magnet 75:75mm Blank: Basic mountings
double acting Blank: Without 100:100mm LB: Front and back mounting “
J: Double-shaft with magnet FA: Front mounting flange
adjustable stroke FB: Back mounting flange
AIGE CA: Back clevis
ASI: 1SO15552 AR AT (Single earring)
Series CB: Back hinge _
ASI: 1SO 15552 (Double earring)
Standard cylinder YB: Back hinge
*ASI R FIHE HESREL 250 5 B mgEY
*All ASI series standard cylinder are with magnet.
=
1712 Stroke
IRk BT BARITEE BT
Tube I.D. Standard Stroke Max. Stroke Allowable Stroke
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1000 2000
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000

| 06 Y



ERRFEL ( F54 1S015552 {4 )
Standard Cylinder (Conforms to 1ISO15552 Standard)

FO"RAY® ASI &5 AS| Series

SRR~ Dimensions 32 ~ ®125

A+{T1Z (Stroke) )
C+{T1E (Stroke) |
E B G 2-2EH20E Buffer Nut) 8-LiR (Depth) M
H FIN_ |a M
J
N,
Gg:}# N4l 2 N A 2_Q_Q
Qg X } S
o
\Y
A1+1T#2 (Stroke) x2
C+{77% (Stroke)
E B..G B_, E+{T%2 (Stroke)
H FI_N Q 2-AR{ETIZ0E (Buffer Nut) H 8-LiR (Depthy M
J F J
2-¢
olZ|o 2 *@
&®@¢¥ Tl T T A T b w b
e[\ @
V
A2+1778 (Stroke)x2+7] i {T#E (Adjustable Stroke) }
C+1T#2 (Stroke) B 172 (Stroke)  Z1+Fi8{712|Adjustable Stroke)
E Bl.G 2-fZEIE1E (Buffer Nuf) 8-LiX (Depth) M
H FILN_,_la F J 4
! |
2.
_ i G
QED#{‘ B 2 B . < I N Vs B =
SIS VALY ] ol
| @ -
fac
\Y < : S
R~t3 Dimension
5% Symbol
A A1 A2 B (o3 D E F G H | J K L
{4 Tube 1.D.
32 142 190 185 16 94 30 33 10 25 22 17 6 M10x1.25 M6
40 159 213 207 20 105 35 34 10 29.5 24 17 7 M12x1.25 M6
50 175 244 233 27 106 40 42.5 10 32 32 23 8 M16x1.5 M8
63 190 258 247 26 122 45 42 10 36 32 23 8 M16x1.5 M8
80 214 301 288 35 127 45 53 10 37 40 26 10 M20x1.5 M10
100 229 321 308 40 137 55 52 10 39 40 26 10 M20x1.5 M10
125 277 394 378 46 160 60 71 10 43.5 54 40 10 M27x2 M12
5% Symbol
- M N (o) P Q R S T U \) w X Y Z Z1
4 Tube 1.D.
32 12 15 G1/8 5 3 6.5 45 325 12 10 28 4 46 58.7 21
40 12 17.5 G1/4 7 3 52 38 16 13 33 4 53.7 68 21
50 12 20 G1/4 7 3 9 65 46.5 20 17 38 4 65.8 84.5 23
63 12 22 G3/8 8 5 76 56.5 20 17 38 4 79.9 99.6 23
80 15 23 G3/8 10 5 12 94 72 25 22 43.5 5 101.8 123.8 29
100 15 26 G1/2 10 5! 14 112 89 25 22 47 6 125.9 148.9 29
125 20 29 G1/2 10 5 14 134 110 32 27 53 7 156.9 179.6 40.5

| 07



EREFIL (54 1S015552 iF# )
Standard Cylinder (Conforms to 1ISO15552 Standard)

FO"RAY® ASI &35l ASI Series
M Accessories ®32 ~ ®125

QV@
—>H<ﬂ £T1Z Tube |.D.
_2-@AK % P —— 32 40 50 63 80 100 125
< i d
- ;@g . AA 32 36 45 50 63 71 90
. i ) AB 30 35 40 45 45 55 60
2-0AL | T | AC AF AC 32 36 45 50 63 75 )
AD AD 325 38 465 | 565 72 89 110
AE AE 465 | 525 65 75 945 | 1145 | 140
AF 24 28 32 32 1 1 45
AG 9 11 11 14 14 16 18
AH 15.8 17 | 218 | 218 27 265 35
e ] || Al 3.2 3.2 32 36 45 45 8
@ AJ 142 | 161 170 | 185 | 210 | 220 | 250
AK 6.5 6.5 85 85 | 105 | 105 | 125
| AJ+1772Stroke | AL 7 10 10 10 12 14.5 16.5
FA /| FB i%f Flange
T BB TEOl s | a0 | 50 | 63 | 80 | 100 | 125 | -
_ i N | BH #4% Symbol §-
> TERET TR
A A -
A%y N BC 45 52 65 76 94 112 | 140 of
BD 32 36 45 50 63 75 90 Sﬁ[
@|&| - — -—-— BE 80 90 110 120 150 175 | 224 5
BF 64 72 ) 100 | 126 | 150 | 180 s
Q\ | () 4-@BP A~ BH 6.5 6.5 8.5 8.5 105 | 105 15 -
S {}/ AJ 105 | 105 | 135 | 135 | 165 | 165 19
L | J X1 AK 6.5 6.5 8.5 85 | 105 | 105 | 125
55 BD BP 7 9 9 9 12 14 16
BC T 325 38 465 | 565 72 89 110
I1E Tube 1.D.
e — 32 40 50 63 80 100 125
S 45 52 65 76 94 112 | 140
T 325 38 465 | 565 72 89 110
RR 6.5 6.5 9 95 11 115 12
DB 34 1 54 65 83 101 123
DC 22 25 27 32 36 4 50
. DD 10 11 13 16 16 20 25
@DE(H9) DE 10 12 12 16 16 20 25
DQ 26 28 32 40 50 60 70
D 65 65 85 85 | 105 | 105 | 125
E 14 17 17 22 24 25 30




EREREL (54 1S015552 £ 4 )
Standard Cylinder (Conforms to 1ISO15552 Standard)

FO"RAY® ASI| &3l ASI Series

MifF Accessories ®32 ~ 125
CB # HiIR Hinge

{I4% Tube I.D.

ey 32 40 50 63 80 100 125

S 45 52 65 76 94 112 140

T 325 38 465 | 565 72 89 110

D 6.5 6.5 85 8.5 105 | 105 | 125

E 14 17 17 22 24 25 30

. RR 6.5 6.5 9 95 11 115 12

BCE(H9) CB 34 41 54 65 83 101 123

cc 22 25 27 32 36 41 50

cD 10 11 13 16 46 20 25

CE 10 12 12 16 16 20 25

cP 26 28 32 40 50 60 70

cT 45 52 60 70 ) 110 120

______ PA1 53 60 68 78 100 120 130
PB1 465 | 535 | 615 | 715 | 915 | 1115 | 1215

YB 3 Hinge
#I1Z Tube I.D.

e 32 40 50 63 80 100 125

AH 32 36 45 50 63 71 )

G3 04 H 8 10 12 12 14 15 20

s LR cB-08 cD 10 12 12 16 16 20 25
G1 31 35 45 50 60 70 )

W ‘ G2 18 22 30 35 40 50 60
G3 21 24 33 37 47 55 70

- B cB 26 | 28 | 32 | 40 | 50 | e | 70
< St K1 38 41 50 52 66 76 94
II TW r 7_; :’r“v':‘ ‘-r--1-i = K2 51 54 65 67 86 96 124
: P S1 1 11 14 14 17 17 20

G2 | .52 K1 S2 6.6 6.6 9 9 11 11 14

= K2 T 16 16 16 1.6 25 25 32

R 10 11 13 15 15 19 225




FONRAY®

SR A S M AREL

Aluminum alloy Mini Cylinder

AMC &%l AMC Series

sTEERTE Ordering Code

AMC

CA

w3
AMC: #EBIE
AMCA: EzHs

AMCD: ##higghi
AMCJ: EEimTEEE
Type

AMC:Double Action
AMCA:Single Action
AMCD:Double-shaft
Double Actiion
AMCJ:Double—
shaft and adjustable
stroke type

#H& Specification
M1E Tube I.D. (mm) 20 25 32 40
ﬁéﬁfﬁamm 1EENRIS B BB Double Action or Single Action
IENE = .
Working Medium =R Air
)fdg! -|:=Lytpe EZ# /Basic type FA E /ftype LBE! /type SDB Z /type
EREAEE
Operating Voltage Range 1.0 ~ 9.0 Kgffom®
{REETE S
Ensured Pressure Resistance 13.5 Kgffem
ERAEHE
Operating Temperature Range 0 -~ 70T
EREEEE
Operating Speed Range 50 ~ 800 mm/s
?J?f]egf :_-:-type Bk F Buffer Spacer
BEEOE .
Port Size G1/8
- 20 M 50 - 25 - LB =
b — E. AL (4
(o)
< iR
1718 g_ &L
Stroke o
& E 25X =
AL =H: EA3
Tube 1.D. LB: RIEEER
FA: BIZEEEE
‘ SDB: #&E#&EX
AR Fixed Type
M: Fi#EER Blank: Basic type
Z=H: MHER . )
Magnet Code AMCJ ATEH1732 LB: tl;r;:t and back fixed
M: Magnet AMCJ adjustable ] )
pEmst Blank: 3Vithout stroke type FA: Front cover flxeq type
*é}: f ’ SDB: Back cover swinging
CA: #EZ magnet type
CM: BEE®
u:. FE&
Back CoverType

CA: Fishtail type
CM: Rounded type
U: Horizontal type



A& & & (R

Aluminum alloy Mini Cylinder

FO"RAY® AMC % 3% AMC Series

SpEH R~ Dimensions ®20 ~ ®40

AX

A+{T18(Stroke)
B C+{T#2(Stroke) D
E F G G S
+0 2-X
Q% H ARGIZ Fg R ®P(H8)
J /|
\W | | ‘
el e

(TN
&
-
=
HE

M
_AMC-CM N
B C+{7#2(Stroke)
E F.l. G G D
H 2-X
QB G/2 4 G/2| R
! 1/ [
— xI 93 ﬂ; _Ir (Y ; % o E::
W
AMC'U A2+{TF2(Stroke)
B C+17#2(Stroke)
E F G G
H 2-X
aploz o2
NI
 —
O xI ZT 52 %
W
]
% 5% Symbol
- A A1 A2 B (o3 D D1 E F G H | J K
M4E Tube 1.D.
20 131 122 110 40 70 21 12 28 12 16 20 12 6 M8 x 1.25
25 135 128 114 44 70 21 14 30 14 16 22 17 6 M10x 1.25
32 141 128 114 44 70 27 14 30 14 16 22 17 6 M10x 1.25
40 165 152 138 46 92 27 14 32 14 22 24 17 7 M12x 1.25
# 3% Symbol
L M P Q R R1 S U \") w X AR AX AY
1S Tube I.D.
20 M22 x 1.5 10 8 16 19 10 12 29 8 6 G1/8 7 33 29
25 M22 x 1.5 12 8 16 19 12 12 34 10 8 G1/8 7 33 29
32 M24 x 2.0 12 10 16 25 12 15 39.5 12 10 G1/8 8 37 32
40 M30 x 2.0 12 12 20 25 12 15 49.5 16 14 G1/4 9 47 41

KR



FONRAY®

SR SR IREL

Aluminum alloy Mini Cylinder

AMC &3l AMC Series

5N R~ Dimensions ©20 ~ ®40

A+1T2(Stroke)

B C+{T#2(Stroke) D
E Fl o s
+0
Qo1 H AR (G/2 X\ G2l R $P(H8)
/) ! (T P
- N i
T =)
=+ 1hi- —'¥I%¢ = el % ********* — "’{é"—'g
‘v ~ L I
W/
M
A1+17#2(Stroke)
B C+4T#2(Stroke)
E FlL G G D
H
AR [G/2 X G/2| R
= K
L = ~
Smie 7
— =
"!Ie“: EEE 42
At it
w
M
A2+{T72(Stroke)
B C+4T #2(Stroke)
E F G
. ¢ X AY
AR (G/2 TN @ |
[et—
) Vo NS =5
| L] N
L
“<zr e - %
W |
M
o o3 Symbol A A1 A2 c
1T Stroke B D/ DI|E|F|G|H]| I |J
1912 Tube 1. 0~50 | 51~100 | 0~50 | 51~100 | 0~50 | 51~100 0~50 | 51~100
20 131 156 122 | 147 | 110 135 40 | 70 95 21 | 12 | 28 | 12 | 16 | 20 | 12 | &
25 135 160 128 | 153 | 114 139 44 | 70 95 21 | 14 | 30 | 14 | 16 | 22 | 17 | &
32 141 166 128 | 153 | 114 139 44 | 70 95 27 | 14 | 30 | 14 | 16 | 22 | 17 | &
40 165 190 152 | 177 | 138 163 46 | 92 117 27 | 14 | 32 | 14 | 22 | 24 | 17 | 7
£ 5% Symbol
K L M P Q R R1 S U \" w X AR | AX | AY
AE Tube I.D.
20 M8 x 1.25 M22x 1.5 10 8 16 | 19 10 12 | 29 | 8 6 |Gi1/8| 7 | 33 | 29
25 M10 x1.25 M22x 1.5 12 8 16 | 19 12 12 | 384 | 10 | 8 |G1/8| 7 | 33 | 29
32 M10 x 1.25 M24 x 2.0 12 10 16 | 25 12 15 | 395| 12 | 10 |G1/8| 8 | 37 | 32
40 M12x1.25 M30 x2.0 12 12 20 | 25 12 15 (495 | 16 | 14 |G1/a| 9 | 47 | 41

=
=
(2)
=
=
o
@
=

-
s
I~

2




$8 S &R IRE

FONRAY® AMC F 31 AMC Series

5pEH R~ Dimensions ©20 ~ ®40

A+{TF2(Stroke) X2
B C+1T#2(Stroke) B+1T #2(Stroke)

G
H 2-X
AR[G/2 ¥

o |@

1

*:_
|1
.
|

| 114 O
W
M
A+1TF2(Stroke)x 2
B C+1T#2(Stroke) B+1T #2(Stroke)
E F G G F . {T#2(Stroke)
H 2-X
AR |G/2 4 G/2
J

| TTH
_|:<I T e > L — H_i = —

v T+ AR
(Adjust Stroke]
#F 3% Symbol
A A1 B (o E F G H I | K
M4E Tube 1.D.
20 150 147 40 70 28 12 16 20 12 6 M8 x 1.25
25 158 155 44 70 30 14 16 22 17 6 M10 x 1.25
32 158 155 44 70 30 14 16 22 17 6 M10x 1.25
40 184 180 46 92 32 14 22 24 17 7 M12 x 1.25
% 5% Symbol
. L M U v w X AR AX AY T
M7 Tube 1.D.
20 M22 x 1.5 10 29 8 6 G1/8 7 33 29 19
25 M22 x 1.5 12 34 10 8 G1/8 7 33 29 21
32 M24 x 2.0 12 39.5 12 10 G1/8 8 37 32 21
40 M30 x2.0 12 495 16 14 G1/4 9 47 41 21




FONRAY®

*TEEREE Ordering

SMC
|
RISk

SMC: )3
SMCA: E#3
SMCD: ##iggha
SMCJ: EE#hmTEEE!
Type

SMC: Double Action
SMCA: Single Action
SMCD: Double-shaft
Double Actiion
SMCJ: Double-shaft
and adjustable

stroke type

7 85 6K {R EL
Stainless Steel Mini Cylinder

SMC %351 SMC Series

Code

L

#1& Specification

M1E Tube I.D. (mm)

16 20 25 32 40

BER K

Motion Pattern

1EE) U= BEEHE! Double Action or Single Action

TIENE
Working Medium

5 Air

EE RN
Mountings

EAKEA /Basictype FA# type LBZE! /type SDB #! /type

fERENEE

Operating Pressure Range

1.0 ~ 9.0 Kgf/cm®

REBTE S

Ensured Pressure Resistance

13.5 Kgf/cm®

fERREEE

Operating Temperature Range

0 ~ 70C

1 i L E
Operating Speed Range

50 ~ 800 mm/s

mmEX
Buffer Type

#& h#h | Buffer Spacer

BEOR
Port Size

M5x0.8 G1/8"

50

-
s
I~

50

=
=)
Q&
5 &I
Qo
(")
=

ALY
Tube I.D.

BARR
M: Bi#Ea
=H: FH#EA
Magnet Code

p 8 M: Magnet

]

TcéA% E;ﬁi}t%ﬂ Blank: Without

CM: ERE magnet

U: FE&

Back Cover Type
CA: Fishtail type
CM: Rounded type
U: Horizontal type

1712
Stroke EEEK
=H: ERE
LB: RIEEER
FA: BIZEEER
SDB: #ZE#EEX
Fixed Type
Blank: Basic type
LB: Front and back fixed
S type
SMCJ AT 1712 FA: Front cover fixed type
SMCJ adjustable SDB: Back cover swinging
stroke type

type



7 335 £ 3 4R 1
Stainless Steel Mini Cylinder

AY® SMC %35l SMC Series

SR~ Dimensions ®16 ~ ®40

FON

SMC-CA A+{712(Stroke)

B C+1T#2(Stroke) D

0 2-X
Q% H ARIGI2 [ o2l R b P(H8)

~ g
=l 1.

—

N

dU

(T
\

=
e

SMC-CM A1+{T52(Stroke)

B C+{T#E(Stroke)

G
H 2-X
ARGI2 V G2 R

J /]
L]

~
i 1] o SUN

5

A2+{T7E(Stroke)
B C+{T#2(Stroke)

G/2 e G/2

1%

i
ﬁ'r X
=R
LS

W
M|
% %% Symbol
A A1 A2 B (o D D1 E F G H I J K
A7 Tube 1.D.
16 114 114 98 38 60 16 15 22 16 10 16 10 5 M6 x 1
20 137 128 116 40 76 21 12 28 12 16 20 12 6 M8 x 1.25
25 141 134 120 44 76 21 14 30 14 16 22 17 6 M10x 1.25
32 147 134 120 44 76 27 14 30 14 16 22 17 6 M10 x 1.25
40 149 136 122 46 76 27 14 32 14 16 24 17 7 M12x 1.25
# 8% Symbol
L M P Q R R1 S U Vv w X AR AX AY
M7 Tube |.D.
16 M16 x1.5 14 6 12 14 14 9 21 6 5 M5 6 24 27.5
20 M22 x1.5 10 8 16 19 12 12 27 8 6 G1/8 7 33 29
25 M22 x1.5 12 8 16 19 14 12 30 10 8 G1/8 7 33 29
32 M24 x 2.0 12 10 16 25 14 15 35 12 10 G1/8 8 37 32
40 M30 x 2.0 12 12 20 25 14 15 41.6 16 14 G1/8 9 47 41

WEA



7 5 8] 32 4R £1
Stainless Steel Mini Cylinder

SMC &5l SMC Series
MR~ Dimensions ®20 ~ ®40

FONRAY®

A+{TF2(Stroke)
B C+{T72(Stroke) D
E FL G G S
a H AY
-0.1
DEE— AR |G/2 X G2l R o P(H8) |
[S R ﬁ\ —
e e N ==
! =
i [l ; \
L 5
L 11N A - —77{3/——49 - %
- [
W B |
BN
A1+{TE(Stroke)
B C+1T#2(Stroke)
E F G G D
H
E— AR |G/2 X G/2| R
e x —-
DI Jl‘?ﬁ \r_'
in % i
— 5
i J;xl) - =
. |
I
w [ '
M|
=
E_n'
O 1=
< IR
SMCA-U A2+{772(Stroke) g_ﬁI
B C+1T18(Stroke) 2
E F G
- © X AY
E— AR |(G/2 TN 82 I
[ -
f_._\
e (T N[ =S T
—t o
o L N
— v—1| >
1l N -
1l 17AV] <
— 77—
_&_ E
- il | |
M|
#%% Symbol
i A A1 A2 C
1T Stroke B D/ DI|E|F|G|H]| I |J
A Tube 1D, 0~50 | 51~100 | 0~50 | 51~100 | 0~50 | 51~100 0~50 | 51~100
20 137 162 128 153 116 141 40 | 745 101 21 | 12 | 28 [ 12 | 16 | 20 | 12 | 6
25 141 166 134 159 120 145 44 | 76 101 21 | 14 | 30 | 14 | 16 | 22 | 17 | 6
32 147 172 134 159 120 145 44 | 76 101 27 | 14 | 30 | 14| 16 | 22 | 17 | 6
40 149 174 136 161 122 147 46 | 76 101 27 | 14 | 32 | 14 | 16 | 24 | 17 | 7
F43% Symbol
K L M P Q R R1 S U \" w X AR | AX | AY
AE Tube I.D.
20 M8 x1.25 M22x 1.5 10 8 16 | 19 12 12 | 27| 8 6 |Gi/s| 7 | 33 | 29
25 M10 x1.25 M22 x 1.5 12 8 16 | 19 14 12 | 30 [ 10 | 8 [G1/8| 7 | 33 | 29
32 M10x 1.25 M24 x2.0 12 10 16 | 25 14 15 | 35 [ 12 | 10 |G1/8| 8 | 37 | 32
40 M12 x 1.25 M30 x2.0 12 12 20 | 25 14 15 416 | 16 | 14 [G1/8| 9 | 47 | 41




7 8% 8] 32 4R £1
Stainless Steel Mini Cylinder

SMC &%l SMC Series
SN R~ Dimensions ®20 ~ ®40

FONRAY”

A+{T2(Stroke)x2
B C+1T#2(Stroke) B+1T#2(Stroke)
E G F
H G/2
J [‘_’
m m N
—
 NE: (Ea= A — - —— 2 E
4
W
M
A+1T#E(Stroke)Xx 2
B C+{T#2(Stroke) B+{T#2(Stroke)
E F G G F . 17#2(Stroke)
H 2-X
AR |G/2 V G/2
= —
L L 1

_, xIe: = A — IRV .__._.% ...... ___@

|
B 2
W v T+ A3 THE
- (Adjust Stroke)
#F %% Symbol
A A1 B (o3 E F G H | | K
M4E Tube 1.D.
20 156 153 40 70 28 12 16 20 12 6 M8 x 1.25
25 164 161 44 70 30 14 16 22 17 6 M10x 1.25
32 164 161 44 70 30 14 16 22 17 6 M10x 1.25
40 168 164 46 92 32 14 22 24 17 7 M12x 1.25
£ 5% Symbol
. L M U \") w X AR AX AY T
A4 Tube 1.D.
20 M22 x 1.5 10 29 8 6 G1/8 7 33 29 19
25 M22 x1.5 12 34 10 8 G1/8 7 33 29 21
32 M24 x 1.5 12 39.5 12 10 G1/8 8 37 32 21
40 M30 x2.0 12 49.5 16 14 G1/4 9 47 41 21




AR R ET
Miniature Cylinders

FA Z& 3%l FA Series

FONRAY®

442k Features

® flaid :

FRASHAS, FRERGRE, EEERETRE,
O mHE; MAlE:

FEBIRABRAFEME, EEAME. Eakit,

Non lubrication
@ Special housing and bushing
enables self lubrication of piston rod.
High quality long service life

s 2 @ Hard anodised stainless steel
O HE AR : ) ; 8
= N cylinder tubes offer a high resistance
kgizu;#if]ﬁmilg%%z% ISO # it HARE %, to corrosion and low internal friction.
O AR RIFR R @ Cylinder mountings, available
HEBERBR T REGREUIIZ1TIE, FHE with a comprehensive range of
AN REL accessories for rigid or flexible
[ E2:3i42: 8 mounting.
sBEEARIERER T2, fEmeE, @ Operation,with the exception of
5 FA-11,single and doubling
Z 5B
O S RIUHN type available-FA-13/15.
e ' Magnetic as standard.
##& Specification o
#U5E Model FA
FEIPE 16 20 25 32 40
s 4= 100 Tube I.D. ( mm)
1E#4TIER Table for standard stroke  —===sy
Sl M5 x 0.8 PT 1/8
1 =rT] ort Size
RUELHIE 712 prayp
Tube 1.D. Stroke (mm ) Mo di'len = =& Air
16 15, 25, 50, 75, 100 mAERR AN >
BEyn Max. Operating Pressure 7 kgffem
Single -
Acting ®20, 25, 32 15, 25, 50, 75, 100, 125, BINERAEAH 18£8 Double 0.6 kgf/cm®
150 Min. Operating
Pressure EE &) Single 1.5 kgf/cm®
15, 25, 50, 75, 100, 125, '
16 150, 200, 250, 300, 350, ﬁgjrog;fj]pressure 10 kgf/cm®
BEE 400, 450, 500 SEAE :
Double En!)ien?Temperature -5C ~+60C ( &% No freezing )
Acting 15, 25, 50, 75, 100, 125, e N i
20, 25,32, 40 | 150, 200, 250, 300, 350, Lubricator T4 Not required =
400, 450, 500 EREEGE =
Available Speed Range 50~500mm/sec o ﬂ
s dEfE =S TN =
o ARRAATIRINATRR, WRRBAR. {£8 Matching the BA20~BA40 3&% band c &R
3% Stroke out of specification is also available. RD-201 : =
% Please consult us if stroke out of specification. RERERAR (R ) #&7 Matching the BGS20~BGS40 54 band o ﬁ
Sensor Switch (band) RCM &t Matching the BM16~BM40 5#5 band Q E
RCS 8 Matching the BJ16 3k#% band 5 ﬁI
Y . Qo
= : ¥ FFERARARA S BM16, 16 BRANE, )
ﬁﬁlmﬁ%&ﬁ% Orderlng COde % The code of sensor switch band is BM16. "16"represents the tube I.D. a

FA-11-32 M 100-A-N-BSP 2 #E g 44F Mounting accessories “

18 | 2T /—| =1
2 TPV 712 ‘ FA - FA -32
S Tube I.D. Stroke . L
N: SR (RHET ) ‘
5 Blank: with pivot type
ag R N: non-pivot type
1. B M: Ki#EH - q i
2. SH: FWEE . mEms Al SRELAIE
1: Single Rod Magnet Code A: FEREER Model Tube |.D.
2: Double Rod M: Magnet (220 SRELMEREA )
Blank: Without Blank: with cushion pad Al 8 o - R )
EB AR /1285 5F B :Style magnet A: with adjustable cushion mE PT &F Z%A50: Mounting type
o ey = BSP:BSP ZF
oo T B ofl —Tfp LB
Code Symbol Description NPT:NPT F
; N Port thread
111 ‘EIN T . Blank: Rc thread FA
Double acting/Male thread G:G thread
113 SINEEINF NPT: NPT m FB
Single acting/ Normally extended male thread thread
115 R RBIN T a8 | sos
Single acting/ Normally returned male thread - —
SaiiEE N T i e Y
21 :%E: Double rod/Male thread i i| — 5 |
!I
EERIAITIZINT 'l o
2(7 gz%E:' Double rod/Adjustable male thread
please make"adjustable distance(mm)"at order list




Miniature Cylinders

FO"RAY® FA %35l FA Series

% &R / SME R ~F Dimensions / Double acting ®16 ~ ®40

GA
GB
RH
B2 7T 2-P Mg ¢cD®
B1 AH MB y ‘
w« N o i i
° Bl R ‘
o — =T l'::r'::f’
w
[ 10 N S | | LN e +u
- :
A ] ]
VF K1 H+{T#2 stroke K2 XF
T T
WF LL+47%2 stroke L
XC+{T4& stroke
A ZC+{T#8 stroke
K i K
x Y ) gl Gl Y )
= — | F= — =5
VF K1 | H+1T#2 stroke | K1 VF
T i
WF LA+{T#2 stroke WF+
A ZM+2 X 1772 stroke A
ZN+2 X 17#2 stroke

w adjust stroke
<
KK {T* = [Ir* T © AD / AK
| i | i
Yy ol W H
E \l/
A/
WF LA+173Z stroke | WH-+T72 stroke
T T
A ZP+2 X 4718 stroke AA+ 1712 adjust stroke
ZQ+2 X 17#8 stroke + AIFATHE adjust stroke
8% Code

D A |AA|AC |AD | AF [AH [ AR | AS AK B1|B2|CD| D E EW GA | GB H KK
16 16 16 13 | 75| 12 5 4 8 M5 x 0.8 10 | 22 6 6 |19.7| 12 5% 5 5 34 M6 x 1.0
20 20 19 15 | 95 | 16 5 5! 13 M8 x 1.25 13 | 30 8 8 [267| 1632 | 7.5 7.5 40 M8 x 1.25
25 22 19 15 | 95 | 16 5 5 13 M8 x 1.25 17 | 30 8 10 [29.7| 16 39 7.5 7.5 40 M10x 1.25
32 22 18 12 7 20 5 6 17 | M10x1.25 | 17 | 382 | 10 | 12 | 86 [ 16 3% | 7.5 | 10.5 | 37 M10 x 1.25
40 30 18 12 7 30 7 7 19 | M12x1.25 | 19 | 41 12 | 14 | 45 | 2039 | 75 | 105 | 42 M12x1.25

8% Code

T D K1 |K2| L |LA|LL MB P RH| VF [ WF |WH | XC | XF | ZC | ZM | ZN | ZP | ZQ
16 10 10 9 54 | 54 M16x 1.5 M5 x 0.8 6 12 22 195 | 85 16 92 98 130 | 95.5 [127.5
20 15 15 12 | 70 | 70 M22 x 1.5 PT 1/8 6 12 18 19.5 | 100 21 109 | 106 | 146 |107.5(146.5
25 15 15 12 70 70 M22 x 1.5 PT 1/8 6 15 27 225 | 109 21 118 | 124 | 168 [119.5|160.5
32 15 18 14 | 67 | 70 M24 x 2.0 PT 1/8 8 18 30 24 114 24 124 | 127 | 171 121 161
40 15 18 16 | 72 | 75 M30 x 2.0 PT 1/8 8 17 27 24 118 28 130 | 126 | 186 | 123 | 171

WEA



FONRAY®

Miniature Cylinders

FA Z& 3%l FA Series

B FEBHRA Sensor switch: RD-201
Bt FEBARA 5k & Sensor switch band: PN**

L FERARAZEE Installation of sensor switch ®20 ~ ®40

fan)
\\)

m|_
\J

{E==2

fX5% Code
7Z Tube I.D. A c
20 33 46.5 9 18 26
25 H515! 50.5 9 18 26
32 39 57 9 18 26
40 43 65.5 9 18 26
REFEBARA Sensor switch: RD-201
B FEBABA SR &= Sensor switch band : BGS**
—
] AN —
u_ T
D
| [
s :
9% Code
7Z Tube I.D. A B Cc D E

20 25 38.5 18 30.5 26
25 25.5 40.5 18.5 31.5 26
32 29 47 22 39 26
40 33 5585] 26 47 26

=
5.
a
g€
(]
(9]
<
=
[}
®
(7]




Miniature Cylinders

FO" RAY® FA %35l FA Series

BERRIZEE Installation of sensor switch ®16 ~ ©40

B FEBARA: RCM Sensor switch: RCM
B HERARAsk&%. BM** Sensor switch band : BM**

| [l |
el ) — ——— == —
U [
—— | G
D
G| E
<
Y
[a] ~H7
A
5% Code
F4E Tube 1.D. A B c D E
16 20 30 10 16 28
20 22 36 10 16 28
25 25 40 10 16 28
32 28 46 10 16 28
40 32 55 10 16 28

EifEBARA : RCS Sensor switch: RCS
B RERARAAY. BJ 16 Sensor switch band : BJ 16

D
i C
<
@ i |
4
5% Code
M1E Tube 1.D. A B c D E
16 23.4 33.3 6 12 22

| 21



Miniature Cylinders

FO"RAY® FA %35l FA Series

#HR / EERSMERT Dimensions / Double acting @16 ~ ®40

RH
B2 | 2-P
B1 A MB / |

Tt T

KN o il T

( © R no|

s e Sezzpzy

w
] -
11— ____Eg__ N e
A/
VF K1 H+4T%2 stroke K2
I I
A WF LL+1T#2 stroke
ZD+17%8 stroke
3% Code

oI A |AH|B1|B2| D | E |GA|GB| H KK K1 | K2 | LL MB P RH | VF | WF | ZD
16 16 5 10 22 6 [19.7]| 5 5 34 M6 x 1.0 10 10 | 54 M16x 1.5 M5 x 0.8 6 12 22 92
20 20 5 13 30 8 |26.7| 75| 75 | 40 M8 x 1.25 15 15 70 M22 x 1.5 PT 1/8 6 12 18 | 108
25 22 6 17 30 10 |29.7| 75 | 75 | 40 M10x 1.25 15 15 | 70 M22 x 1.5 PT 1/8 6 15 27 | 119
32 22 6 17 32 12 36 | 7.5 |10.5| 37 M10x 1.25 15 18 | 70 M24 x 2.0 PT 1/8 8 18 30 | 122
40 30 7 19 41 14 45 | 7.5 |10.5| 42 M12x 1.25 15 18 | 75 M30 x 2.0 PT 1/8 8 17 27 | 132

228577 4 Mounting accessories

1]
LB

LB N =
— 7 EI“'

2
FA-®16 S| T 1 @ e £ &%

a — o
A =B
=l 2 &l

| | c @ wise 2

A ZC+1T7#2 stroke

FA-®20 ~d40

Sane

SC+1T#2 stroke ‘
SA+{T#2 stroke

SB+1T#2 stroke

8 Code

o A | CB|CH|cCL|cCa]|cCT|cw]|cx KK SA | SB | sC | sw | sx | zC
16 16 55 20 13 6 3.2 44 32 M6 x 1.0 80 95 34.4 9 31.8 92
20 20 6.6 25 15 8 3.2 54 40 M8 x 1.25 100 111 46.4 3 29.8 109
25 22 6.6 25 15 8 3.2 54 40 M10x 1.25 100 120 46.4 12 38.8 118
32 22 6.6 32 25 8 4 59 45 M10x 1.25 120 133 28 5 51 124
40 30 6.6 36 25 8 4 64 50 M12 x 1.25 125 135 33 2 48 130




FONRAY”

Miniature Cylinders

FA %%l FA Series

EENR | REER4 Mounting accessories / Double acting ®16 ~ ®40

FA-D16

<K
—\ Y
A/
W FT
H- ZF+§7#E stroke
A ZC+{T7E stroke
3% Code
T A |[FB|FE | FF | FP | FR | FT KK W [ ZC | ZF
16 16 | 55 | 26 52 40 3.2 M6 x 1.0 18.8 | 92 79.2
20 20 | 6.6 | 38 64 50 4.5 M8 x 1.25 135 | 109 | 92.5
25 22 | 6.6 | 38 64 50 45| M10x1.25 | 225 | 118 | 101.5
32 22 | 6.6 | 47 | 72 58 | 33 [ 45| M10x1.25 | 25.5 | 124 | 104.5
40 30 | 6.6 [ 50 84 70 36 | 45| M12x1.25 | 225 | 130 | 105.5

2-¢FB,

4-6FB

A XC+17#2 stroke
— Y
S S % _
KK A/
8% Code

P A|cAalcB|cc|cD|CE|CH|CT|cw|cCx| KK |[xc
16 16 15 5.5 12 6 23 20 2.3 M6x 1.0 85
20 20 16 6.6 32 8 48 32 3.2 67 51 M8 x 1.25 100
25 22 16 6.6 32 8 48 32 3.2 67 51 M10x1.25 | 109
32 22 18 6.6 36 10 52 36 4 67 51 M10x1.25 | 114
40 30 20 6.6 40 12 56 40 4 69 53 M12x1.25 | 121

| 23




Miniature Cylinders

FO"RAV® FA %35l FA Series

B BRI / SpBIR~F Dimensions / Single acting ®16 ~ ®32

GA GB
RH [ 7 ™ .
B2 [ | 2P ug 6CD
B1 ~1AH MB
KK o 7 A
© Ll | |
e R 11— ——————{—?——m
S
\__/ ? ] ]
VF K1 H K2
WE ‘ LL ' L
A XC z
% Code
e A |AH{B1|B2|(CD| D E EW |GA|GB KK K1[{K2| L MB P RH|VF |WF|YP| Z
16 16| 5 |10 (22| 6 | 6 [19.7 123 | 5 | 5 M6x1.0 | 10| 10| 9 | Mi6x1.5 |M5%x08| 6 |12 |22 | 5 | 7
20 20| 5 | 13|30 | 8 | 8 | 267|165 |75|75| M8x1.25 |15 |15 | 12 | M22x1.5 | PT1/8 | 6 |12 |18 |75 9
25 22| 6 | 17|30 | 8 |10 |29.7 [ 1659 | 75|75 | M10x1.25 [ 15 | 15| 12 | M22x15 | PT1/8 | 6 |15 |27 |75 9
32 22| 6 |17 32|10 |12 | 36 | 16359 | 7.5 |10.5| M10x1.25 | 15 | 18 | 14 | M24x2.0 | PT1/8 | 8 | 18 | 30 | 7.5 | 10
3% Code
17#2 Stroke H LL XC
15 | 25 | 50 | 75 | 100 | 125 | 150 | 15 | 25 | 50 | 75 | 100 | 125 | 150 | 15 | 25 [ 50 | 75 | 100 | 125 | 150
M1E Tube 1.D.
16 64 | 74 | 114 | 154 | 194 84 | 94 | 134 | 174 | 214 115 | 125 | 165 | 205 | 245
20 80 | 90 | 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 140 | 150 | 200 | 250 | 300 | 350 | 400
25 80 | 90 | 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 149 | 159 | 209 | 259 | 309 | 359 | 409
32 77 | 87 | 137 | 187 | 237 | 287 | 337 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 154 | 164 | 214 | 264 | 314 | 364 | 414

=
3,
=
£
o
(2]
<
=
[=X
(]
@

& 8h Double Rod

KK T T KK
A/
VF K1 H K1 VF
I I
WF LL WF+{T#2 stroke
A ZZ+1T7#2 stroke A
3% Code
17#2 Stroke H LL 74
15 | 25 | 50 | 75 | 100 | 125 | 150 | 15 | 25 | 50 | 75 [ 100 | 125 [ 150 [ 15 | 25 | 50 | 75 | 100 | 125 | 150
M1E Tube 1.D.
16 64 | 74 | 114 | 154 | 194 84 | 94 | 134 | 174 | 214 125 | 135 | 175 | 215 | 255
20 80 | 90 | 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 146 | 156 | 206 | 256 | 306 | 356 | 406
25 80 90 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 164 | 174 | 224 | 274 | 324 | 374 | 424
32 77 | 87 | 137 | 187 | 237 | 287 | 337 | 107 | 117 | 167 | 217 | 267 | 317 | 367 | 167 | 177 | 227 | 277 | 327 | 377 | 427




R R o0 R T
Miniature Cylinders

FA &%l FA Series

FONRAY”

BB R / LR/ Mounting accessories / Single acting ®16 ~ ®32

FA-®16

KK I
_\/—v—\
B | I
i X - ?
A/
w FT T
ZF+17%2 stroke Al—%
A ZC+1T7%% stroke
5% Code
e A | FB|FE | FF | FP | FR | FT KK w
16 16 | 55 | 26 | 52 | 40 32 M6 x 1.0 18.8
20 20 | 66 | 38 | 64 | 50 45 M8 x 1.25 13.5
25 22 | 66 | 38 | 64 | 50 45 M10x1.25 225
32 22 | 66 | 47 | 72 | 58 | 33 | 45 M10x1.25 255
3% Code
. zc zZF o
e
E e, 15| 25 | 50 | 75 [100[125(150| 15 | 25 | 50 | 75 | 100 | 125 | 150
16 121]131[171]211] 251 100.2[119.2[159.2]199.2|239.2
20 146 | 156 | 206 | 256 | 306 | 356 | 406 [132.5[142.5[192.5|242.5[292.5|342.5| 3925
25 155|165 | 215 | 265 | 315 | 365 | 415 [141.5]151.5|201.5|251.5|301.5|351.5|401.5
32 162|172 | 222|272 | 322 [ 372 | 422 [144.5|154.5]204.5| 254.5|304.5|354.5 | 404.5
| A XC+{T72 stroke
Y
ﬁ/\_/\_/
3% Code 3% Code XC
A |[CA|CB|[CC|CD|CE|[CH|CT|CX|CW KK g
PI1E Tube 1.D. lroke
16 16|15 |55| 12| 6 | 23 | 20 |23 M6x10  BETubeiD: 15 | 2 | 50 | 75 | 100 | 125 | 150
20 20 [ 16 |66 32| 8 [ 48|32 (32|51 |67 | Mex1.25 16 107 | 117 | 157 | 197 | 257
25 22 (16 |66 32| 8 |48 |32 (3251 |67 |Miox1.25 20 139 | 149 | 199 | 249 | 299 | 349 | 399
32 2218|6636 1052 36| 4 [ 5167 |[Miox1.25 25 141 | 151 | 172 | 222 | 272 | 322 | 372
32 142 | 152 | 173 | 223 | 273 | 323 | 373

| 25




Miniature Cylinders

FO"RAY® FA %35l FA Series

BEB)R / ZEBH Mounting accessories / Single acting ®16 ~ ®32

1]
FA-®16 b d
Y 1\
® #;'_'":%_ @ S
AN/
j\
|| cB @ wide)
| A ZC
FA-®20 ~®40
|
el h I\
M " N =
) o 4157
T W/ A M:L
O H U h_/
lcQ, cL | | S
I
# CB (FLHole) SX ! =
SW SA =
1 =T\ [
o
SR
c
ofF
5 Goce c c c c c c c s s %
o A B H L Q T w X KK W X < B
16 16 55 20 13 6 3.2 44 32 M6 x 1.0 9 318 3 &
20 20 6.6 25 15 8 3.2 54 40 M8 x 1.25 3 29.8 2
25 22 6.6 25 15 8 3.2 54 40 M10x 1.25 12 38.8 i
32 22 6.6 32 25 8 4 59 45 M10x 1.25 5 51
5% Code
1742 Stroke SA zC
i 15 25 50 75 100 | 125 | 150 15 25 50 75 100 | 125 | 150
16 110 120 160 200 240 121 131 171 211 251
20 140 150 200 250 300 350 400 146 156 206 256 306 356 406
25 140 150 200 250 300 350 400 155 165 215 265 315 365 415
32 160 170 220 270 320 370 420 162 172 222 272 322 372 422




FONRAY”

Miniature Cylinders

FA &%l FA Series

Y $%#88 Connnector

D8~P16

D20~D40

EFERL{E Accessories ©8 ~ 940

| #358 Connnector

M M | M
L L | , L
] | | |
9 o A O
al - f} — 1 = a I © '_"d)“'_'_ ST
\—
- |
H C x| H © "—‘H KK
— KK C
. ﬂd’ ] ann X, ‘ ——
YT [T N T [
e T L T CET—d—]
1 T 1
; ~ | / ! |
‘ o X KK |
Y&, | & EBER~TEForY. |connector
3 Code B C CH D G H KK L M X
14 Tube 1. Y | | Y | Y I Y [ | Y | Y |1 Yy | i
8,10 4 8 8 8 8 M4 x 0.7 16 20.75 4 oo
12, 16 6 6 | 12| 8 [ 12 12 [ 12 [ 12 | 10 M6 x 1 24 |21 | 31 [28]6 2%
20 8 8 16 | 14 | 16 16 14 | 16 | 16 | 12 M8 x 1.25 32 | 32 | 42 | 42 |8 5
25, 32 10 | 10 | 20 | 17 | 19 19 18 | 20 | 20 | 15 M10x 1.25 40 | 40 | 52 | 52 [1050°®
40 12 | 12 | 24 | 21 | 22 22 20 | 24 | 24 | 18 M12x1.25 48 | 48 | 62 | 62 [120°°
FTEE RS Ordering Code
T P: B0
/4 H .
#hH Pin Pin FAI RIS P: with split pin
Tube I.D. At
£ Y: Y & | EEEEA
L= F5E Model . i
T . Fl: ®8~12 M{E&F For d8~12 SDB: ?%Zmﬁ@m
< 2 Tube 1.D. Y: ForY &I t
D8~D16 = —— - o (1) FA: ©16-40 F{EF For 016-40 SPB: For SDB aceessory
, B c
| A (B1£8) 2-F (I fE)
' 2-E
®E ;
i S g
< . 3 ©
~ a S L & [I]
©20~D40 2 —(4 2
c | B ’ c
B C I I
! A GCED) A
)
Y & | BB RS R~T% ForY & | connector SDB B3 FL F#EE R ~F % For SDB
8 Code nERBA O 84 % Code mE
7€ Tube I.D. - . E D” 2 E Split pin PJ7E Tube I.D. L = c D= | E Split pin
8,10 12 | 85 | 2 |4 22| & | o7 E3 ($n) 8,10 18 | 14| 2 |4 38|07 ] E32
12,16 185 | 15 | 2 |6 %2| 10 | 07 | E4(#®) 12 235|195| 2 |6 4% |07 | ES
20 245 | 205 | 25 |8 3% | 12 | s25 | 25x16KL 16 21 |17 | 2 |6 3R |07 E5
25, 32 30 | 25 [ 35 [109%] 14 [ w32 | 32x20&L 20, 25 30 | 25 | 25 |8 358 | 0.9 E7
40 37 | 30 | 5 [1229%| 16 | ¢32 | 32x20&L 32 33 | 27| 3 |10355 | 09 E9
40 37 [ 31 | 8 [122% [ 09 E9

| 27




FONRAY®

7 255 5 3 R 1

Stainless Steel Mini Cylinder

Fl &%l FI Series

ATEER % Ordering Code

F1 D - 32

FIE P12 ~ 925

(D32 ~ D40 BETEE
&, JEISOZE)

M 50 PPV

SRR ET 1S .
Tube 1.D. 1772 (ST)
Stroke
_ ) A A I B AR TN At
ISO 6432 Bz Adjustable endpoint

buffer function
PPV: Wi
FPPV: Biif
RPPV: #if
PPV: Both ends
FPPV: Front end
RPPV: Back end

B A R R
Operation M: Mi#EH
TH: FHER
F &g —E Magnet Code
M: Magnet
SR &¥®) ] ] Blank: Without
magnet
SmUBRET BY Rg
Cylinder Type
A =HF-——-F |DO HiI==
BEERE gme i
C =i [i& | M =HfI{PB=
BRERL B2t
D === | TA =10
HapA EESERENN
: TC =11 {H=
LEoHEI BESERHRE
A-C =t [
EEEENER
C-C=t{-——fi3
BREEENEL

LB - Y -

R AL
Shaft End Fittings

G48R 2

R

X HERA R
Sensor Switch

RERRR S =
Sensor Switch
Quantity

-
s
I~

v =] | v _real
pe=mf] | F [l
T et

& E B 4

Fixed Accessories

=
=)
Q&
5 &I
Qo
(")
=

TC T H) O

LB =T @,




FONRAY”

7 335 5 3 R L
Stainless Steel Mini Cylinder

FI &%l FI Series

FIAEREFR

458t Features

Ot RIRELH P12 ~ D25 ZHIRHFHE 1S06432 BIRIR

R, D12, D40 BITEURIE,

O EFMHNRMMBEREE, WHSREIEAE, BERE, 28

BRI,

© & R A4 B RE R B BRI
OREERTEME M, REMEE, BLER,

O FIE R A SUS304 #E, SPMEYEBIERTS . BRI, A&,

OEIEMME S, REHE,

HigE. FIC,FIA
IhRE:

== il

R 85l 5% 15 -
BEEBLE D12 ~ D40

#gE: SRIC,SRIA

IhgE:

il |

PR A -

1732 10 ~ 50mm

FIA Horizontal Type L3+ST 2
L2+ST
S | [sa]
Q
FIC BEEAR
FIC Fishtail type
&
|| KX L7, L6
| 2 2-gB
o B R i
! ,,,,,,
KY
oMM
L2+ST
» L3+ST o
AM XC+ST
ST=1T#2 Stroke  BE{if Unit: mm
5% Code
5T 1D AM| D1 (®CD D3 WF| L2 [{L3 |L4| L5 |L6|L7 KK KUKV (KW /|KX|KY|®MM| W |[EW| XC EE G |oB
£ Tube 1.D.
D12 16 | 20 6 M16x15|22 | 45 | 67 |17| 9 |17 |45 M6 x 1 - 124| 8 |10| 5 6 5112 75 [M5x0.8| 9 16
D16 16 | 20 6 Mi6x15(22 (52 | 73 |[17| 9 (17| 5 M6 x 1 - 124| 8 |10| 5 6 5|12 82 |M5x0.8| 10 16
d20 20 (27.5| 8 M22x1.5( 24 [67.5|91.5|20| 12 |20 |7.6| M8x1.25 | 7 |32| 8 |12| 6 8 4 | 16 95 G1/8 |15.25| 22
d25 22 |27.5| 8 |[M22x1.5| 28 (69.5/97.5|22| 12 [22| 8 |[M10x1.25( 9 |32 8 (17| 6 10 6 | 16 | 104 G1/8 16 22
(@) D32 22 | 37 10 |[M27x2.0(28 | 83 [111|20(|13.5|/22| 9 |M10x1.25|10|35|9.5|17 | 6 12 8 | 22 [119.5| G1/8 18 27
© D40 24 | 45 10 [M33x2.0| 31| 85 |116|20|135|22| 9 |[M12x1.25|14|41|95|22| 8 16 11| 26 |124.5| G1/8 18 33

OFESRBATHIARME, dEI1SO ZHE

| 29



FONRAY®

7 85 6K {R EL
Stainless Steel Mini Cylinder

FI &%l FI Series

FID ( &3y )
FID Double Shaft

ZZ+(2xST)

4525 Features

O EFEIRRFEMBMAME, BFEAFER, ALES,
EZRARK, BEREER.

O T4 B B ERAE K PT A S Im B R

O FBRAFFMITIEMTHZINAE, AIHHEHERENL,

g% FID HIg%: FIDE
INEE IfikE:

—= =l
=

FREIGAF: BEREGE D12 ~ D40

L9+(2xST)

L3+ST

L

=
E. ssly
(@)
<R
FIDE ( @A ) !
FID Double Shaft Adjustable ]
BriE® A
} —
Jf’* 1 -
o/
‘5‘ ML+TFR S
T T
L3+ST MH+ST+T:EE
ZZ+(2xST)+THE=
3% Code
L3 L9 Y74 MH ML
HI1E Tube 1.D.
®16 73 96 128 21 10
®20 915 115.5 155.5 24 14
®25 97.5 126 170 28 16
o ®32 111 138 182 32 18
o ®40 116 147 195 35 20

ORCIERRTHIRM, JF1SO iZit

With mark is special dimension and not the ISO standard.
M Hi R~ &EEKE

The dimension of others refer to standard type.



FONRAY”

7 335 £ 3 4R 1
Stainless Steel Mini Cylinder

Fl 23l FI Series

& E B 44 Fixed Fitting

LB & LB Type
5% Code
L10(L11|L12|LA|[H| H2 |H3|®AB| SA | XA |XS
HI{E Tube I.D.
/\\ D12 65|14 |42 |32(3|20 (33| 55| 73 81 |33
S — 2AB ‘ M — 2 ®16 65|14 | 42 |32(3]|20 (33| 55| 80 | 87 |32
T Nt [a]
T ®20 9 17 | 54 |40 |3| 25 (45| 6.5 |101.5|108.5| 38
L . C D25 9 (17 | 54 |40 |3| 25 |45 6.5 |103.5|114.5| 42
-}X—S~ SA+ST LM ‘L10 LA o 32 7 | 18|64 |50|3|28 |48 7 | 119|129 |43
XA+ST L12 ] D40 10 | 20 | 74 [ 54 |4 (31.5|60| 7 125 | 136 | 47
OFCIRERTHIRME, JF1SO iFHE
With mark is special dimension and not the ISO standard.
b 1LY H
FA & FA Type ( ElZERTim Fixed front—end)
44, L -
FB & FB Type ( ElxE{£ iR Fixed back—end)
P12 ~ P25 D32,D40
5% Code
& ’ W|H| ZF [TF|TR|UF|UR|®FB
2%\5 % FI18 Tube 1.D.
[] 9_\ D12 1913 70 (40| - |52 (30| 5.5
I ®16 19|3| 77 40| - [53[30] 55
M Ty = wlw w ®20 2113|945 |50| - |66|40 | 6.5
e A 1 A E—— T == > ®25 25|3(100.5|50 | - |66 |40 | 6.5
O D32 2503 | 114 (50 (26|64 |40 | 7
. .@. 1 (@) ®40 27| 4| 120 (54 (30|74 |50 | 7
w I H R OMBITHIRS, 3 15O M
With mark is special dimension and not the ISO
ZF+ST UR standard.
CB #! CB Type
G EV 8% Code
2 LB|LC|EV|H3| H4 |H5| G [®D2|®R3
‘ ! [ L N % Tube 1.D.
T S A ®12 15 | 25 | 12 | 24 2740802 34 [ 15 | 6 | 55
Tl 2] ]
yy o + ®16 15 | 25 | 12 |24 [27+0302| 34 [ 15| 6 | 5.5
: T sl 2 Sl ®20 | 20 |32 | 16 [ 27 [30+04-02 40 [185] 8 | 7
D25 20 | 32 | 16 | 27 |30+0.4/-0.2| 40 |18.5| 8 7
i AN o D32 25 | 40 | 22 | 37 |40+05/-02| 53 [22.5| 10 | 9
‘ LB ‘ R3 - o D40 25 | 40 | 26 | 37 |40+05~0.2| 53 |22.5| 10 9
LC O SEEATHIMME, 1FI1SO i
With mark is special dimension and not the ISO standard.
=k 3101 .
ElxEByi% Fixed front-end (TA)
44 au =
TC & TC Type ElxE &% Fixed back—end (TC)
XL+ST
5% Code
; TN({TM| ®TD |®UW | T | XL | XH
£I4% Tube I.D.
i == ®20 58 (38| 8 | 42 |10]|965 | 19
1 R A | E P25 58 | 38 8 42 |10|102.5| 23
‘ (¢} D32 60| 40| 10 45 |12 | 117 | 22
(@) D40 72| 48| 10 50 [12] 122 | 25
_ OFCERBRTHIARAE, 3 1SO 1R
XH With mark is special dimension and not the ISO standard.




7 335 £ 3 4R 1
Stainless Steel Mini Cylinder

Fl &%l FI Series

% FEEE AL Accessories for axis using

FONRAY®

B2
1
T - £z : B IHe|H7|Ho|oD2| EY |E| KK |B2|oD1
Y Connector ﬁ w0 !
- | &) D12, P16 (24| 7 |12 6 6 B13 12 M6 16 | 10
;{ ! »20 32(10|16| 8 8 B13 16 M8 21.5| 14
© i ‘ P25 40|12(20| 10 10813 (20| M10x1.25| 26 | 18
i l O D32 401220 10 10813 (20| M10x1.25| 26 | 18
1 KK i O d40 48 (1424 | 12 [12+074015|24 |M12x1.25( 32 | 20
L ORSRABETHIMRM, 3F1SO 12
D1 With mark is special dimension and not the ISO standard.
|
P BYfAa AR #EEH
P type Universal B1
Piston Rod Eye o -~ g
M~
J L 8% Code
; | &d H7 S ®D| B ([B1|L1|L2|W|®D3| | |Z°
. ol - e 1 L% Tube 1.D.
- “\\\\E% PHS 6 6 M6x1.0 | 9 [6.8|9 [30|12[11] 13 13
\ ‘ PHS 8 8 M8x125| 11| 9 [12|36|16(14| 16 | 5 |13
_ \ﬁf/ s PHS 10 10 |M10x1.25| 13 [10.5/14[43|20(17| 19 |6.5[13
- ‘ ! _Jf_‘ PHS 12 12 |M12x1.25| 15| 12 |16|50|22|19| 22 |6.5(13
o \
- | iy
K L ll
D3 S
w
T BiZE)$E8E T type Piston Floating Joint
G
8% Code
§ M A|B|C|E|N|®D| G| H
= ; HT% Tube 1.D. =
ao = @ Ho—_ | D) PR DU R —
X | = KG-1006T M6 x 1.0 38 | 15 | 18 3 7 18 5 11 E o
KG-1008T M8 x 1.25 50 | 18 | 20 4 8 24 7 13 oﬁ"\
B KG-1010T | M10x1.25 | 58 | 20 | 22 5 9 26 8 17 ‘5
c x E KG-1012T | M12x1.25 | 58 | 20 | 22 5 9 28 8 17 g-ﬂ
o
W
L BZ BRI A
% K
8 Code
Y M A|L|IB|E|®J|[C|K|T|R
; ET{E Tube 1.D.
2-J B 17 __’_ = KG-1008L | M8x1.25|19(29|44|26| 9 |15(51| 4 |9
o i KG-1010L [M10x1.25|24 (35|44 |26 19|62| 5 |10
- J KG-1012L [M12x1.25|24(35|44|26| 9 |19(62| 5 |10
E A HtIR~&% TR
B L The dimension of others refer to T type.
1) S52 1
F BB AR
M N
7777777 \\\ 8% Code
****** M AT B |®dJ| C L
#I#€ Tube I.D.
\ KG-1008F | M8x1.25| 32 6 25 7 40 52
<Hzi o S S o] 4 KG-1010F |M10x 1.25 38 9 32 7 44 | 56
‘ KG-1012F [M12x1.25| 38 9 32 7 44 | 56
HEMR~S2E TR
,,,,,,, The dimension of others refer to T type.
AR
,,,,,,, O
T A B




FRRBRE
Pen Cylinders

FO" RAY® FMJ &5l FMJ Series

4% Features

® R4AiH @ Special housing and bushing enables
#mﬁﬁﬁ:ﬁi‘é‘ﬁ HHREABE, FEEEET self lubrication of piston rod.
#ailo @ High quality long service life.
OSmE; MAE: @ Cylinder mountings, available with
o RBHFASRASFEHE, B, mEw, a comprehensive range of
N [ E2-3i42: 1 accessories for rigid or flexible
,_.-‘;)1\'-“ 2 SEETAREETATL, HEE, mounting.

e hj“ ' ##& Specification

4 EU%E Model FMJ
ol = RALPIE
4 i Tube 1.D. (mm) 6 10 16
S ‘ ‘oressure ™
BEOERT M5 x 0.8
&t’: o ; Port size * 0.
) {E R 5 Al
Medium H AIr
=AERES a
Max operation pressure 7 kgf/em
5INE
- Normally 2.5 1.5
B/MEFAEH ;r;ible extended
, Min operation acti%g ?\jkﬂosrdn%uy ”0 s
HEZT 2 ressure d .
E#4T25% Table for standand stroke proseurs Normalh
EBN AN | RENE ?Dgoﬁajble acting 12 0.6
S Gee | T LB 1742 Stroke (mm) BT o
o6 15.30 45 60 Proof pressure 10 kgf/em
S ,30,45, AEARE
:fjjg% T P Ambient temperature -5T ~ +60C ( Fs#E No freezing )
b @i . :
acing 16 15,30,45,60,75,100,125,150 Lubrication AFE#aih Not required
A RERIRA
wEE 6 15,30,45.60 Sensor switch RCS RCM,RCS
E;thiglge 10 15,30,45,60,75,100,125,150 AR = = BM16
»16 15,30,45,60,75,100,125,150,175,200 STl G e BJ6 BJ10 BJ16

RCM i FAsR %% BM16, Senser switch band BM** only for RCM.

S ELRTEE R TB Ordering Code Z2 8 £ Mounting accessories
FMJ -11-16 M 45-B FA - FMJ - 16

HIgE Tube I.D. 1712 A%k UL AR
Model Stroke Model Tube 1.D.
FEZERIRK End cover type:
HEA R [iw: FCEE SRELRE
1. Bl M: Bi#EA Code Symbol Tube I.D.
2. & =H: TH#EA B m 101
1:Single Rod Magnet Code 016
2:Double Rod M: Magnet D 1016 REERIK
Blank: Without ’ Mounting type
1E&N A/ 1RiRFE Style: LB
%4 AL Bk @ﬁﬂ FA
Code Symbol Description
WHSF @@u:% =
111 BE: Double acting / Male thread
S| NEESMF Jﬂﬁj Y
113 ME: Single acting / Normally extended male thread
19 | B8 BN IF el [ ] 1
115 EE: Single acting / Normally returned male thread

RN F
2|1 :BEE Double rod / Male thread

217 g:%: HEATATIEINT
Double rod / Adjustable male thread




£ BRI R L

FONRAY N EMJ R 5 FM) Serios

£ & A / SMER~F Dimensions / Double acting ®10 ~ ®16

2-M5X0.8 GA _, NN
| / MM
. |
o I E= e
- -
| | a
5
OB NB NA F A
S+ {T#2 stroke H
Z+1T#2 stroke
5 ’ - - 8
B1 _.Mi
5% Code o
sETe 1D A B(B1(B2|C | C1|C2|D|F |GA|GB|H [H1| H2 MM NA | NB ND NN S Z
ube 1.D.
10 15 (12 | 11 7 14 |1 115 | 8.1 4 8 8 5 (28| 4 3.2 M4 x 0.7 125 | 9.5 8 %oz M8 x 1.0 46 74
16 15118 (14| 8 |20 [ 162 | 92 | 5 8 8 5 (28| 4 4 M5x0.8 | 125 | 9.5 10 %0 | M10x1.0 | 47 | 75

NB GA
cB 2-M5%0.8

FAT 520 26 2

U
o
=3
(2]
=
=}
Q
()
=
(7]

L ¢°
£ |
e o3
i ‘ | ‘ f
|
[
|
|
\
|
|
L Z
i SNDhe z
|

|
I 144 | I I a
< MM
co’ NA F
OS T T A
1B U S+1T#E stroke H
R Z+1T#8 stroke
) NN MM

(L 1)
=]
D

B1 H1

8k Code
SiE T 1D A|(B|B1|B2|C [CD|CX|C1|C2|D|F|GA[GB|H [H1|H2 MM NA | NB | ND"™ NN R({S|U|Z
ube 1.D.
10 15|12 |11| 7 [14|33 |32 (127|814 |8 | 8 | 18 |28 | 4 |3.2| M4x0.7 | 125 | 22.5 8 % | M8x1.0 | 5 |46 8 |82
16 15(18 14| 8 |20 5 |65(162|92|5 (8| 8 |23 |28 | 4 | 4 [ M5x0.8 | 125|275 | 10 % |M10x1.0| 8 (47| 10|85




FRIFBE

FONRAY FMJ %351 FM) Serios

# g8 / 5N R~F Dimensions / Double acting ®6 ~ 16

FMJ-6

¢C

2-M5x0.8 GA NN

4 2
+ - —— T3 °
| : <
\ Y |- a
T \ -
T_\
0s NB NA F A
S+1T#E stroke H
]
e E— | -
Z+17#2 stroke
FMJ-10 / FMJ-16
2-M5x%0.8 GA_ NN
‘ MM
\ N ;
! e IR e | B Si=aEE I
b4
-
‘ |
V4 o
-
B NB NA F A
S+4T#Z stroke H
Z+1T#2 stroke
MM
—\
I —T
— - - N
— L
\__/
B2
— -
B1 H1
- — et
8% Code h8
A B(B1/{B2({C | C1 |[C2|(D|(F|GA|H [H1| H2 MM NA [ NB| ND NN S | T | Z
A Tube I.D.
6 15 | 12 8 | 55| 14 9.2 64| 3|8 |145|28 | 4 | 24 M3x 0.5 16 7 6 %00 M6 x 1.0 49 | 3 | 77
10 15 [ 12 | 11 7 14 | 127 | 81 | 4 | 8 8 28 | 4 | 3.2 M4 x 0.7 125 | 9.5 8 %o M8 x 1.0 46 74
16 15 | 18 | 14 8 20 | 162 |92 | 5 | 8 8 28 | 4 4 M5x 0.8 125 | 95 10 %02 M10x1.0 | 47 75

E



£ R R R 5T
Pen Cylinders

FO"RAY® FMJ &35 FMJ Series

R ERIRAZEE Installation of sensor switch ®6 ~ ®16

Bt fEBARA Sensor switch: RCM
B BB k&= Sensor switch band: BM**

|

18]

[
ﬁﬁ
|
T
I
O

~

I

29

EifEBHRA Sensor switch: RCS

B EBARBAR % Sensor switch band: BJ** E %
oY
| a B
To—Eeg=—— % % il
|

8% Code
A B (o3 D E
A% Tube I.D.
6 18.1 241 6 12 22
10 20.1 26.1 6 12 22
16 23.4 32.4 6 12 22




ERIRER
Pen Cylinders

FO"RAY® FMJ &%l FMJ Series

EEHR | REER4 Mounting accessories / Double acting ®6 ~ ®16

P6

EER

‘ Cover surface lever

3 | T

.[/ﬁ/ ! —
_ > | - I

o S

T . | |

| -
’\ _
H S+ 1772 stroke
LX Z+17#2 stroke
2-L.C

®10, ©16

EEm
Cover surface lever

A
[ ‘ — ’ 1]
. | 5 e L 3
p}
J 42 = EAN e
| | - MM
T I T 1) E—
$ T T
Lz _lx oy
I 1
H S+ {772 stroke
LX Z7+17%2 stroke
2-L.C
|
T | T
T
3% Code
A H LB | LC | LH LT LX LY LZ MM S X Y V4
M1E Tube L.D.

6 15 28 15 4.5 9 1.6 24 16.5 32 M3 x 0.5 49 5 7 77
10 15 28 15 4.5 9 1.6 24 16.5 32 M4 x 0.7 46 5 7 74
16 15 28 23 55 14 2.3 33 25 42 M5 x 0.8 47 6 9 75




£ R R R 5T
Pen Cylinders

FO"RAY® FMJ &35 FMJ Series

BEEA / REEF M Mounting accessories / Double acting ®6 ~ ®16

EHR
Cover surface lever A

S —t¥ .
®6 o] Qf = ¢ < ——— -Si-
k\/ N b(\ | | —
FX 2-FC FT |l
Fz H S+ 1772 stroke
Z+1T#2 stroke
®10 ~ ¢16 HEE
Cover surface lever A
— [ Q‘%‘(]\ \
gl 2 e s o T | SR N 521
MM / T ' 1
2-FC FT " B
H S+47#2 stroke
B ——z+ﬁ-$§ stroke ~

3 Code
A FB | FC | FT | FX | FY | FZ H MM S z
M1E Tube I.D.
6 15 13 4.5 1.6 24 14 32 28 M3 x 0.5 49 77
10 15 13 4.5 1.6 24 14 32 28 M4 x 0.7 46 74
16 15 19 55 2.3 33 20 42 28 M5 x 0.8 47 75
22vm vk I
P =}
S+4T#E stroke u 4TC o ﬂ
( SRS | 500 + F8H ) Clke) =R
1+Pin (Extra purchase) 3_ ER
@il
I I T 'l:P'—u T Bt 7}
@*777% /Taccessory
[ J |

Z+178 stroke R, ™ ™

‘ Lt

ol *

g < = t s
: ‘ /mssory
; i} i ‘
l = TK
| =
| '—J:
L

L | |

b
(L]

TU3?

X
T™wW v
8% Code 010
5 e 1 A | H MM R|S |TC TD TH|TK|{TN | TT |TU | TV |TW | TX | TY | TZ | U Z |2z
ube I.D.
10 15 28 M4 x 0.7 5 46 | 4.5 3.3 ;% 29 18 | 3.1 2 9 40 22 32 12 8 8 8 93
16 15 28 M5 x 0.8 8 47 | 45 3t 35 20 | 64 | 23 | 14 48 28 38 16 10 10 10 99




FONRAY”

£ R R L
Pen Cylinders

FMJ &%l FMJ Series

BEH5| N2/ 5pEI R~ Dimensions / Normally extended ®6 ~ ®16

GA
C 13 — ;
| |
| |
6
1B ‘ F [T NA [
NN
GA M5x0.8
$C
3N\ A
_ |
10, 16 0
MM 2
o
_ 0B _ . A | E _F, na | NB
H+1T#2 stroke S+177%2 stroke
Z+2 x 1T stroke
8 Code
D) A B Cc D F GA H MM NA | NB ND NN T
6 15 12 14 3 8 145 28 M3 x 0.5 16 3 6 %ors M6 x 1.0 3
10 15 12 14 4 8 8 28 M4 x 0.7 125 515} B % M8x 1.0 =
16 15 18 20 5 8 8 28 M5 x 0.8 125 | 55 10 %00 M10x 1.0 -
P Stﬁ% Code %S %Z
AR 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125[126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 101~125|126~150
6 465 | 555 | 59.5 | 735 | _ ~ | 745 | 835 | 875 | 1015 | ~ _ ~
(51.5) | (60.5) | (64.5) | (78.5) 79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 - - - - 76.5 84 96 108 - - - -
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169
* (S) (Z) IERNBEFEMRZ T, % (S),(Z) () indicate the size of that with magnet ring.
LA Mounting accessories o
oc — os
il
: i
¢ E ‘ ‘
(0]3) Lz S+ 1742 stroke
Z+2 X474 stroke
F_| GA
NN LTy M5x0.8
MM a | ¢c
N\ 9 =T
C > Er—r—) - SRR T _%
10, ©16 ; 5[ B & —-
2-¢LC / A lX! Y. NA NB ‘ B |
LX H+1T#8 stroke S+47%E stroke
Lz Z+2 x 1742 stroke
i Tut:i‘?t)de A|B|C | D|F|GA|H|LBILC|LH|LT LX| LY |LZ MM NA | NB NN T|X|Y
6 15 [ 12 | 14 3 8 [145 |28 | 15 |45 | 9 16 | 24 | 16,5 | 32 M3 x 0.5 16 3 M6 x 1.0 3 5 7
10 15 (12 | 14| 4 8 8 28 | 15 | 45| 9 16 | 24 | 16.5 | 32 M4 x 0.7 125 | 65 | M8x1.0 - 5 7
16 15 | 18 | 20 5 8 8 28 | 23 | 55| 14 | 23 | 33 25 42 M5 x 0.8 125 | 55 | M10x1.0 | - 6 9
P 5 2% Code| %S %z
I 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125|126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 [101~125|126~150
6 465 | 555 | 595 | 735 | ~ ~ | 745 | 835 | 875 | 1015 | ~ ~ _
(51.5) | (60.5) | (64.5) | (78.5) (79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 - - - - 76.5 84 96 108 - - - -
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169
# (S) (Z) FEMHNBEA#MRZ T, % (S),(Z) () indicate the size of that with magnet ring.

E



ERIRB T
Pen Cylinders

FO"RAV® FMJ &3l FMJ Series

BEB)5|NE / ZER 4 Mounting accessories / Normally extended ®6 ~ ®16

EE| FT GA
oy e EL 1A o
.

—
@ qd: c=—="T——¢
®6 -
0B 2FC | A F Il NA L~ 8
FX H+1T#Z stroke S+17%2 stroke
Fz Z+2 x {172 stroke
FT GA
NN ﬁﬁ M5%0.8
[a) /
MM 3l ¢C
[
q)10, q>16 T A@En —-—‘-—LIE-—»—:::
1
2-FC A F_|_NA NB 0B
| I 1
FX H+ 1772 stroke S+17%& stroke
Fz Z+2 X 1T#2 stroke
3% Code
T A|lB|C D F |[FB|FC | FT |FX|FY|FZ| GA | H MM NA | NB NN T|X|[Y
6 15 12 14 3 8 11 45 | 1.6 | 24 14 32 [ 145 | 28 M3 x 0.5 16 3 M6 x 1.0 3 5 7
10 15 12 14 4 8 13 [ 45 | 1.6 | 24 14 | 32 8 28 M4 x 0.7 125 | 5.5 M8 x 1.0 - 5 7
16 15 18 | 20 5 8 19 | 55| 23| 33 | 20 | 42 8 28 M5x0.8 125 | 55 M10x1.0 - 6 9
ﬁﬁ-’s, 5% Code %S %Z
1
H7E I.D. = 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125(126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 | 126~150
6 465 | 555 | 595 | 735 | ~ ~ | 745 | 835 | 875 | 1015 | ~ ~ ~
(51.5) | (60.5) | (64.5) | (78.5) (79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 - - - - 76.5 84 96 108 - - - - v
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169 g %
¥ (S) (zZ) FMRBEE#HMERZ T, % (S),(Z) () indicate the size of that with magnet ring. Oﬂ
-
- Z+2 X 1718 s’tro/k_eI=l R g_ E
T H+47%8 stroke S+1T#E stroke U cz ) ﬁI
=
GA NB ¢ CD H9 CX:o? (7]
NN ¢cd d9
M5X0.8
(S8 1 485 + $EH) Tan | S sc
I+Pin (Extra purchase) ] s i%f
S e I A e ) (L ‘
! l | accessory j”
MM @ ‘ — L
=] \\; i T
A Z _F,Na m:] ‘ F| T ERE
: 4-TC T accessory
! /
I i . = ‘
TY \_#
™w v
I
22+2 X177 stroke
¥ Code CcDh
A|B|C CX|CZ|D|F |GA|H MM NA | NB ND NN R|(TC|TH|TV|[TW|TX|TY| U
P3#% Tube 1.D. (cd)
10 15112143332 |12 | 4 | 8 | 8 |28 | M4x0.7 | 125 | 18,5 8 %o M8x10 [ 5 |45|29 |40 (22|32 |12 | 8
16 15|18 (20| 5 | 65|18 | 5 | 8 | 8 |28 | M5x0.8 [ 125|235 | 10 % | M10x1.0 | 8 |55| 35| 48 | 28 | 38 | 16 | 10
i}hﬁgﬁ.Code s z 77
R Sy
W@I.D.’Dke 5~15)16~30 [ 31~45 ( 46~60  61~75| 76~100 | 101~125 | 126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 [ 126~150 | 5~15 | 16~30 | 31~45 | 46~60 [ 61~75 | 76~100 | 101~125 [ 126~150
10 485| 56 | 68 | 80 - - - - 845( 92 [ 104 | 116 | - - - - 955|103 | 115 | 127 | - - - -
16 485| 57 | 69 | 81 87 | 111 129 141 |86.5| 95 [ 107 | 119 | 125 | 149 167 179 |1005( 109 | 121 | 133 | 139 | 163 181 193

| 40 Y



FONRAY”

FRRBRE
Pen Cylinders

FMJ &%l FMJ Series

BB A / MR~ Dimensions / Normally returned ®6 ~ ®16

2
Al Z
MM s ®
M o e || A
N\
Ny :
N\ $C NN
0B A F NA NB
H S+ 1748 stroke
Z+ 1T#2 stroke
M5 X 0.8
3% Code W RS
h A[({B|{C|(D|F |GB|H MM NA | NB ND NN In—line
M#E Tube 1.D.
6 15| 8 9 3 8 - 28 | M3x0.5 3 7 6 %o M6 x 1.0
10 15112 (14 | 4 8 5 28 | M4x0.7 [ 55| 95 8 %o M8x 1.0
16 15118 (20| 5 8 5 28 | M5x0.8 | 55| 9.5 | 10 %0 | M10x 1.0
P 5 4% Codef %S %Z
S 1.D. Rt 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125|126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 (101~125|126~150
6 34.5 43.5 47.5 61.5 62.5 715 75.5 89.5
(39.5) | (48.5) | (52.5) | 66.5) | ~ - - - | (675) | (765) | (80.5) | (94.5) | ~ - - -
10 45.5 53 65 77 - - - - 73:5 81 93 105 - - - -
16 455 54 66 78 84 108 126 138 73.5 82 94 106 112 136 154 166
% (8) (z) BRANBEEHMERZT, % (S),(Z) () indicate the size of that with magnet ring.
A4 Mounting accessories A Fol M5 0.8 GB
-
% - I
s
2-¢LC NA NB
LX H S+4T7%E stroke
Lz Z+ 1772 stroke
M5x0.8
/S EHAEEREE
_ In-line
X% Code
8 Tobe A|B|C D F |GB|{ H ([LB|LC |[LH|LT |LX| LY | LZ MM NA | NB NN XY
6 15 8 9 3 8 - 28 13 | 45 9 16 | 24 | 165 | 32 M3 x 0.5 3 7 M6 x 1.0 5 7
10 15 12 14 4 8 5 28 15 | 45 9 16 | 24 | 165 | 32 M4 x 0.7 515 9.5 M8 x 1.0 5 7
16 15 18 20 5 8 5 28 [ 23 | 55 | 14 | 23| 33 25 42 M5 x 0.8 55 9.5 M10x 1.0 6 9
P 5 4% Codef %S %Z
S 1.D. Rt 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 (101~125|126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 | 126~150
6 34.5 43.5 47.5 61.5 62.5 715 75.5 89.5
(39.5) | (485) | (52.5) | (66.5) | ~ - - ~ | (675) | (76.5) | (80.5) | (94.5) | ~ - - -
10 45.5 53 65 77 - - - - 73.5 81 93 105 - - - -
16 45.5 54 66 78 84 108 126 138 73.5 82 94 106 112 136 154 166

#(8) (Z) BMKBREE#MERZ Y,

| 41 Y

% (S),(Z) () indicate the size of that with magnet ring.



ERRBEL
Pen Cylinders

FO"RAV® FMJ &35l FMJ Series

BB A / 4R Mounting accessories / Normally returned ®6 ~ ®16

MM

@
©

]
]
D
|
JL

FY
\
|
T
$C

‘ NN /
2-¢FC FT_ LI 0B

FZ H S+1T#2 stroke

Z+17#2 stroke

In-line

M5x0.8

8% Code

el A B C D F |[GB| H |FB|FC | FT | FX | FY | FZ M NA | NB NN X Y
6 15 8 9 3 8 - 28 11 45 | 1.6 24 14 32 M3 x 0.5 3 7 M6 x 1.0 5 7
10 15 12 14 4 8 5 28 13 | 45 | 1.6 24 14 32 M4 x 0.7 515 9.5 M8 x 1.0 5 7
16 15 18 20 5 8 5 28 19 55| 23 33 20 42 M5 x 0.8 55 9.5 M10x 1.0 6 9
ﬁf@s, 3k Codel %S %Z
.
148 .. =5 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125 [ 126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 | 126~150
6 345 | 435 | 475 | 615 | ~ ~ | e25 | 715 | 755 | 895 | ~ ~ ~
(39.5) | (48.5) | (52.5) | (66.5) 67.5) | (76.5) | (80.5) | (94.5)
10 45.5 53 65 77 - - - - 7515 81 93 105 - - - -
16 45.5 54 66 78 84 108 126 138 735 82 94 106 112 136 154 166 )
g %
Z+1T4Z stroke R (9}
H S+1T%E stroke 9] g
NB cZ Q_E
(S | + ) w L es oxc o EL
I+Pin (Extra purchase) = M5x0.8
MM _g z $C
© —
/. W ——— | B8 ?
g a {Sﬁf-ﬂ'k K laccessory m ,rdﬁ wh
X 50
—= ! 1 1\ ‘
&/r ¢ CD H9 | [ \ ] .
A L F NA (¢ od d9) | | I
| 4-1C | T accessory
i ‘ ;
T T 1 T : T . . I
IS R
TW ‘ TV
ZZ+1T7%2 stroke
8% Code CcDh
A|(B|C CX|(CZ|D | F |GB|H MM NA | NB ND NN R|TC|TH|TV|[TW|TX|TY| U
P& Tube 1.D. (cd)
10 151214 |33 |32 (12| 4 | 8 [ 18|28 | M4x0.7 | 5.5 | 225 8 %02 M8 x 1.0 5|145(29 (40|22 (32|12 | 8
16 15|18 (20| 5 | 65|18 | 5 | 8 |23 |28 | M5x0.8 | 55 [ 275 | 10 % | M10x1.0 | 8 |55 35| 48 | 28 | 38 | 16 | 10
> 5% Code S Z 7z
7&*8”0/(
75 1.0 © |5~15|16~30 | 31~45 | 46~60 | 61~75 [ 76~100 | 101~125|126~150  5~15 | 16~30 | 31~45 [ 46~60 | 61~75 | 76~100 [101~125 | 126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 [ 101~125|126~150
10 455 53 65 77 - - - - 815 89 | 101 | 113 - - - - 925|100 | 112 | 124 - - - -
16 455| 54 66 78 84 108 126 138 |[83.5| 92 | 104 | 116 | 122 | 146 164 176 |[97.5| 106 | 118 | 130 | 136 | 160 178 190

| 42



FONRAY”

ERIRERTL
Pen Cylinders
FMJ &5l FMJ Series

Y $%#88 / Y Connector

¥EHERLE Accessories ©10 ~ ©16

| $%88 / | Connector

ND H10 ND
MM MM A
N N -
i o e | B | o
e =
A1 N8 At G
012 012
5% Code H10 3% Code H10
A1 | L1 MM HD NX [ R1 | U1 A1 | L1 MM HD NX [ R1 | U1
A7Z Tube 1.D. A4Z Tube 1.D.
10 8 21 M4 x 0.7 33, [ 32| 8 10 10 8 21 M4 x 0.7 3.3 | 341 8 9
16 11 | 21 M5 x 0.8 5% |65 | 12 | 10 16 8 | 25 | M5x0.8 5% | 64 | 12 | 14
ETEELHE Ordering Code
) P: &0
1 54 | With split pin
Pin
7 iGN
&
ﬁﬁi"?‘g Y:Y & | EEE A
= D: EZ D &EH
Type
Y: For Y & | connector
ﬁﬁﬁ / Pin D: For end cover D type
e 1S e 1%
c L B i c c L B i c
A hd h ¢
A A

BAR | B & Y BY$E88 For | & Y connector

B AR EZ D & For end cover D type

%% Code = 5% Code =
Al B]|C p* |6 |1 | B AlB|lc| p® |6 |1 | A&
794% Tube 1.D. Split pin P9#& Tube 1.D. Split pin
10 162 | 122 | 1.5 | 8.3 1% 25 | 05 E-2.5 10 152 [ 122 | 1 3.3 5o 25 | 05 E-2.5
16 162 | 122 | 15 5 5% 4 | 07 E-4 16 227|183 | 1.5 5 2% 4 | 07 E-4

| 43




it yindor
ni r Inder
FONRAY® FCMBR* R35i FCMBR* Series

458k Features

@ =/, HH=[H ® Compact type
ApFIMERLZT R EER The cylinder can be directly mounted
%, ERREXNBERSE, T without brackets(You have barckets)
BERERIE/N, EMLETER RS the overall length is shorter and so
RS TR EERL D o it will fit into a more confined space.
@ RN, BEEA This gives the benefit of saving space
® MEE TR when installing the cylinder.
kERBN, SREEERXT © Improved strength and accuracy of
e, insta]lation. .
EEEERY. SHEEEL, : -IC-W|9 installation m?thods.
® & AT ylinder can be front mounted, or

mounted from underneath.
® Magnetic as standard.

#11& Specification
FU5E Model FCMBRA,FCMBRB
RELRE
Tube 1.D.(mm) 20 25 32 40
EE%E.'&R# PT1/8 PT 1/4
ort size
& A e A
Medium ER Alr
ﬁiﬁ)ﬁ@ﬁ 9.9kgf/cm®
ax. operation pressure
w/MERE S 0.5kaf/cm?
Min operation pressure kg
i R 1 >
Proof pressure L i
BERE . .
Ambient temperature -5C ~ +60°C ( A% No freezing )
#ai )
RE’ication A E#iH Not required %
AR o Bk
Available speed range 50 ~ 500 mm/sec E ﬁ-.\
=
A K il B ] ot #& &% Fr With rubber cushion pad ) ﬁ
REEER B: BT EEEY Cushion o
Bottom mounting Front mounting RER R RD_201 <=§
Sensor switch g- ﬁI
RRERI R ﬁ% BA20 BA25 BA32 BA40 g
SRR SR EE BGS20 | BGS25 | BGS32 | BGS40 -
sTEEHE Ordering Code E#E4TFER Table for standard stroke
FCMBRA -11-25 M 100 - BSP REFE i
| Tube I.D. Stroke (mm )
| 25, 50, 75, 100, 120,
- 1712 20,25, 32, 40 150, 200, 250, 300
AIgE f[ﬁ}l’?gﬁ Stroke
Model —
HARREE
oty
1. B M: Wi gl
1:Single Rod =8 NEa
= . BSP: BSP ZF
Eililkao Magnet Code NPT. NPT F
A EREEEER M: Magnet Port thread
- =il Yy
I\B/I.ouﬁr{:tﬁlﬁlmi Blank: Without Blank: PT thread
' 9 . magnet BSP: BSP thread
A: Bottom mounting NPT. NPT thread
B: Front mounting 1EBN A / 42im P8 :
Style
(%74 3 FAA
Code Symbol Description

wEISN T
11 BE: Double acting / Male thread




FONRAY”

FCMBRA

B {5 58, B8 L

Miniature Cylinders

FCMBR* #&3%l FCMBR* Series

£ &8 / 5P R~ Dimensions / Double acting 20 ~ ®©40

X
GA
2-¢LD hd 2-p <G—B’
B1 HA1 e
NEEREE BN =] ®
m | ~ ! |
- DI a1
IR N
- I A/
- L
| 1 MM AL
LX ‘ A K![!3 NA - NB CN
L H S+1T7#% stroke
ZZ+41T7% stroke
(mm)
m@TUszCode A|AL|B|B1|D[GA|GB/H|H1| | |K| L LD LH|LX MM N [NA[NB ND
20 18 115.5(30| 13| 8 (22| 8 |27 | 5 | 28 | 5 |33.5| ® 5551& thru,d9.5x 6.5 depth | 15 (21 | M8x1.25 | 24 | 29 | 15 | 20 ?o.oas
25 22 (19536 |17 10|22 | 8 |31 | 6 [335| 5 | 39 | ® 6.6&i# thru,d11 x 7.5 depth | 18 [ 25 |M10x1.25| 30 | 29 | 15 | 26 % 0s
32 22 (19,542 |17 |12| 22| 8 |31| 6 |37.5|55| 47 | & 9Fi& thru,d14x 10iR depth | 21 |30 |[M10x1.25(34.5| 29 | 15 | 26 °
40 24 (21 | 52|22 (14|27 |11 (34| 8 |46.5| 7 |58.5|® 11&i& thru,®17.5 x 12.5:% depth| 26 | 38 | M14x 1.5 |42.5|37.5|21.5| 32 ?0_039
3 Code
7% Tube 1.D. P S X Y zz
20 PT 1/8 76 39 12 103
25 PT 1/8 76 43 12 107
32 PT 1/8 78 43 12 109
40 PT 1/4 104 49 15 138
FCMBRB
GA GB
4-FF ’——‘ 2-p ==
o B1 H1 |
&P ' " S
7 2 a a2
O 3 e
o A/
camks —
MM AL
OFX A K[l 3] NA ‘ NB CN
OF H S+1T# stroke
ZZ+1T#2 stroke
3 Code
Tols A|AL(B1|D | F FF FX|[{GA|GB| H |H1| 1 K MM N |[NA|{NB| ND B S |2z
20 18 (15.5/ 13| 8 | 30 | M5x0.8x 9K depth |22 (22| 8 (27| 5 28 5| M8x125 | 24 | 29 | 15 | 20 ?0_033 PT1/8 | 76 | 103
25 22195/ 17 (10| 36 | M6x1.0x 11 depth | 26 |22 | 8 |31 | 6 |33.5| 5 [M10x1.25( 30 | 29 | 15 | 26 ?0_033 PT1/8 | 76 | 107
32 22 1195|117 | 12| 42 | M6x1.0x 11X depth {30 |22 | 8 | 31| 6 |37.5|55|M10x1.25{34.5( 29 | 15 | 26 ?o,oaa PT 1/8 | 78 | 109
40 24| 21 |22 14|52 |[M8x1.25x 14K depth| 36 | 27 | 11 |34 | 8 |46.5| 7 | M14x1.5 (42.5(37.5|21.5| 32 ?0.039 PT 1/4 | 104 | 138

| 45 Y



Miniature Cylinders

FO"RAY® FCMBR* Z3| FCMBR* Series

B ERRZRE Installation of sensor switch ®20 ~ ®40

B FEBARA Sensor switch: RD-201
B FERRA SR & Sensor switch band: BA**

© —
FHE C 1
A4S Tube [.D. oA B c D E 7«@_ ,@,k 7,,

20 34 49 8 16 26 N ‘-4‘

25 37 55 8 16 26 &/ ‘<L,

32 40 62 8 16 26 E G

40 44 71 8 16 26

N
'Y*T:"‘ —
s —— I S I
Seanl

BLFEBABA Sensor switch: RD-201
B FEBARBATRE A Sensor switch band : BGS**

s A B | c | D|E ’-! §
20 25 | 40 | 18 | 30 | 26 H—do|— ] - = 5k
25 255 | 435 | 185 | 335 | 26 . i-‘ =) iR
32 29 | 505 | 22 | 395 | 26 o ) &
40 33 60 26 | 475 | 26 e c Q B
24
N Y E— e < & Q\_} @
fas]
=R €
Y ] ’
L fEBAREA Sensor switch: RCM
B FERABAR &Y Sensor switch band: BM**
N@Tubg?:.cc’de A B c D E
20 22 | 37 | 10 | 16 | 28
25 25 | 43 | 10 | 16 | 28 b
32 28 | 50 | 10 | 16 | 28 o
40 32 59 10 16 28 E ‘ 4"




FONRAY”

STCDFA &3l

HBREL
Thin Type Cylinder

STCDFA Series

442k Features

O KAARBRUEMEARBHRER
A, MREHHEER.

o L RIIERZ RE, SEMERRETL
FRAMREARX, FHEMEER

® Ultra Compact, light
weight and space saving
cylinder.

@ Wide range of bore sizes

D ®, BABKEE=MHER, - and strokes (12-100mm).
o ?tﬁgﬁﬂi)l%:u?ﬁkﬁﬂ‘ﬁunﬁiﬁ, FES ) Slngle and double acting
é‘gﬁ‘ﬁﬁ" IBREESIERIE; B A Ak, available.
e BE&EBENARER; LEFERR
EMEHRE, ERTEEEED
mEER,
© FRETRE RN, W ONE TE B AL A
ERERMERKEERMEHE
B, MIEHME,
& Specification
il
STCDFA
= 0 . Model
;]-'E‘%ﬂﬁ% Ordenng Code TEEhE St EEE /SR B/ 5INEY BENR
Actin tI Double acting / Normally Double
STCDFA — 1 2 — 40 M 25 — BSP cting type returned / Normally extended acting
SRELRTE
| Tiutse 15, ( i ) 12| 16 |20| 25 [32|40|50|63 (80| 100
E‘fﬁ EZ%(RT]— M5 x 0.8 PT 1/8|PT 1/4 | PT 3/8
i
. i M e R e
BlgE Tube I.D. 1732 Medium = ¥
Model Stroke -
1§Fﬁl§?}§ﬁ Double | 0.5~9.9 | 0.3~9.9 0.2~9.9
l— li Operating acting
pressure .
1. BE o range =
o Z;: HiR AR L& K25 kgf/em? Single |2.0-9.9|1.5-9.9| 1.0~9.9 —
1.'3.1 e Rod M: BiEER &®: PTH acting
~ingie 1o =H: FHWE  BSP:BSP 3 /1 1 Bkaf/om?
2:Double Rod Magnet Code NPT: NPT & Proof pressure e
M: Magnet Port thread REARE 5C ~+60C ( I % No freezin
. — ~ N SR A g)
Blank: Without ~ Blank: PT thread Ambient temperature i
magnet BSP: BSP thread égfgfrﬁfwitch RD-301, RCE, RCE1
NPT: NPT thread
1 4= 10
P B - WX
Style Double acting—Table for standard stroke
K5 RLIR B BRAITE
Code Symbol Description SETHIE 732 ( ABiEE )
114 EENHNF Tube I.D. Stroke ( mm) M%itﬁguotke
Double acting / Male thread magne)
1|2 GE:: wERF e »12,16 5,10,15,20,25,30 300
Double acting / Female thread ; $20,25,32
Single e 5,10,15,20,25,30,35,40,45,50 300
113 3INEBINF Rod |-240.50.63
Single acting / Normally extended male thread 80,100 5,10,15,20,25,30,35,40,45,50 125
iy B NEENF - 12,16 5,10,15,20,25,30 300
Single acting / Normally extended female thread Double iig'gg'gg 5,10,15,20,25,30,35,40,45,50 300
R BB T Rod o
115 ‘EE: Single acting / Normally returned male thread $80,100 5:10,15,20,25,30,35,40,45,50 125
= x AEEEEATIRIR AR EL, EIREBAR,
I BB A oF : e BRI °
1|6 EEE ; ’ % Stroke out of specification is also available.
Single acting / Normally returned female thread % Please consult us if stroke out of specification.
201 EmEE I T
Double rod / Male thread Eijjﬂ _ Eﬁﬁ*i%
SR NI i i
2| 2 | = E| botble rod Female thread Single acting-Table for standard stroke
217 EWATHRITIEINT RELNE 718
§%E: Double rod / Adjustable male thread Tube I.D. Stroke ( mm )
2|8 EHAETEN T ®12, 16, 20, 25, 32, 40 5,10
Double rod / Adjustable female thread »50 10,20




AL
Thin Type Cylinder

FO"RAY® STCDFA Z 35| STCDFA Series

A8/ 5pER R~ Male thread / Dimensions ®12 ~ ®100
D12, P16

ZZ+47%2 stroke

S+{T#2 stroke

®12 ~ ®100 &1T# Long stroke
(4E& B 7L Without counter bore )

e e

,i,li,i,717,

PA PA’ 2-EE * MREEL: FTHEEEI® 100mm,
% With magnet type: the store length must
be over 100mm.

P20, D25 ®32 ~ 100 i
ZZ+17%2 stroke

H S+17#2 stroke
ov LH
av | ] c
CJE1 ‘ PA PA
2-EE
KK
L

. — 1
-
=x
3% Code . X =
el cC|D EE E1|E2|F |G| H| K KK LH N ( ElZE¥L Fixed Hole) =]
12 1 6 | M5x0.8 16323 | 5 | 11 3 | M3x0.5x6dp — | 6.5x4.5dp, Eif thrud4.3, M5x 0.8 x7.5dp ‘_g'
16 15| 6 | M5x0.8 19.8| 28 | 5 [ 11 | 55| 3 [ M3x0.5x6dp — | 6.5x4.5dp, &ifi thrud4.3, M5 x 0.8 x 7.5dp (1]
20 15| 8 | M5x0.8 24 | — | 6 |15 (55| 3 | M4x0.7x8dp — | 6.5x4.5dp, Hif thrud4.3, M5x0.8x7.5dp ‘Q
25 2 | 10 | M5x0.8 28 | — | 8 |17 | 6 | 3 | M5x0.8x10dp — | 9x7dp, &Hi& thrud5.1, M6 x1x 10dp g
32 3 |12 | PT1/8(& Notel) | 34 | — | 10|22 | 7 | 3 | M6x1x12dp 485 | 9x 7dp, EiE thrud5.1, M6x 1 x 10dp %
40 3 |16 | PT1/8(7Note1) | 40 | — [ 14 |28 | 7 | 3 [ M8x1.25x12dp [56.5 | 10.5x8dp, Eif thru®6.9, M8 x 1.25x 12.5dp =
50 4 |20 | PT1/4(7ENote2) | 48 | — [ 17 |38 | 9 | 3 | M10x1.5x15dp | 70 | 11x8.5dp, Eif thru®6.9, M8 x 1.25x 16.5dp
63 4 | 20 | PT1/4(7 Note2) | 60 | — [ 17 [ 40 | 9 | 3 | M10Ox1.5x15dp | 83 | 11x8.5dp, &Hi& thru®6.9, M8 x 1.25x 16.5dp
80 5 | 25 | PT3/8(3Note3) | 74 | — | 22 | 45 | 11 | 4 | M14x1.5x20dp | 102 | 14x10.5dp, Ei& thrud10.5, M12x 1.75x 12dp
100 5 |30 | PT3/8(7Note3) | 90 | — [ 27 | 55 | 12 | 4 [ M18x1.5x20dp | 122 | 17.5x 13dp, Ei& thru®12.3, M14x2 x 17dp
#E 1 FBHEEITIZE 5mm B, EE=M5x0.8
Note 1: Without magnet with stroke=5mm, EF=M5 x 0.8
#E2: AH#ETIZR 5mm BF, EE=PT 1/8
Note 2: Without magnet with stroke=5mm,EF=PT 1/8
it 3: FHE#LTIZE 5mm K, EE=PT 1/4
Note 3: Without magnet with stroke=6mm, EF=PT 1/4
st Cote TR R
PA PB T \"/ V1 X Y V4 Without magnet magnet
PI4E Tube 1.D. S zZ S Y44
12 6.5 6 — 25 32 3.2 6.3 1 17 22 27 32
16 7 6.5 = 29 38 3.2 6.3 1 18.5 24 28.5 34
20 7.5 — — 34 — 3.2 6.3 1 19.5 25 29.5 35
25 8 = = 40 = 4.2 7.8 1 21 27 31 37
32 9 — 14 44 — 4.2 7.8 1 245 31.5 34.5 415
40 10 = 14 52 = 6.2 10.3 1.6 26 33 36 43
50 10 — 19 62 — 6.2 10.8 1.6 28 37 38 47
63 12 = 20 75 = 6.2 10.8 1.6 32 41 42 51
80 13 — 27 94 — 8.2 13.8 1.6 41 52 51 62
100 17 = 26 114 = 10.2 17.3 2 il 63 61 73




34 BY 3R 5L
Thin Type Cylinder

FO"RAY® STCDFA % 5i] STCDFA Series

IhFBY / 5MNER R~ Female thread / Dimensions ®12 ~ ©100

ZZ+1778 stroke

H S+17#E stroke
AQ 4N
Y c / ®12 ~ ®100 174 Long stroke
a L / ( & FL Without counter bore )
y
:E -1
[a) |
st R 7 \ e
F ®\ ’ 2 F72{8 gaske
B m
K+ < s WREEL: {TA2HBIB 100mm,
PA PA 2-EE % With magnet type: the store length must
be over 100mm.
ZZ+4778 stroke
H S+4742 stroke
AQ | ¢
AM PA PA
Q C e ]
\ = 2-EE
e b - '
o3| O
Rl e
S| ) .
//’ ©
/ / 1 1 >4
T =t—=Tt T 1Is
o/ ¢/ \
4N #7418 gasket
3% Code -
S AM|AQ(B|C|D EE E1|E2| F (G| H |K|L|LH N (BEIE7L)
12 10 (12| 8 | 1| 6 | M5x0.8 163|123 | 5 |11 [ 17 | 3 | 4 | — | 6.5x4.5dp, Hi& thrud4.3, M5x0.8x7.5dp
16 10 (12| 8 [15| 6 | M5x0.8 19.8| 28 | 5 [ 11 (175| 3 | 4 | — | 6.5x4.5dp, Hi& thrud4.3, M5x 0.8 x 7.5dp
20 1315|110 |15| 8 | M5x0.8 24 | — | 6 | 15 |205( 3 | 5 | — | 6.5x4.5dp, Ei& thru®4.3, M5x 0.8 x 7.5dp
25 15|17 | 13| 2 [ 10 | M5x0.8 28 | — [ 8 [17 23 | 3| 5 | — | 9x7dp, Eif thrud5.1, M6x 1 x 10dp
32 15 (18|17 | 3 |12 | PT1/8(s Notel) | 34 | — [ 10 | 22 | 25 | 3 | 6 |48.5| 9x7dp, Eif thrud5.1, M6x 1 x 10dp
40 25 28|22 3 |16 | PT1/8(zE Notel1) | 40 | — | 14 [ 28 | 35 | 3 | 8 [56.5| 10.5x8dp, Hi& thrud6.9, M8 x 1.25 x 12.5dp
50 25 (28| 26| 4 |20 | PT1/4(sNote2) | 48 | — [ 17 | 38 | 37 | 3 | 11| 70 | 11x8.5dp, Ei# thrud6.9, M8 x 1.25x 16.5dp
63 25 |28 | 26| 4 |20 | PT1/4(5 Note2) | 60 | — | 17 | 40 | 37 | 3 [ 11 | 83 | 11x8.5dp, &Hi& thrud6.9, M8 x 1.25x 16.5dp
80 30(33|32| 5 | 25| PT3/8(s¥Note3) | 74 | — | 22 | 45 | 44 | 4 | 13 [ 102 | 14x 10.5dp, &Hi& thru®10.5, M12x 1.75x 12dp
100 3538|355 | 30| PT3/8(zENote3) | 90 | — | 27 [ 55 | 50 | 4 | 14 [ 122 | 17.5% 13dp, Eif thrud®12.3, M14x2 x 17dp
1 RMEEITIEE 5mm B, EE=M5x0.8
Note 1: Without magnet with stroke=5mm, EF=M5 x 0.8
7 2: AHEEATIZE 5mm B, EE=PT 1/8
Note 2: Without magnet with stroke=5mm,EF=PT 1/8
#3: FHETIZE 5mm Bf, EE=PT 1/4
Note 3: Without magnet with stroke=56mm, EF=PT 1/4
88 Code R WA W R
PA PB Q T \V/ V1 X Y Z Without magnet Magnet
P4E Tube I.D. S Y74 S zz
12 6.5 6 M5 x 0.8 — 25 32 3.2 6.3 1 17 34 27 44
16 7 6.5 M5 x 0.8 = 29 38 3.2 6.3 1 18.5 36 28.5 46
20 7.5 — M6 x 1 — 34 — 3.2 6.3 1 19.5 40 29.5 50
25 8 = M8 x 1.25 = 40 = 4.2 7.8 1 21 44 31 54
32 9 — M10x 1.25 14 44 — 4.2 7.8 1 24.5 49.5 34.5 59.5
40 10 = M14x1.5 14 52 = 6.2 10.3 1.6 26 61 36 71
50 10 — M18x 1.5 19 62 — 6.2 10.8 1.6 28 65 38 75
63 12 = M18x 1.5 20 75 = 6.2 10.8 1.6 32 69 42 79
80 13 — M22 x 1.5 27 94 — 8.2 13.8 1.6 4 85 51 95
100 17 = M26 x 1.5 26 114 = 10.2 17.3 2 51 101 61 111

| 49



HBIR L

FONRAY N STCDFA % 5| STCDFA Series

ELFEBARS Sensor switch ®12 ~ ®100

5pER R~ Dimensions

RD-301 ‘ RCE RCE1

|
RNB “L@{E@ @W RNE
%D
&) v |

1 ﬂ* —
%

-l

*
&.

RCB : &% green light ﬁ

RNB : 4T# red light
| | | | . 2000 !

\
B FEBABA & 3L Installation of sensor switch

D12, D16 D32 ~d100 l

|-

of ‘

e *
o
o W D S @ . @ fffff @

[= L Ex=1
E
D
RIS Ordering Code
RCE -
3% Code 8% Code
PIFE Tube 1.D. A B C|/D|E RI#E Tube I.D. A|B|C|D|E
12 335|215(85]| 16 | 22 40 61 35| 9 |16]22
16 375| 23 [85] 16 | 22 50 71 40| 9 [16] 22
Mode. e HARE 20 425|255 |85 16 | 22 63 84 [465| 9 | 16 | 22
RD-301/RCE/RCE1 glgnkil_;aggwwe 25 49 | 29 | 9 | 16|22 80 10356 | 9 | 16 | 22
(C: H#Eh Reed switch) T Um
RNB/ANE QD: Connector 32 53 | 31 | 9 [16]22 100 12366 | 9 | 16 | 22

(N: #E#£84 Solid state switch)

B EBEI B8 B "B TH Sensor switch fixed surface
- s o e

Description Input and output direction
V ®#:% RCE,RCE1 #&#% groove
v FI#:k RD-301 iE1E (switch)

groove (switch)

D32, 940
®20,D25
D12, D16

Lo

FAT 360 8

_|
S.
=]
g
e}
(1)
(9]
<
<
Qo
[5°)
=

STCDFA



FONRAY”

HAREREII

Multi-mount Cylinders

DFFA % 3%l DFFA Series

sTEELHE Ordering Code
DFFA -11-6 M 10 -K

FEIAIE -
ik Tube I.D. 1T
Model Stroke
ie ZLd AR
2: S M: BB
1:Single Rod =G AWBE
2:Double Rod ) - ElEg R
Magnet Code
M: Magnet Non-rotating
Blank: Without rod
g A / 1R E magnet
Style
REE ACER Biii]
Code Symbol Description
BN T
11 BE:I Double action/Male thread
EEIEF I T
2 _%Ej Double rod/Male thread

%4 11 Tightening Torque

EEEERBHRBRTRZEENRE,
When mounting series DFFA, refer to the below table.

g L 3e i BAZEERSN
M o Hexagon socket head | Proper tightening toque
odel )
cap screw dia.(mm) N.m[kgf.cm]

DFFA-6,10 M3 1.1[11.2] £ 10%
DFFA-16 M4 2.5[25.5] £ 10%
DFFA-20,25 M5 5.0[51]1+£10%
DFFA-32 M6 8.0[81.6] + 10%

EA

45 8E Features
® FiALRETE
@ 1B\ BB FERARARR ST

@® Compact and space saving.

##& Specification
EI%% Model DFFA
1EEN AT RENE
Acting type Double acting
RELNE
Tube I.D. { mm) 16 10, 16 | 20, 25, 32
BEEOER| o6 ~ 025 M5 x 0.8
<t
Port size D32 PT 1/8
1A EE =
Medium B Al
ﬁ*ﬁm@j.j 7kgf/cm®
ax. operating pressure
ﬁd\ﬁﬁﬁﬁ.ﬁ 1.2kgf/cm® | 0.6kgf/cm® | 0.5kgf/cm?
in. operating pressure
e 10kgf/cm?
Proof pressure
FIERE , .
Ambient temperature -5 ~ +60C ( 4 No freezing )
#aim A .
Lubrication AELAiM Not required
ﬁjﬂ_ﬁ_ﬁfgﬁﬁ 50 ~ 500 mm/sec
Available speed range
BEEE . ) )
Cushion #Z1&E K With rubber cushion pad
BRERIER
Sensor switch 3% el

EHITIER Table for Standard Stroke

SRUEL AR 1712

Tube 1.D. Stroke ( mm )

® 6,10,16 5,10, 15, 20, 25, 30
$ 20,25,32 5,10, 15, 20, 25, 30, 40, 50

B FERA B 4E Installation of Sensor Switch

IN—FBEET
" Watchmakers
% screw driver

EIEL84
Set screw

RRRERAER
Sensor switch
RCE,RCE1




B 8 %R 5 R R T

Multi-mount Cylinders

FO"RAY® DFFA Z51 DFFA Series

B & / 4ME] R ~F Dimensions /Single rod ®6 ~ ®32

D6 , P10 2-$P BiE thru 2-M5%0.8

o = © <A
= o OO
H1 | E| GB

GA

2-¢P Ej& thru
4-¢ T ifldepth

[a]
acil E%
5
/ ©)
MM,/
Bl Al LE
B H S+{T#E stroke
Z+1778 stroke
S 2-M5x0.8
- Bi# thru N
®16 ~ ©32 L 2PT1/8 (632)
H1 _,
[ ’
x

2

4-NN 2-¢ P HiE thru
o 44T mAldepth
] [m]

) = {

o [ertE - O
& e

(2]
=
=
o
)
7]

i
i:) 18] A f
B1 Al E
B H S+1T42 stroke
Z+177% stroke
8% Code
P Y A|A B|BI|C|C1|D|E|GA|GB|H|H1|J | K|L MM NN P|Q|QA| R
6 7 - |18 |55(22 (64| 3 7 15 10 (183 |18| 10 | 17 | - M3x 0.5 M3x0.5x5 X depth [ 3.2 | - - 7
10 10 | - 15| 7 |24 (81| 4 7 165 | 10 | 16 |24 | 11 | 18 | - M4 x 0.7 M3x0.5x5 & depth [ 3.2 | - - 9
16 11 |125/ 20| 8 | 32 |92| 6 7 |*16.5(11.5| 16 | 4 14 (25| 5 M5x 0.8 M4 x0.7x6 & depth [ 45| 4 2 12
20 12 |14 [ 26 [ 10|40 [115] 8 | 9 | 19 [125]19] 5 [16 30| 6 | M6x1.0 | M5x0.8x8iRdepth 55| 9 [45][ 16
25 155/ 18 | 32 | 13 | 50 |15.0/ 10 | 10 | 215 | 13 |23 | 5 |20 | 38 | 8 M8 x 1.25 M5x0.8x8 &K depth 55| 9 |4.5]| 20
32 195( 22 | 40 | 17 | 62 |19.6| 12 | 11 23 |125( 27 | 6 |24 [ 48 | 10 | M10x1.25 | M6x1.0x9 iR depth | 6.6 |13.5| 4.5 | 24
% AHEEITIRE 5mm B, GA=14.5mm %: Without magnet with stroke=5mm, GA=14.5mm.
8 Code TSBi#% Without magnet Fii#k Magnet
M7 Tube 1.D. T S Z S Z
6 6 x 4.8 iR depth 33 46 33 46
10 6 x5 iR depth 36 52 36 52
16 7.6 x 6.5 iR depth 30 46 40 56
20 9.3 x 8 if depth 36 55 46 65
25 9.3 x 9 iR depth 40 63 50 73
32 11 x 11.5 & depth 42 69 52 79




HARERBI

Multi-mount Cylinders

FO"RAY® DFFA %%l DFFA Series

1 [EE R B & / 4pER R~ Dimensions / Non-rotating rod / single rod ®6 ~ ®32

P6 y P10 2-¢ PEIE thru 2-M5x0.8
MM

KI%DA b@(m
! o Y
GA

2-¢ PEE thru

2-Kl 4-¢ T jifldepth

z
>
4|:n
L

Y
o (G
_1©
ok

e
Oz

o]
FY
I}
N
)

E
S+1T#E stroke
Z+{T#E stroke

%
>
|

-
~
T

w

= 2-M5x0.8
»16 -~ ®32 2 PR I 2-PT1/8 ($32)

MM ., H1 - <
L a
|
[\ 3 — _@ — Is]
L
_E] _GB |
GA
2-K1 NA, 2-¢ P &i& thru 4NN

FL 4-¢ T Jifldepth

C1
N

I

\

I

I

I

|

H S+{T42 stroke
Z+4T#2 stroke

m@mnjj o A|A|B|B1I|C|C1|D|E|F |FL{FK|FY| GA [GB|H [H1|J | K Kl L MM NA |NB
6 7 - 13|55 22|64 | 3 7 8 9 11 (20.5| 15 10 | 18 | 1.8 | 10 | 17 | M3x0.5 | - M3 x 0.5 6 14
10 10 - | 15| 7 |24 |81 | 4 7 8 12 |12 (22 | 165 | 10 | 21 (24| 11 | 18 | M3x0.5 | - M4 x 0.7 7 15
16 11 (12520 | 8 | 32 |92 | 6 7 8 17 | 13 | 28 |*%16.5(11.5| 26 | 4 14 | 25 | M4x0.7 | 5 M5 x 0.8 6 18
20 12 [ 14 | 26 | 10 | 40 |11.5| 8 9 8 [ 20 | 16 | 33 19 |125| 29 | 5 16 | 80 | M4x0.7 | 6 M6 x 1.0 8 | 20
25 15.5( 18 | 32 | 13 | 50 |15.0({ 10 [ 10 | 10 | 22 | 20 |435| 215 | 13 | 33 | 5 | 20 | 38 [ M5x0.8 | 8 | M8x1.25 | 10 | 28
32 19.5| 22 [ 40 | 17 | 62 [19.6| 12 | 11 | 12 [ 29 | 24 [51.5| 23 (12542 | 6 | 24 | 48 | M5x0.8 | 10 |[M10x1.25| 12 | 32
X RHREFTIZE 5mm BF, GA=14.5mm
% :Without magnet with stroke=5mm, GA=14.5mm
(154 B B
(el NN P Q QA R T U Y Without magnet Magnet
M1Z Tube 1.D. S Z S Z
6 M3 x 0.5 x 5 i depth 3.2 - - 7 6 x 4.8 iX depth 10 10.5 33 51 33 51
10 M3 x 0.5 x 5 & depth 3.2 - - 9 6 x 5 ix depth 10.5 11.5 36 57 36 57
16 M4 x 0.7 x 6 & depth 4.5 4 2 12 7.6 x 6.5 i® depth 12.5 15.5 30 56 40 66
20 M5 x 0.8 x 8 iR depth 515) 9 4.5 16 9.3 x 8 i depth 13.5 19.5 36 65 46 75
25 M5 x 0.8 x 8 i depth 5.5 9 4.5 20 9.3 x 9 iF depth 19 24.5 40 73 50 83
32 M6 x 1.0 x 9 i® depth 6.6 13.5 4.5 24 11 x 11.5 iR depth 21 30.5 42 84 52 94

E



Rl

Multi-mount Cylinders

FO" RAY® DFFA &35l DFFA Series

€80 / 4pER R~ Dimensions /Double rod ®6 ~ ®32

¢6 . ¢10 2-¢ PEI# thru 2-M5x 0.8
B -
= ER=- @/@ =3

O
H1_| _  |.E \ GB
GA
2-¢ PEIE thru
4-¢ T fiFlLdepth
a MM
| & na
- l_m'ﬂ' I — ====
T
MM/
A E A
H S+{T#E stroke  |SA| W+H{THE sfroke
Z+2 X 1742 stroke

2-M5x0.8

2-¢ PEIR thru 2-PT1/8 (¢32)

D16 ~ P32 HL

« o= m
i ‘
L& e |
GA
2-NN 2-¢ PEi# thru
4-¢ T m7Ldepth)
[m]
S e A O w1 =
MM 4(/\/
A A
A e o
H S+47#2 stroke SA|  W+H{T#Z stroke
Z+2 X {T#2 stroke
%% Cod
A || Bi|c|ct|D|E|GA (GBI H[HI[J KLl wm NN P|la|aalR [sa
6 7 - |13 |55|122| 64 |3 |7 15 16 | 183 |1.8( 10|17 | - M3 x 0.5 M3x0.5x5 & depth | 3.2 | - - 7
10 10| - |15] 7 |24 81| 4| 7| 165 |16 |16 |24 11|18 | - | MAx07 | M3x05x5®depth |32| — | - | 9
16 11 [125|20 | 8 |32 92 | 6 | 7 |%165| 19 | 16| 4 | 14| 25| 5 | M5x08 | Max07x6® depth | 45| 4 | 2 | 12|75
20 12| 14 | 26|10 |40 |11.5| 8 | 9| 19 |215/ 19| 5 | 16|30 | 6 | M6x10 | M5x08x8® depth | 55| 9 |4.5| 16
25  |155| 18 |32 | 13 |50 [15.0|10|10| 215 | 22 |23 | 5 | 20| 38| 8 | M8x125 | M5x0.8x8#® depth | 55| 9 | 45|20 | 9
32 19.5( 22 |40 (17 | 62 [ 19.6 12| 11 23 (22527 | 6 |24 | 48 |10 | M10x 1.25 M6 x1.0x9 X depth | 6.6 |13.5/4.5| 24 [ 10

% NMTREITIZES 5mm B, GA=14.5mm 3 :Without magnet with stroke=5mm, GA=14.5mm

8 Code T w Withgfjﬁnwégnet Mﬂggﬁet

7% Tube |.D. S V4 S 4
6 6x 4.8 iR depth 13 38 70 38 70
10 6x5 i depth 16 36 74 36 74
16 7.6x6.5 i depth 16 30 69.5 40 79.5
20 9.3x 8 iR depth 19 36 83 46 93
25 9.3x 9 i depth 23 40 95 50 105
32 11x11.5 3% depth 27 42 106 52 116

(2]
=
5
o
)
7]

ET




B B %5 m R T

Multi-mount Cylinders

FO"RAY® DFFA &35l DFFA Series

1HEE R ER / 5pEE R ~F Dimensions /Non-rotating rod / double rod 6 ~ $32

2-¢ PEIA& thru 2-M5X0.8
®6 , P10 NV —

) o A f*( o) T—Th
o A [
e I
HT | L E]| . e8|
GA
2-¢ PEIE thru
2Kl ‘l\l_A. _i.‘ 4-¢ T iR FLdepth
o3 E I MM
Sy AIHDr
ox H © |5 5 —
? )
s =t Q
 Jo®h
B1 A ! F ! E A
FK H S+1T#2 stroke _|SA _ W+1T%2 stroke
1
B Z+2 X {742 stroke
2-¢ PEIE thru 2-M5x0.8
D16 ~ ®32 2-PT1/8 (6 32)
MM H1
S 8
- L) 3
o O ] B S e
< I} YO
..
L :
E GB |
GA
=
240, A T ek
FL -¢ T iL¥l.deptl
| | | | == .
| MM
: o= i
—'m B =
oz 11O P2 E &
P (D
gt O
: A A
B1 A F E A
FK H S+{T4E stroke SA| W+4T#E stroke
B Z+2 X 1T#2 stroke
X8k Code
. A|A |(B|BIT|C|C1|(D|E|F|FL|(FK|{FY| GA |GB|( H |H1| J Ki L MM NA | NB P Q
M1E Tube |.D.
6 7 - |183|55|22 (64| 3|7 (8] 911205 15 16 | 18 [1.8| 10 | M3x0.5 | - M3x 0.5 6 | 14 | 3.2 -
10 10 - |156| 7 |24 (81 |4 |7 |8 |12|12| 22 | 165 [ 16 | 21 (24| 11 | M3x0.5| - M4 x 0.7 7 | 15| 3.2 -
16 11 (125|20| 8 (32 (92 |6 |7 |8 |17 |13 | 28 |%16.5|/ 19|26 | 4 | 14 [ M4x0.7| 5 M5x 0.8 6 | 18 | 45 4
20 12 |1 14 |26 | 10| 40 |115| 8 | 9 | 8 |20 | 16 | 33 19 (21529 | 5 | 16 | M4x0.7 | 6 M6 x 1.0 8 [20 | 5.5 9
25 15.5( 18 |32 | 13 | 50 [15.0| 10|10 (10|22 | 20 |43.5| 215 |22 | 33 | 5 | 20 | M5%x0.8| 8 M8x1.25 [ 10| 28 | 5.5 9
32 19.5( 22 |40 | 17 | 62 [19.6 |12 |11 (12|29 | 24 |51.5| 23 [22.5| 42 | 6 | 24 | M5x0.8| 10 | M1Ox1.25 | 12| 32 | 6.6 |13.5
¥ AMEEITIER 5Smm BF, GA=14.5mm 3 :Without magnet with stroke=5mm, GA=14.5mm
FN it 77
8 QA R SA T U w Y Without magnet Magnet
A& Tube I.D. S z S y4
6 - 7 6 6 x 4.8 iR depth 10 13 10.5 38 75 38 75
10 — 9 6 6 x 5 & depth 10.5 16 11.5 36 79 36 79
16 2 12 7.5 7.6 x 6.5 i depth 12.5 16 15.5 30 79.5 40 89.5
20 4.5 16 9 9.3 x 8 iR} depth 13.5 19 19.5 36 93 46 103
25 4.5 20 9 9.3 x 9 iR depth 19 23 245 40 105 50 115
32 4.5 24 10 11 x 11.5 i depth 21 27 30.5 42 121 52 131

| 55



SahRE
Double Rod Cylinder

FO"RAV® TN #& 5l TN Series

EBE4SFEY Features

EEEFEFH NRBTREENTEH Double rod with double force for higher

FIAEEIE, REBTREMEASHMN anti-bending and anti-twisted strength

A AL, ensured durable life and perfect directional

- characteristic.
,—;‘ -~ ? g ]
A7 ##& Specification
HI1E Tube 1.D. (mm) 10 16 20 25 32
TENE e
Working Medium =R Air
?’Jﬁf;?fn ££8) Double Acting
ERBEHEE
Operation Pressure Range 0.1 ~ 0.9Mpa
R EE S
Ensure Pressure Resistance 1.35Mpa
ERBEHE
Operation Temperature Range 0~ 70T
1EREEEE
Operation Speed Range 100 ~ 500 mm/s
& l =0
B/ £&F5% Symbol BT o om
Adjustable Stroke
|j Cushion Not Available W} =2 Cushion Gasket
E = TOEEE . 5
I I T | Presion of Non-rotating 0.4 0.3

BEOK .
Port Size M5x0.8 PT1/8

i) R ERENRZREEEHRNRARFTAMERS,

The Max. operating pressure is subject to the Max. load of hydralic buffer.

STEEAHE Ordering Code
TN - 20 M 50

2 50

FgL
Tube I.D.
IR 10
TN: EahEEhal 16
Type 20
TN: Double-shaft 25 Fn BRI A 1752
double acting 32 *REER 1m Stroke
SR
18 F RD-301 RLpESS
*iE: TN R3EA Sensor
* T N Series attached magnetic ring *Standard wire is 1 meter,
please order for other length
Only for sensor RD-301
1T#8 Stroke
M & =T BAITIE BHFTIE
Tube I.D .(mm) Standard Stroke Max. Stroke Allowable Stroke
10 10 20 30 40 50 60 70 70 100
16 10 20 30 40 50 60 70 80 90 100 125 150 150 200
20 10 20 30 40 50 60 70 80 90 100 125 150 150 200
25 10 20 30 40 50 60 70 80 90 100 125 150 150 200
32 10 20 30 40 50 60 70 80 90 100 125 150 150 200




FONRAY”

& h R 5L
Double Rod Cylinder

TN %3l TN Series

4ME R~ Overall Dimension

PB PA
E} ® |
[ S — T EE L H
1 a 1. ) JzaR) %E
I ¥ NV N\ ——— 1 |/ i
llfHﬁ ] P il
&t - Al [
— T N
PH PF 2-PC %E i
w L
[ | J_kﬁ P |ER— HI
: :J m e m -
O
o
R =% Dimension
%% Symbol
; PA PB P1 PD PE PF PG P2
4% Tube I.D.
10 18 0.5 ©6.2 RDepth 3.5mm, i&@FLThrough Hole:®4.5 5.2 6 3 5.2 M3 x 0.5 ®Depth 5mm
16 24 1 »7.8 &Depth 4.6mm, i&EFLThrough Hole:®4.5 6.2 8 5 6.2 M4 x 0.7 RDepth 46mm
20 28 1 ®11 RDepth 6.8mm, iEFLThrough Hole:®4.5 8.2 10 3 8.2 M6 x 1 &Depth 48mm
25 34 1 ®11 EDepth 6.8mm, i#FLThrough Hole:®4.5 10.2 12 3 10.2 M6 x 1 & Depth 48mm
32 42 2 ®17 i®Depth 12mm, i#FLThrough Hole:®4.5 14 16 3 14 M10 x 1.5 #&Depth 14mm
N
57]\ A O . . 196 232
# Rt Overall Dimension :
FEF{El 1A & #Allowable size load
=
o 147
®©
o
W |
o
°
w
& &l B g, e
9 9 ®  °
S S _-E
=
@20
4.9
216
\
2.9
@10 e |
*1Kgf=9.81N —
RT% D . 0 20 40 60 80 100
S imension o
172 Stroke (mm)
0% —E% O-ring List
S8 Quantity AEZEHE HEOL AIEEOL HEFOL
#I4% Tube I.D. Front cover seal Piston O-ring Rear cover O-ring Piston rod O-ring
1 2 2 1
10 PDU-6 APA-10 10x1.5 P12
16 PDU-8 APA-16 16x 1.5 P16
20 PDU-10 APA-20 20x 1.5 P20
25 PDU-12 APA-25 25x1.5 P20
32 PDU-16 APA-32 32x1.5 P25




FONRAY®

& il S L
Double Rod Cylinder

TN &35l TN Series

SMR R~ Dimensions ®10 ~ ©32

A+fFiEStroke
B+{T#2Stroke C+{T42Stroke
1 15_, D+0.2+17#2Stroke
17 5 /JifEStcke . 7 E+0.2
16 52 j&FLThrough Hole 2-23.4
|/ A MiABoth Side @67RDepth
-IE- é N | 5o S o / 6. 2B E7LFixed Hole
o
3= Q= i © o1 %
@ ]t im 3
2305 2-M3x0.5 / 8‘ l @\ i&FLThrough Hole 2-23.4
- WMiZiBoth Side @6:RXDepth3. 3&E E FLFixed Hole
=20 22
== ¢]
TN
ol \___ 2-M5x038
BEORZ Port
A+{TF2Stroke
B+{7#2Stroke C+{T#2Stroke
1 15 D=+0. 2+{7#2Stroke
T F /Tistoke  H E+0.2 2-P1
M P%/Yh /" ElFEFLFixed Hole
— Bor S 5 ="
&/ g | /1. @
i S|alw S _] @ P =]
: + | L 1 A2 A% +l
©* S Ly : © &
\Y
Q— t! >‘ l @
2-M4x0.7 2/ 8 \2-P2EZ7LFixed Hole
N1 | N2
—rl—‘—' i A PN
TN hi
o] 2-M5x0.8
#EO1Z Port
A+{TiEStroke
B+{7#2Stroke C+1712Stroke
40 1 17_,_D+0.27752Stroke
a8 17| /fitistoe 12 E+0.2
14 1B ¥ Through Hole 2-@5.5
- s Wi%Both Side @9EDepth
m [ Both Sde @ L13_ 2| E FLFixed Hole
© |y o ‘ /=
T8 3 :ﬁ] = © ©—1 5
o3 R 3
il 9‘ | @
2-M6x1 2:-M8x1.25 8 i#®7LThrough Hole 2-2/5.5
#Depth 10 WiA1Both Side @9 & Depth 5. 4E E7LFixed Hole
40 24
—Jr & Rl
=1 " hil
ol 2-PT1/8
#ENE Port
FF4% Symbol E
A B (o3 D F G H |
L1 Tube 1.D. 10 20 30 40 50 60 70 80 90 100 | 125 | 150
16 68 15 53 20 30 35 40 45 50 55 60 65 70 75 87.5 | 100 8 47 6 24
20 78 20 58 20 35 35 40 45 50 55 60 65 70 75 87.5 | 100 10 55 9 28
25 81 19 62 30 40 40 45 50 55 60 65 70 75 80 925 | 105 10 66 8 34
%% Symbol
D J K| L |[M|N1[N2 P1 P2 Q|R|S|T|V|W
M4 x 0.7 #12Both Side ®7.5 ikDepth7.2mm, | #i2Both Side ®8 i®Depth4.4mm,
. 47 [ 53 (20| 22 | 10 34| 3|54 (21|8]|62
16 #Depth 5 i@FLThrough Hole: 4.5 i#@FLThrough Hole: ©4.5
M4 x 0.7 #32Both Side ®7.5 iRDepth7.2mm, | #i£Both Side ®8 RDepth4.4mm,
20 #Deptn 5 | °° | ®1 [ 24] 2% | 12 | gaiihrough: 045 &7, Through Hole:04.5 441356212510 8.1
M4 % 0.8 #2Both Side 7.5 FDepth7.2mm, | #iZBoth Side ®8 EDepth4.4mm,
. 66 | 72 | 27 | 30 | 12 56| 7 | 73|30 |12]10.2
25 ®Depth 6 B Through Hole: ©4.5 {#FLThrough Hole: 4.5
F74% Symbol E
A B (o3 D
14 Tube I.D. 10 20 30 40 50 60 70
10 63 12 51 10 30 30 35 40 45 50 55
10 20 30 40 50 60 70 80 90 100 125 150
32 108 30 78 35
45 50 55} 60 65 70 75 80 85 90 102.5 115




FONRAY”

sTEEfEE Ordering Code

DPCO -

5 R
Double Piston Cyliders

DPC %3l DPC Series

20

#H#& Specification

£I1Z Tube I.D.

(mm)
IEH ltem

10X2 16X2 20X2 25X2 32X2

1EEER
Type of Operation

# 3 Double Acting Type

=R
Fluid

=5 Air

fEREN &R

Operation pressure

1-7 kgf/cm® (0.1-0.7 MPa)

REETHEE

Proof Pressure

10.5 kgf/cm? (1.05 MPa)

fE RS E

Temperature

0-60° C

{5 PR iR
Piston Speed

100-500 mm/s

“hik
Lubrication

"ZE Lubrication Free Type

BB OR
Port Size

M5X0.8P Re(PT) 1/8"

M

100 -

2 KT-07R -

SRALPAE BT
Tube I.D. Strok =
— EEHENRE
Number of buffers
AN
M: Miwea
=H: AH#EA BERTEEEYE
Magnet Code Sensor type and quantity
M: Magnet B E i
] Blank: Without Sensor Type Circular Rectangular
EER magnet o
kinds of style Co d’; KT-07R KT-11R
R BHER Ba e
kinds of style Standerd Type Slide Unit Type Applied voltage 5~120 DC/AC 5~220 DC/AC
o DPCO DPCS
Code

GRS

1. BEREEERRSERR, EPRERSTHEE.
2. RER BB MM BRENE, TmkBRERRRG,
3. BAERBMEEETR, F2RMERER,

4. BERBEREERRBERER,



& 51 R EL
Double Piston Cyliders

FO"RAY® DPC %3l DPC Series

25/ HH 71 Theoretical Cylinder Force

( EE{L Unit: kg)

Hf@&mm | SEmm | EFHE | ZEERE om? fE FAE A kgf/cm®  Operating Pressure
Tube I.D. Piston Rod Actin Piston Area
¢ 2 3 4 5 6 7
#EH Push 1.57 3.14 4.71 6.28 7.85 9.42 10.99
10X 2 6
FI[E Pull 1.01 2.02 3.03 4.04 5.05 6.06 7.07
#EH Push 4.02 8.04 12.06 16.08 20.10 24.12 28.14
16 X 2 8
Hi[E Pull 3.02 6.04 9.06 12.08 15.10 18.12 21.14
#EH Push 6.28 12.56 18.84 25.12 31.40 37.68 43.96
20X 2 10
Fi[E Pull 471 9.42 14.13 18.84 23.55 28.26 32.97
#H Push 9.82 19.64 29.46 39.28 49.10 58.92 68.74
25X 2 12
HiE Pull 7.56 15.12 22.68 30.24 37.80 45.36 52.92
¥ Push 16.08 32.16 48.24 64.32 80.40 96.48 112.56
32X2 16
Fi[E Pull 12.06 24.12 36.18 48.24 60.30 72.36 84.42

E#®F (DPCO) 1T# % Cylinder Stroke Table

SREL RS EHELTEE mm

Tube I.D. Standard Stroke
10 10, 20, 25, 30, 40, 50, 75, 100
16 10, 20, 25, 30, 40, 50, 75, 100, 125, 150, 175, 200
20 10, 20, 25, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250
25 10, 20, 25, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250
32 10, 20, 25, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250

i#& (DPCS) 17#3 Cylinder Stroke Table

SREL RS EHELTIE mm

Tube I.D. Standard Stroke
10 25, 50, 75, 100,
16 25, 50, 75, 100, 125, 150, 175, 200,
20 25, 50, 75, 100, 125, 150, 175, 200, 250
25 25, 50, 75, 100, 125, 150, 175, 200, 250
32 25, 50, 75, 100, 125, 150, 175, 200, 250




FONRAY”

& 51 L

Double Piston Cyliders

DPC %3l DPC Series

DPCO Z##4 MR R~ DPCO Standard Type Dimensions ®10 ~ ®32

4-D3 M ABIEMFLEE BT (25STA L)

/ (Through-hole,Counter,over 25ST strole)

bore (Both Sides)
= 4-F3 (WHE)
ARIEE _, BMESMin)H1 _ c1 c1 Both Sidos
Both Sides z| BAEIOMIn)H2 || I ) " \
[l 1 ]
P ol B IS e
als A 7 __1 )
m (PP N
N| ~ E E g : _.é_ o 8 E N o w g
%13 hY
o |m \é Y 1. N
gl | — L
7l
k. il el
R1 s D1 D1 F1
2-L2
H2 || K1 | N2 Boh Sides. 153l B1+ST B2
A+ST
2-C2 FREEMEA4FL (M)
2-G2 i HRTFL Both Sides
G1 / PortConnection 31
1ETT y [ [
( B Unit: mm)
5% Symbol C1 ( ﬁzﬁ—'ﬁli )
A | B1| B2 | B3 C2
T Tube 1.D. 10 | 20 25 30 40 50 75 | 100 | 125 | 150
D10 51 40 19 46 15 15 15 15 15 15 15 15 - - #7L Drilling hole 3.5, #7l ®6, & Depth 3.5
P16 57 45 24 | 58 [17.5|225| 25 |27.5|27.5|27.5| 30 [32.5| 35 |47.5| #&7L Drilling hole ®4.5, #¥L ®8, i Depth 4.5
D20 65 50 26 68 20 25 |27.5| 30 30 30 |325| 35 |37.5| 50 #271 Drilling hole ®4.5, #¥. ®8, i Depth 4.5
®25 72 55 34 | 82 |225|27.5| 30 |325(|8325(325| 35 [37.5| 40 |52.5| #&FL Drilling hole ®4.5, #¥L ®8, i Depth 4.5
®32 80 60 40 | 100 | 25 30 | 325 35 35 35 | 87.5| 40 |42.5| 55 | #&7L Drilling hole 5.5, #¥L ®9.5, i Depth 5.5
5% Symbol
- D1 | D2 D3 E |F1|F2 F3 G1 G2 H1
{L4E Tube I.D.
10 20 | 40 | #7L Drilling hole ®3.5, #*¥L ®6, & Depth 3.5 | 22 | 12 | 38 | M4X0.7P i Depth10 | 11.5 | M5 $gi&#£0 Air connection | 4
D16 22.5| 51 | #&7L Drilling hole ®3.5, #¥L ®6, i Depth 3.5 | 25 | 14 | 50 | M4XO0.7P i& Depth12 [ 12.5 | M5 $RiE#z0 Air connection | 4
D20 25 | 60 | #&7L Drilling hole ®4.5, #¥L ®8, & Depth 4.5 | 28 | 16 | 60 | M4X0.7P i Depth12 | 13 | M5 $gi# O Air connection | 5
®25 27.5 | 72 | #7L Drilling hole ®5.5, #¥L ©9.5, i Depth 5.5| 36 | 20 | 72 | M5X0.8P X Depthi2 | 14.5 | M5 sgiE# 0 Air connection | 5
®32 30 | 88 | %L Drilling hole ®6.5, #+7L ®11, X Depth 6.5 | 44 | 24 | 84 | M6X1.0P i Depth15 | 17 | PT1/8" {iE# N Air connection | 5
3% Symbol
- H2 | K1 K2 | K3 | L1 L2 N1 N2 P1 P2 R1 R2 R3
{L4E Tube I.D.
»10 7 17 44 7 30 M3X0.5P i Depth 8 1 1 36 M3X0.5P 10 12 M3X0.5P
D16 7 22 56 8 34 M4X0.7P & Depth 8 1 1 47 M4X0.7P 14 15 M3X0.5P
20 10 24 66 10 44 M4X0.7P i& Depth 10 1 1 55 M4X0.7P 16 20 M4X0.7P
®25 10 31 79 12 56 M5X0.8P & Depth 12 15 1.5 66 M5X0.8P 20 28 M5X0.8P
®32 10 36 96 15 64 M6X1.0P iR Depth 12 2 2 80 M6X1.0P 24 36 M5X0.8P

| 61 Y



& K1 | 5L
Double Piston Cyliders

FO"RAV® DPC %35l DPC Series

DPCS i@ &45MR R~ DPCS Slide Unit Type Dimensions ®10 ~ ®32

DP

Both Sides / (Through-hole,Counter)
4-F3 B R ELSH bore (Both Sides)

4-F3 &S EMATE IR L
Both Sides

F/IMES (Min.) H1 F1 B Bl E 1R
BA{E25 (Min.)H2 I- . Reed Switch Mounting Rail

A ———1 f D
T
ol o _f H 4 @ of lJI' o1 o o K o~
Of L HY 'LIL Y m z >4 ~
i &
w7 = R 4 &
E1 E1 N1 N
C1+ST LK1
K4 B1+(STx2) Ka
y y 2-N3 I F &l
A+(STx2) Both Sides
N -S (T RRE 1B 4
2-G2 EHEED 2-S 1T A2 A B R
Port Connection Storke Adjustable Screw
o4
— 1 I # il :!L 1 o 3
] | 1 — <! 1
o1 lod -
( BEfi Unit: mm)
#9% Symbol E1( #1772 )
A | B1| B2 B3 C1({C2|C3|D1|D2
£T1Z Tube 1.D. 25 | 50 | 75 | 100 | 125 | 150
D10 68 58 32 #&7L Drilling hole 3.5, #7. ®6, i Depth 3.5 40 46 19 6 22 15 15 15 15 - -
D16 77 65 | 40 #&7L Drilling hole 4.5, #7. ®8, i Depth 4.5 45 58 24 8 25 | 25 |27.5| 30 |325| 35 [47.5
D20 90 75 48 #87L Drilling hole 4.5, #7. ®8, i Depth 4.5 50 68 26 10 28 (27.5| 30 |325| 35 |37.5| 50
®25 95 80 56 #&7L Drilling hole 5.5, #¥#L ©9.5, iR Depth 5.5 55 82 34 12 36 30 (325| 35 [37.5| 40 | 525
D32 110 | 90 72 #7L Drilling hole 5.5, #¥#. 9.5, iR Depth 5.5 60 [ 100 | 40 16 44 (325| 35 |37.5| 40 |425| 55
#F5% Symbol
E2 F1 | F2 F3 G1 G2 H1 | H2
L4 Tube I.D.
D10 #&7L Drilling hole 3.5, #*¥L ®6, & Depth3.5 | 20 | 40 M4X0.7P & Depth10 11.5 | M5 &iE# O Air connection 4 | 25
D16 #7L Drilling hole 4.5, #+7L ®8, i Depth 4.5 |22.5| 51 M4X0.7P & Depth10 12.5 | M5 RiE#O Air connection 4 | 25
®20 #7L Drilling hole 4.5, #7L ®8, & Depth4.5 | 25 | 60 M5X0.8P & Depth10 13 M5 Sgi#E 0 Air connection 5 | 25
25 #7L Drilling hole ®4.5, #7L ®8, i® Depth4.5 |27.5| 72 | M6X1.0P i Depth12 | 14.5 | M5 $giE#EO Air connection | 5 | 25
D32 #7L Drilling hole 5.5, #¥ ©9.5, X Depth 5.5 | 30 | 88 | M8X1.25P iX Depth12 17 PT1/8" iE# 0 Air connection | 5 | 25
%% Symbol
K1 K2 K3 K4 N1 N2 N3 P R S
HI4E Tube |.D.
»10 19 49 10 5 8 40 M3X0.5P 1.5 1.5 M8X1.0PX50L
D16 24 62 12 6 10 52 M4X0.7P 2 2 M10X1.0PX50L
D20 26 72 15 7.5 11 60 M4X0.7P 2 2 M12X1.0PX50L
D25 34 86 15 7.5 15 72 M5X0.8P 2 2 M14X1.5PX50L
D32 40 104 20 10 18 90 M6X1.0P 2 2 M20X1.5PX50L

| 62



FONRAY”

H{RE SRR
Twin—guide Cylinder

FCGB % 5I| FCGB Series

ETE& & Ordering Code
FCGB-03-12 M 50 - BSP

BI5R
Model P
SREL R
Tube 1.D. ARy
M: BiiEEA
=A: NG
Magnet Code
M: Magnet
Blank: Without
Fi% /AR A A magnet
Purpose / Type of bearing
54 R [ BhRFERE
Code Purpose / Type of bearing
03 CEENE T
Stop / Slide bearing
23+ HEHHEL /@ RER R
Push / Linear bush bearing

H LEMERRERM L, AA—REIE, BIA
EMERA,

% Could attach a table for the use as a lifter.

RERRARERX

Installation of sensor switch

\

e

BRI
Sensor switch

| RCE,RCE1

N—FIREAET
Watchmakers
screw driver

B 48 5F

. PTH

BSP: BSP ZF
NPT: NPT ZF
Port thread
Blank: Rc thread
BSP: BSP thread
NPT: NPT thread

458t Features

OB TIEREEANMR, &2
AIRETIEAEE, BAERE
B,

O P M ERIEREEE

OF=TERELEH,

OFEMEEE, REBARIE
B RS ( RLRERIRR ) o

@ Proven track record in manufacturing
precision guided cylinders.

@ Multi-Ports as standard enabling
two direction mounting option.

@ Flush fitting sensors.

@ Inbuilt high density rubber pad
absorbs energy at the end of stroke.

@ £ RF MR, @ Magnetic as standard.

#H1& Specification
EI%% Model FCGB
E4BSM ===
Model o

F Sl

ﬁ%%_spe #&hE Double acting
ﬁ%leﬂ?%@ (mm) 12,16 |20, 25,32,40| 50,63
SIS M5x08 | PT18 | PT1/4
gpﬁ%ﬂﬁssure range 1 ~ 9.9 kgffom?”
E?o}%ofj]pressure 15 kgf/em®
E];;fr%temperature -5C ~ +60C ( A% No freezing )
ﬁi;ﬁrication AE#hih Not required
%ﬁ%ﬁ% With mﬁfﬁ%ﬁn pad
g‘xeﬂfsflfrggwitch RCE, RCE1

ZEHEITIER Table for standard stroke

RIgE g;ﬁ & 1778 Stroke (mm)
Series Beariﬁg JUES
variety type I.D. 110(20|25/30(40(50(75| 100 | 125 | 150 | 175 | 200
12
D16
my | P20 | =
FCGB | #fi&k | $25 | e
-03 Slide ®32*
bearing ®40 [—
D50 —
D63 —
12
ot D16
ﬁiﬁ& 20 f—
FCGB | #& | ®25 —
-23 Linear »32
bush ®40 —
bearing
D50 —
D63 —

*1. FCGB-03 &, #IfE 032 FH&ZEHMIZEITER 25mm,
2. BrhETEE, AARNEZRRZAERNEEFN—248,

*1. FCGB-03-Tube I.D.®32: 25mm for the shortest standard stroke.
2. Please consult us if stroke out of specification.



Twin—guide Cylinder

FO"RAY® FCGB & 3%l FCGB Series

4 gEEF Capacity P12 ~ ©32
T EE R Capacity graph BEFEERE /1% Stop capacity  F FAHETTER Normal lateral load

EPRI% e FIF RO B AT I BE FCGB-03... 172 30mm & FCGB-03... 1752 30mm #&
Capacity for the use as a stopper FCGB-03...30st FCGB-03...30st
\ 300 1000
g e /
z s o/
| AP 1 /
| s = 25 o 500
| B 8 o 2
& E 100} —920 ’\S o L—"1
1 = S \ 2 2
| ™ 616 3 16
’ = N ==
%Iiiﬁiﬁgilﬁﬁﬁmﬁﬂzgﬁﬁ’ FSENN 0 10 20 30 0 02 04 06 08 1
EIEERSR, IR EBI SRR
Lintear bush bearing type is not available as Work carrier speed (m/min) Working pressure (MPa)
a stopper.
v NS L, BRI, HRETRME, W RS W E
| J € & B Z 8% Coefficients for conversion
! =
‘ L FCGB %3l / Series | @12 P16 20 D25 D32
—— W=W'x —
Z 4 40 42 42 42 44
|
i W REHH W EEE, AT LRRENERE —EEREFE
l‘/ W:the maximum weight of the work carrier in the above graph for the stopper's capacity.
HRAEAZ ROREE A ENERE i Eh i A& 2
Capacity for the use as a lifter Slide bearing Slide bearing
EERERARNETROETE (ZEED FCGB-03... 17 10-50mm #& FCGB-03... 172 75-200mm # Oﬁ
S 0.5MPa 155 ) FCGB-03...10-50st FCGB-03...75-200st §
Allowable eccentricity load for the use as — EE
a lifter (at supply pressure 0.5Mpa) % % | o ) ﬁI
@ 632 @ "
HBH_T: 200 ¥ ﬁmﬂﬁ 200 \
*»E 2 M?\ *,E £ L 625
i H RN i >
L(mm) $8 100 16 £ 100 =020 ™~
| T\ g
T : —
< 0 100 200 300 < o 100 200 300
1R BESE {RiD BERE
Eccentric throw (mm) Eccentric throw (mm)

fak Ve AR BR AR B faR Bk A B

Linear bush bearing Linear bush bearing
FCGB-03... 1742 10-50mm & FCGB-03... 1742 75-200mm #&
FCGB-03...10-50st FCGB-03...75-200st
BlR W RRELEENRE, BEBREAR
Lmm &, BEEEEMEENTEER z 3
Show the dynamic allowable value at %’ o :1‘;; SUERS
L(mm) eccentricity from the center of HIBH_O 200 _‘ 575 - 2 00
the guide rod. &g 420 £ AN
% oA 825
:ﬁ; ® 100 :Ik“lE @ 100 —
g2 X en L T
© o \\
< 0 100 200 300 < 0 100 200 300
Rl BB Rl B
Eccentric throw (mm) Eccentric throw (mm)

| 64



FONRAY”

R S5 R B L
Twin-guide Cylinder

FCGB %3l FCGB Series

HEER
Capacity table

BRI EEEE:

Allowable lateral load

\

#
=

EREEBRELBIZNF, RERH
B, PTEERS, EBIRATEERN
BARTE (EEEREEHMOS
HITE ) o

Shows the dynamic allowable
value,when actuating the cylinder
with lateral load W at the guide
rods' top (vertical load against
the guide rods).

BFF e

Allowable rotating torque

(ot
- @T/

EREEBRELBIZN, RER
ERFTREIRE , EENERTELNR
Ki%E

Shows the dynamic allowable
value,when actuating the cylinder
with a rotating torque T at the
guide rods' top.

OERERE -
( HbTimmERIRES )

Anti-roll accuracy

FHO—o=071 13

OULIEEE 0 RILEZEERH LD
HiREREERT

OLIEEE 0 ZREZEIEARGH
BEBER

@ The values are the deflection

angle against the piston rod.

@ Exclusive factor of the guide
rods' deflection.

| 65 Y

1EEZR Capacity 12 ~ $32

(N)
SREL RIS HhRTESE 1742 Stroke (mm)
Tube 1.D. Bearing type 10 | 20 | 25 | 30 | 40 | 50 | 75 | 100 (125|150 (175 | 200
BB
o1z Siide bearing 31 | 24 19 | 16 | 13 | 37 | 31
AR R ER N R
Linear bush bearing 23 | 17 14134 130 | 23 | 19
BB Eh A
16 Sﬁ"debearing 50 | 39 32 | 27 | 24 | 54 | 45
ARIERERE] A
Linear bush bearing 36 | 29 24 | 59 | 52 | 40 | 33
%Sg’;i%jfﬂ?armg 51 44 | 39 | 35 | 54 | 46 | 74 | 66 | 59 | 54
®20
= — 43 36 | 98 | 87 | 69 | 57 | 46 | 40 | 36 | 32
B g 68 59 | 52 |46 | 72 | 61 | 98 | 88 | 79 | 72
®25
e L 67 56 | 148 | 132|105 | 87 | 70 | 62 | 55 | 50
f’;i?’f‘gimg 165 129 [ 106 | 90 | 138|123 | 111 | 101
®32
ﬁ;%fﬁ'fﬂ]’?‘beamg 104 74 | 165 | 138 | 114 | 100 | 90 | 81
(N.m)
SELRIE HhRTERE T#2 Stroke (mm)
Tube I.D. Bearing type 10 | 20 | 25 | 30 | 40 | 50 | 75 [100 | 125|150 | 175 | 200
?Ssﬁ;i%’fﬂ?armg 0.64 | 0.48 0.39 | 0.32 | 0.28 | 0.75 | 0.63
»12
ﬁ&fﬁiﬂﬂﬁeamg 0.47 | 0.35 0.29 | 0.71 |0.62 | 0.4 |0.38
fﬁ’fﬁimg 114 09 0.74 | 0.63 | 0.55 | 1.23 | 1.04
D16
ﬁ%fﬁfiﬂﬁ‘beamg 0.84 | 0.66 054|135 [1.19| 093 | 1.76
gﬁj’eﬂge&amg 1.14 121 [1.07 | 0.95 | 1.49 | 1.25 | 2.03 | 1.81 | 1.63 | 1.48
®20 -
ﬁ&fﬁiﬂf‘beamg 1.19 0.99 | 269 | 2.4 [1.89|1.56 [1.26 | 1.1 |0.98 | 0.88
fﬁﬂfﬁimg 2.19 1.88 | 1.65 | 1.47 | 2.31 | 1.94 | 3.15| 2.8 | 252 23
d25
ﬁfﬁffﬁﬂﬁ‘beaﬁng 2.14 1.79 | 474 | 422 | 3.36 | 2.78 | 2.25 | 1.98 | 1.76 | 1.59
g%i%’j’f‘g?amg 6.61 5.16 | 4.23 | 3.59 | 5.52 | 4.93 | 4.45 | 4.06
®32 -
ﬁﬁfﬁﬁﬁeamg 417 2.95| 6.6 |5.52|4.56|4.02 359|324
SRELNE R FESE TEEFEE Anti-roll accuracy
Tube I.D. Bearing type 9
B EhEA Slide bearing +0.09°
®12
48 MERER SN Linear bush bearing +0.06°
BB @K Slide bearing +0.08°
®16
#RMEEEREH K Linear bush bearing +0.06°
BBhEH& Slide bearing +0.08°
®20
#RMEETREH K Linear bush bearing +0.03°
BNl & Slide bearing +0.07°
®25
4 METREREHK Linear bush bearing +0.05°
B EhER& Slide bearing +0.07°
®32
4 METRERERK Linear bush bearing +0.03°




FONRAY®

FCGB-03/FCGB-23

R R & S R | R T
Twin—guide Cylinder
FCGB %3l FCGB Series

SRR~ Dimensions ®12 ~ ®32

4-MM T ‘ 4-M ‘ T2
T =9 ©
e I S e —— F)
1 Back side
[
© O
E ‘N1 N2
4-D E1 ﬂ» N2
ﬁ[ Orie 1 I N
t I
w| o 777?, 7'”* X 5 [ I ——
B 53 -
R
i@@‘
B1 | B2 | 4PE&i&thru
B 4-P1 s J
K1 |/ L1+ 1772 stroke
L+ 1778 stroke
3% Cod
samio~ | A | B |B1/B2| C|C1 D DD E|E1|F| G H K|K1| L | L1|L2 M
ube I.D.
12 58 126131340 |18 | M4x0.7 M4 x 0.7 x 9 i® dp 48 |14 |22 |41.5| M5x0.8 | 56 | 8 39 29 M4 x 0.7 x 7 i dp
16 64 | 30| 15| 15|42 |22 | M5x0.8 M5x0.8x11 % dp |52 |16 |25 | 46 | M5x0.8 | 62 | 10 | 43 31 M5 x 0.8 x 8 i dp
20 85|36 (17|19 (52|26 | M5x0.8 M5x0.8x13#% dp [ 60|18 |30 | 55 PT 1/8 72 | 10 | 47 35 b3 M5 x 0.8 x 7 i dp
25 96 |42 (21|21 (62|32 | M6x1.0 M6x1.0x15% dp [ 70|26 | 38 | 65 PT 1/8 86 | 10 |47.5|35.5 M6 x 1.0x 9 i® dp
32 116| 51 [ 26 [ 25|80 | 38 | M8x1.25 | M8x1.25x 18K dp | 96 | 30 | 48 | 80 PT1/8 |112| 12 |47.5|33.5 M8 x 1.25x 11 i dp
2 Code Q
MM N |N1| N2 P P1 Q1| S| T |T1|{T2|{V | W | X Y
A& Tube 1.D. FCGB-03 | FCGB-23
12 M5 x 0.8 x 10 i dp 23| 5 20 4.3 D8 x 4.5 K dp 8 6 6 2 50 | 12 12 11 15 85 | 195
16 M5x0.8x10iRdp | 24| 5 | 22 | ®43 | v8x4.5F dp 10 8 8|2 |sa|11] 13|11 ] 17| 10] 23
20 M6 x1.0x 12 i® dp 28 (19| 16 5.3 | ©9.5x5.5F dp 12 10 10 2 64 | 11 14 12 23 [(11.5(24.5
25 M6 x 1.0x 12 iR dp 3422|125 ®5.3 | ¥9.5x5.5 & dp 16 13 12 2 76 | 12 [135| 11 |23.5(13.5| 24
32 M8x1.25x 16K dp |42 |22 [14.5| 6.6 | P11x6.5K dp 20 16 16 2 [100| 12 | 165|115 | 25 16 31
L2 R~} / Dimensions list
Ryt 1742 Stroke (mm) Popd 17#2 Stroke (mm)
Tube I.D. 10|20 (25|30 |40 |50 | 75 | 100 | 125 | 150 | 175 | 200 Tube I.D. | 10|20 25|30 |40 |50 | 75 | 100 | 125 | 150 | 175 | 200
12 oo o|lo|o|18]18 12 oo o [14[1a] 14 14
16 ofo 0 21 [ 21 16 oo 0212121 21
20 0 o|lo|o|14]14]31|31]31]3t 20 0 0|27|27|27 |27 |50 |50 50| 50
25 0 0 14 [ 14 [ 31 [ 31 [ 31 | 31 25 2 23535353550 50] 50 50
32 20(20(20|20[ 20 |20 |42 | 42| 42| 42 32 8|8|8|8|42|42|55|55]55]55

ET i

(2)
=
=]
o
()
=

FCGB



B R & 8§55 R 5L
Twin-guide Cylinder
FCGB %%l FCGB Series

SV R~ Dimensions ®40 ~ ©63

FONRAY”

FCGB-03/FCGB-23

4-YY i® depth YL

2-XX EB TiER
[ T groove size
SIRG) g ol
| T
XB &y
L x 2 2
XA(HT) 3
= - - ><’l
® o—o | |
< | - | -
= 1T T #&R-T T groove size
3
x R
WB Tube I.D. & b © d ©
XXFE4H
R NY | N2 40 6.5 |10.5| 55 4 11
' 50 85 |135| 75 | 45 (13.5
B 63 11 [17.8] 10 | 7 |185
Back side
4-D N1 N2 4-M 4-DD
) _
YL = S E——
— | —
f\d% © §
N ' «
<
o
+H — @
<|w| o] X 9 + R —————|—- 2o
‘t : : 2
——0 o
; ‘ ! i -
B ] GE L2
F 2-P
K1|S|GA
PA+st. B
L1+st.
L+st.
3% Code
. A (B(B1|B2| C D DD E [E1|F | G |GA|GB|GC|H | K |K1|L1 M
M1E Tube |.D.
40 12054 [ 27 | 27 [106 | M8x 1.25 | M8x 1.25x20 K dp | 104 |30 |44 |86 | 14 | 10 | 14 | 40 [118]| 12| 44 | ©6.6 Eif thru, ®11x 7.5 dp, ¥l hole
50 14864 (32|32 [130| M10x 1.5 | M10x1.5x22 K dp [130| 40|60 [110| 14 | 11 | 12 | 46 [146| 16 | 44 | 8.6 Ei& thru, ®14x 9 iR dp, L hole
63 16278 (39 39 [142| M10x1.5 | M10x1.5x22 K dp | 130 | 50 | 70 (124 [16.5(13.5|16.5| 58 | 158 | 16 | 49 | ®8.6 Eif thru, ®14x 9 iR dp, ML hole
5% Code N2 WB
) N1 P [PA|PB|Q1|S |VB|W|X|XA"|XB[XC|XL| YY |[YL rrre prv
A€ Tube I.D. 25st | 50,75,100st LIE above 25st | 50,75,100st I above
40 22 | PT1/8 |13 | 18 [ 16| 10| 72 | 38 | 50 45| 3 M8x1.25 | 16 | 24 48 124 34 46 84
50 24 | PT1/4 | 9 |215[20 |12 | 92 | 47 | 66 6 | 4 M10x1.5 | 20 | 24 48 124 36 48 86
63 24 | PT1/4 |14 | 28 |20 | 12 [110| 55 | 80 6 | 4 M10x1.5 | 20 | 28 52 128 38 50 88
[ 4 %4
Code L L2 Q Code L L2 Q
R1E 50st 50st S 100st 100st
Tube1o. \| 25,508t | 1o PP o | 25,50t |y 50 Tube10. \| 25,508t | 75,1008t | ) 1250 | 25,50t | 75,1008t | 1y | oo o
40 97 102 31 36 D20 40 81 98 118 15 32 52 P16
50 106.5 118 34.5 46 D25 50 93 114 134 21 42 62 20
63 106.5 118 29.5 41 25 63 93 114 134 16 37 57 20

| 67



FONRAY®

FGT*

88 {8 5|’ 51
Twin-guide Cylinders
3%l FGT* Series

B BE RS

FGTK Light duty type
BB EhARGEE Y

FGTX Light duty flange type
BB R E AR

FGTB Heavy duty (bush) type
LR R AR B

FGTU Heavy duty (linear bearing)
type

STEE TS Ordering Code

FGTB-40 M 1

00 - RP

1772
Stroke
GARES
moE Tube I.D. IR

Model

AR
| M: Bii#EHE
=H: AN

M: Magnet
Blank: With
| magnet

wa

Magnet Code

out

Rear flange coupling

RP

RP: Bit{% 3 1818
RP: With rear
flange coupling

$:58F Features

O HIRERRAEEIERFBEETR, ATE
WwEZ R, HARAREHNEES,

O & SMERFTZBE, BERRE
RORERE, BAEHEE,

@ ERHT —EME R RE,

@ EIRET FGTB (U)(X) — 2 i ik BY7IER
REE,

@ BiRATEEI AR ERR ZITIRRE
KZHEIIEAT A,

® ® 32 ~ ¢ 63 mELEFAIENKXREFE,
& M E SR EHEN R R AR R B T8,
TRERERTEREERERARENE,

® £ R 5P HEL,

##& Specification

@ The guide units can be assembled to

cylinders that then conform to 1ISO6432.

@ Anti rotation guaranteed by use of
external guide rods.

@ Four self lube bushes or linear bearings
enable high loadings and consistent
movement.

® Simple to install by universal mounting
holes.

@ For ®32 ~ 963 FGTB/U/X is standard
with adjustable cushion.

@ Flush fitting reed switch.

® Magnetic as standard.

EI5E Model

FGTB,FGTU

FGTK

FGTX

SRELE

Tube 1.D.(mm) 20

25

32 40 50 63

BEORRT

Port size G1/8

G 1/8 G 1/4 G 3/8

TR

The range of stroke (mm)

kBT FE=T#l Stroke by request

1 e
Medium

=& Air

1R S E
Operating pressure range

2 ~ 7 kgflem?

FEERE
Ambient temperature

-5 ~ +60C ( A% No freezing )

St
455 Cylinder

AEE 4R No required

Lubrication | 42
Guide

& AE Lubricating grease

RELFERARA

Sensor switch RD-201

RCI

BA20 | BA2

1 B B B 2 JEE

5 -

Sensor switch holder BGS20

BGS25 -

¥ AR ERFLESRTEEE, EmERERERS®.
% Periodically refill of the lubricating grease is required to enhance the lubricative grade and its lifetime.

BLFEBARA Sensor switch
EI%E Model RD-201 RNA
FARAEI K B R
Switch type Reed switch NPN Current sinking
& BB E
Voltage range 5 ~ 220V DC/AC 5 ~ 30V DC
gﬁiﬁﬁ 100mA max. 200mA max.
i & {E
Shock resistance 30G 50G
ZigE Model RCI RNI RPI
I3t SRR, R
FIRAE i
Switch type Reed switch NPS'}lnEiﬁgent Pr:gu%r:;em
{3 B REEE
Vo,taje B 5 ~ 220V DC/AC 10 ~ 30V DC
EREREE
Curre?t [rLange 100mA max.
i} 87 B B
Shock resistance 30G 50G
RCI 2473 Mounting
A
.

B
B
&L

(2]
=
=]
o
(1)
=




FONRAY”

Hean @ (&imEhal Oilless bush guide)

S0 RREI

Twin-guide Cylinders
FGT* &%l FGT* Series

SEL R Tube 1.D. d20,D25

5nER R ~F Dimensions $20,$25

~
{— | 7@ @ 1 ‘
> 7,7,1» fffffffffffffff P ——- —| T o
— 1A Q ]
— 1 1 ‘
K| 325 8-M
c
4N
L Oilerx2
531 .
1 1—1—1 | oo || O]
- 4-V | L@E _
—t-— O ————————————— — -—-tTx % \Y!L -ﬂu.m<
\ o
. ' J )
I e—— - pe=5Y I
12 I E1 I
L1+1T42 stroke B
L+477% stroke
3% Code
AAMB|B1I|C|E(E1|F|FI{G|H|J |K|L|L1 M N|R|S \" V1 W
M1E Tube 1.D.
20 8278|3834 (50| 68|20(|40|26(19|38|8.5| 5 |85 |88 |M6(iED)11| M5 | 58 | 10| 5.5, ©9.5(RD)5.4 | P65, P10.5(iF D)6.5 | 65
25 82 (78|38 |34|50|68|20|40(26(|19|38 85| 5 |85(89|mMe(mD)11| M5 | 58 [ 10| ©55, ©9.5(iFE D)5.4 | 96,5, B10.5(iF D)6.5 | 65
EERITERER Maximum allowable torque moment
BAXBF AT Max.allowable load
FGTK SRR 1E FGTK ®20,$25
L 1742 stroke 200
T - < 150
=H——— Hhpeel |
\ /1
\ //{: g 100 [N
——————— +— K 3
/ \\\1 N
1w /W #HHEH 50 ~<
=H === —
50 100 150 200 250 300 350 400 450

1772 stroke mm



&5 W B L
Twin—guide Cylinders

FONRAY FGT* %5l FOT* Serios

4p#H R~ Dimensions ®20,25

(BEWME - BRASE) (BHERTRER )

( Brass bush guide ) ( Linear bearing guide )

SELATE Tube 1.D. ©20,P25

] o o
7] > #U I

| 325 ’ -

C
U K 2-V1 4-N
l
H B '
— ST I | = [Fe?

sEim7FL Oilerx2 J 12 | E1 ‘
L1+47%E stroke w B
; R
L+4T42 stroke <
g&
% Code 2 ﬁI
’ A|/AM|B(B1|C |E|E1|F |F1|G|(H|J [K| L |L1 M N/ R|S|U v V1 w
7% Tube 1.D.
20 82|78(38| 34 (100{68 (20|40 (26(19|38|8.5[15|135(88|M6( X D)11|M5| 58 | 10|50 | ®5.5, ®9.5( & D)5.4 |#6.5, ®10.5( K D)6.5| 65
25 82|78 (38|34 [100(68 (20|40 (26(19|38|8.5[15|135(89 |M6( X D)11|M5| 58 | 10 |50 | ®5.5, ®9.5( & D)5.4 |96.5, ®10.5( K D)6.5| 65

2SR AT E B & Maximum allowable torque moment
B AXAF AT Max.allowable load
FGTB.FGTU &N FGTB.FGTU ®20,d25

500
L 1T#2 stroke
400
e .
N/ 300
N
\ /}
[ N SR [ (S SR T VAR T o
//(\ ! b \
/N 9 200
w A i
e e e .
L] 3 T 0 AN
\
|

100 200 300 400 500 600
1772 stroke mm

| 70 Y



SRR E
Twin-guide Cylinders

FONRAY FGT* X35l FOT* Series

A ERRIZRZEE Installation of sensor switch ®20,$25

FYFEBARE : RD-201 Sensor switch: RD-201
BLHEREBERAY . PN Sensor switch band : PN

3 Code
F4E Tube 1.D.

T o [ | = ¢

25 355 | 545 18 26 [] ]
ey S | 2 2N I

% N2

© © |

© | ©

B —— 0 |
- -
’
Py RS s W i
~INA =7 o o

ELFERBA: RD-201 Sensor switch: RD-201
B FERARA k&% . BGS** Sensor switch band : BGS**

amb~| A |B|C|D|E e ©
PIFE Tube |.D. ] Ll
20 25 44 | 18 | 33 | 26 L
25 255 |445)|185(335| 26 e 957,7,4 ﬁ4
4+ ‘ i
E=——= ¢
i .
’_Q, E
NI e
I === TR
~ N — ° o

RELFEBARBE : RCM Sensor switch: RCM
RLFER BSR4 . BM** Sensor switch band : BM**

E==== e 1
Vq@Tubecwe A B c D E _J]
20 22 41 10 16 28 =@H e — @ﬁ* -
25 25 44 | 10 | 16 | 28 = ©
E===3 e ‘
_D_
} C| E
Nl 1. = ]
O B,




&5 W B L
Twin—guide Cylinders

FONRAY FGT* %5l FOT* Serios

4 R~ Dimensions ®32
(EEEAR - SAHEE) ( 4R RTREN A )

( Brass bush guide ) ( Linear bearing guide )

S|EL 1T Tube I.D. P32

] 00 60
T— - gl
i i
‘I <$Q} SO ||
120
98+1742 stroke ‘ 72
12-¢6% A,L«EJ 16-M6(Rdp)12 4-$6.5,¢ 10.5(Fdp)6.5
\ =18 ]
U0 —
| - - b
— —— g s | [0©d
R cReRe
N s i ° é%
S| B | [oo s
I ity E— -4
© ! S ® o
In, i | 1 |
I — ¥ p—— — Y W
g i :«% @ BW
Ll Ll 1 1
“Ei7L Oilerx 2 8\ L 325 |
32.5 \ 15 50
67 1 14 2-¢9, ¢ 14(Fdp)5
179+4T#E stroke

B AT EE R Maximum allowable torque moment
B AKX R A& Max.allowable load
FGTB.FGTU EH A& FGTB.FGTU ®32

J9puljho

BFERIRR%E © 32 ~ ©63

Installation of sensor switch

LL
-
- NPT
VAN Watchmakers
LW screw driver
0
[E| 72 BB A%
600 HipEpaRg  Set screw
= Sensor switch
RCI
E 500 TN
[0}
X
[e] 400
=
¥ \
B 300 \
1=
A \
200 \
100
~_
100 200 300 400 500 600 700
fi'= Load N



FONRAY”

(EBE* - SREEE)

AL ( Brass bush guide )

L FUR R R
Twin-guide Cylinders
FGT* &%l FGT* Series

K|ELAE Tube 1.D. 40

¢ 16

4MER R~ Dimensions ®40

( REFRERENA )

( Linear bearing guide )

: o6 60
L b6 bof—1
[ & b
135
109+1772 stroke ‘ 76
14-¢ 6" J»ﬁ 16-M6 (Rdp)12 4-¢$6.5, $10.5(Rdp)6.5
19
4 4 L 1 L
IR \ 1 l
(NS L. P
——— S L e | SR X
’ T
’ 629
| @@ ,,,,,,,,,,, % }C‘ [ T IP-Y e A= BN o ,,?7, _ Il o o | @
- N 8 ©| ol & 1 ! —| ®| o T
| H & o
‘ © @ 0
& [P L
‘iT:. 4 ',‘ N '/’ N
E— S i e el R
iy i ;
FE#FL Oilerx 2 8 .3 |
38 15 56
77 | 14\ 2-49 614(Rdp)5
193+4T#2 stroke
B2 R ETERE R Maximum allowable torque moment
B RXAF &R Max.allowable load
FGTB.FGTU E&LA{E FGTB.FGTU ®40
600
\
17#2 stroke 500 \\
- £
__________ i — £ 400 \\
N Q \
/1 v \
7777777 B N 1 V2 I O VA T - I \
\\\ } [)] \\
w wh b |
,,,,,,,,,, — 1 F e 200 N
T~
100 \\\
\\\
100 200 300 400 500 600 700 800 900
& Load N



&5 W B L
Twin—guide Cylinders

®
FO"RAY FGT* &5l FGT* Series
41 R~ Dimensions ®50,963

( Brass bush guide ) ( Linear bearing guide )

K ELAFE Tube 1.D. 50,063

‘
16- D" Ji__ 16N 4v

LRI ! i
T — - Wherd 1
| o0 o

| © ©

00

) |
O 00

) 00

!
]

¢S
\
|
|
|
|
\
|
|
|
3
=4
e
=i
|
|
©
O

ML Oilerx 2 /f F T F ‘ (@)
T <R
U | B SHE
L+1T%2 stroke g.
&L
&% Code ﬂ
Bl A|A1|B|B1|C|[D|E|F |[G|H|J|K|L]|LI N R|sS|T|uU v
50 141(135| 70 | 65 |150| 6 [100| 465 | 23 | 85 |7.5| 19 | 215|110 | M8(&E D)14 [104| 20 | 20 | 81 | ®9, ®14( iR D)8.5
63 156 (150 | 80 | 75 |165| 6 [105| 56.5 | 28 |[100| 5 | 19 | 230|125 | M8(i&E D)14 [119| 20 | 20 | 96 | ®9, ®14( iR D)8.5

EERA G ERE R Maximum allowable torque moment
BAXEFF &7 Max.allowable load
FGTB.FGTU R& A& FGTB.FGTU $©50,963

600 \\

500

L 1712 stroke 400

N ~

b 63

300

¢50

i
I
\
|
|
|
\
T
|
|
\
1742 siroke mm
-

200 s

\ ———
// \ \
PN

w W 100 =

100 200 300 400 500 600 700 800 900
firE= Load N



FONRAY”

L FUR R R
Twin-guide Cylinders
FGT* &%l FGT* Series

(=B EIEZ Flange type )
SE RTE Tube I.D. d32

98+1T%2 stroke 15

4M R~ Dimensions $32

55 4-$6.5, $10.5(Rdp)6.5
4-46.6
S
‘[ /L . 4-M6 (Fdp)12
___—,:_'r:::—— é @@;
2'¢6H7

[
ﬁ}
!
@_
|
1A
325
78
116
130

135.5+4T#2 stroke

— ? ey
,¥:};} o TQ:} I8
|
[ i
‘ |
&0
15 ‘ 325
45
50

EiZR AT EE R Maximum allowable torque moment

B AEIHAT Max.allowable load
FGTX REAE FGTX P32

L . %7%8 stroke _

250

200

150 N
3 N
o N
}}TI}II{ 100
*E \\\‘

50 ““‘

50 100 150 200 250 300 350 400 450

17%2 stroke mm

BRERRARE ©32 ~ ©63

Installation of sensor switch

NIRRT
Watchmakers
screw driver

EIE 24

Set screw
EAERR
Sensor switch AN

RCI




&5 W B L
Twin-guide Cylinders

FONRAY FGT* %5l FOT* Serios

4MEH R~F Dimensions ®40 ~ ©63

He31p @ (EFHEIEE Flange type)
SELRE Tube 1.D. ® 40 ~ ® 60

L1+1T#E stroke K w 40P
4-v
______ ( !
g @%|¢
! 4-N
| P N L
8 S O N SN ESNSN == IS a ‘;@ i
1 ’ N ’
P hN i ~T- H7
J | 4-¢D

®S

|

|

|

I

|

I

i

|

I

|

|

I

i
1 1
bl

|

|

T
\ /r
1

\\_ ‘l

J T |
L+{T#2 stroke B1
B
R
5B
& &l
a2 A A1 B |BI|D|E|F|G|H|J|K|L|LI1 N PIR|S|T]|uU v w
40 160(115| 55 [ 54 | 6 | 84 | 38 | 19 [140| 32 | 15 (148|109 | M6(® D)12 | ®9 | 87 | 16 | 15 | 115| ®6.5, ®10.5(K D)6.5 | 61
50 180|135| 70 | 65 | 6 | 100 (46.5( 23 [160| 36 | 20 | 170|110 | M8(#® D)14 | ®9 (104 | 20 | 20 (136 | P9, P14( K D)8.5 74
63 195(150| 80 | 75 | 6 | 105 |56.5| 28 [175| 36 | 20 [170|125| M8(#& D)16 | ®9 [119| 20 | 20 | 151 P9, ®14( K D)8.5 74

2R AT EE % Maximum allowable torque moment
B AKEZH AT Max.allowable load

FGTX A PTE FGTX® 40 ~ ® 60 300
250
L 1742 stroke d50/0 65
z 200
— — N
u ¢ 40
=S =t | <
| / g 150 \ \\
\\‘ / | \ \
_______ S I I U VA R i - N
FA T ~
7\ t \\ S~
- w WY \\\\\\
=S === s ==

50 100 150 200 250 300 350 400 450

1T#2 stroke mm

| 76



FONRAY”

L FUR R R
Twin-guide Cylinders
FGT* &%l FGT* Series

% X181} Rear flange coupling ©20,925

Hel g FEATE Tube I.D. 20,0 25
31 19
12 ’ 12

— 'i"""'l i B
IonEn S G B T !
28—t Okt i-
! ! ! h:::::il.:—————‘:;i ! i
L — |
1 i L |
N — i I J

FGTB JqID) FELARR Tube I1.D. $20,0 25
31 19

B2 R AT EE % Maximum allowable torque moment

78
58

N

B Ea TR Max.allowable load

FGTB.FGTU
UEE 2 AL R RIBIH M | ko BN, MITRTELHRMS

Inflection of guide stems is due to their weight summed to the load of 1kg. related to the stroke.

12

8+1T1E stroke

EM: BREREE (MAMXRRFREY)
Building material: aluminium alloy
2 Clamps screws are included in the supply

600

I -~

P 500 /[ / —
L 172 stroke £ ]/ T
E wo|l /LT ~
— o) i ! 620,625
H e o X ®32
= H g A7 640
N
7777777 VL i S R w200 a 50,663
| >\\“.:","",,)’\:“'J‘P;‘ & 0o
: H —_____ ." :"/“(‘gn: |
L 05 1 15 2 25 3 35 4 45 5 55 6 65
REE Infelection mm
EE R Weight of the guide cylinder
HESS 1742 Stroke 25 mm HESS 1742 Stroke 25 mm HEESS 1742 Stroke 25 mm

Basic weight HinEE Basic weight HinEE Basic weight HnEE
SREL AR g
Tube I.D.
FGTK( i#Bh#l%& — B &4 %l Oilless bush guide ) | FGTB( i#8hé& — & & Brass bush guide ) | FGTU( 4R Ek#E & Linear bushing guide )
20 0.690 0.050 1.090 0.050 0.967 0.050
25 0.716 0.058 1.137 0.058 1.015 0.058




SRR B

Twin—guide Cylinders

FGT* &3l FGT* Series

% %1} Rear flange coupling ®32 ~ ®63

Tube I.D. $32 ~ ®63

&

=

AL

FONRAY®

I 4

Cylinder

0.100
0.159
0.240
0.250

1.274
2.082
4.221

FGTX( i&Eh#ii7& — 04 & Brass bush guide )
3.440

0.100
0.159
0.240
0.250

1.918
3.113
5.162

FGTU( 43 M4& Tk E#H& Linear bushing guide )
6.390

0.100
0.159
0.240
0.250

2.060
3.423
5.584

FGTB( i& 8l — $f& & Brass bush guide )
6.816

£
£
rs
, , S|
e R e ey -
i 7 | B Lo _ P > SR
r_II__wll-IIII_ IIIIIII [ —I_IIII—III—II_L r_|IAII1III—lIIIIII—IIIIIII_|III_|I#II4L \)\ a @ Mﬂ
N e S g £ B
b b Sreser | 1 , 23 €
Ld e 7 E 2
I = <A R o kB
IR N | X5
“ Dol O O P S 5 S , g -
_quTnn.T::_::L:L\:. 11111 oinininininie Y S B LIJ.:_:..-_ = m m 18 S
I | A gEs i 2
rl_l_'_ I | ! _ 1 S o ﬁ.w
wos w3
Gse &
oo © <
o e o8&
< £ E = ——
[ - 08 IS
@ ”M.m o 0 ¥
o Mo o Qe
& om
+ ¥ ° =
8 m %m.ﬂs
% =
o
ok
a P
Ql o
8 o'
@ © :
Q0 " 0|0
=] [CRPNIEARNE:S
= NIk
B olalo| O |
A8 e N~ . [e0]
g ] + [=w A S A =
ERRTI B = S < |e8
& | | | wlglglsle| © |58
D — - o |a
_ { olelele] 2 _,zm
_ [= N = R R R =1
> [T N — | w
! nwliolo|lo
Mw G% Od|a|a|c < .
/ b ___E_ =
o w|x|5(3(2 O |82
8 ] < |ws
()] ]
v v <|s|2|sl8| S
_m = m
(O] (. g
L H E I .____“ Wm
3o F|oB|© EE_ H2
5 =
: Wl =

32
40
50
63




FONRAY”

R L
Rodless Cylinder

FPRCL* &3l FPRCL* Series

4%:BE Features

O fiE =M 50%
075 3 AR S i & wfLiRiE
© £ R 51| 4 M wg

@ Equal forces on both ends of the piston.

@ High cantilever and direct loads can be taken on piston.
@ Multi ported endcaps as standard.

@ Self guiding.

@ High temperature seals available as a standard option.
® Many mounting options available.

3 #& Specification

FU5E Model

FPRCL

FPRCLF

1EBN
Acting type

HENE

Double acting

HEHE

Double acting

SRELRIE
Tube I.D. (mm) 1611125

32,40 | 16 | 25 | 32,40,50 | 63

B &R M5

Port size G1/s

G1/4 | M5 | G1/8 G1/4 G3/8

BREO#
No.of port

3

{ERmE
Medium

=4 Air

EREAEE

Operating pressure range

1 ~ 7.8 kgf/cm®

FERE

Ambient temperature

-15C ~ +80C ( A%k No freezing )

A5
At #AME AN E £A M T With or Without lubrication

Lubrication

BEEEE

Cushion

inEEAT SR 42 & With adjustable cushion at both ends

ITizEEE

®16:100 ~ 3300 mm

Stroke range ( %1 )

®25 ~ 63:100 ~ 5600 mm

X FER
Seﬂfsfrﬁﬂwitch RCAL
2K e B A [ E R L

Sensor switch holder

® 50% Space saving when compared to conventional cylinders.

@ Reed switches available.

@ Magnetic as standard.

@ Simple construction enables rapid servicing of cylinder.

@ Slow speed grease available as option to enable very slow

51 FTREAEHEN 1mm,
*2: AREEFTLEHN, BRKRILF—EZRFE.
FAERERHER, BEBaRZlsEE,

% 1: Minimum stroke unit 1mm.
%2: The tube isn't airtight, so the cylinder is allowed little leakage.

and smooth piston movement.

TEER 5 Ordering Code

FPROL

- 90V -

25 M 0850

L

il X HEZHIER
Model Type Piston seals
FPRCL - e & S
BRI RS || CEREERE
] Exmn for piston speeds
Long piston V=1mis)
98 | type
(3 A Only for VITON
FPRCL) v (EREERE
FPRCLF — for piston speeds
V> 1m/s)
| /

Before the cylinder is sale, it has passed the standard of leakage test.

HEA AR

M: Bii#EA
=8 AHEA
Magnet Code
M: Magnet
Blank: Without
magnet

1758
Stroke

SELRR
Tube I.D.
— (4 %% Four
16 codes)
25
32
40
O & A For
63 FPRCLF

100 ~ 5600mm

-5 - 242

RHEA
Accessory

B
Grease lubrication
EHEH
- Standard
grease

{RiEiH
S | Slow motion
grease

X i AR
@ 1ZHiH
NBR Z#I&: 0.2m/s <V <1m/s
VITON ZHEE: 1 m/s<V
® {KiEim
NBR Z#IR: V<0.2m/s
VITON Z#IR: V<0.2m/s
% Speed range for the different greases:
@ Standard grease:
NBR piston seals: 0.2 m/s < V < 1m/s
VITON piston seals: 1 m/s <V
® Slow motion grease:
NBR piston seals: V < 0.2 m/s
VITON piston seals: V < 0.2 m/s




3R L
Rodless Cylinder

FPRCL* &%l FPRCL* Series
YER 1K F1%E Capacity ©16 ~ ©63

FONRAY®

Hv

E3(# Guiding axle

RS Piston axle y ’

FPRCL
T BRIERS J— BAEHAR BAEE M NI BAEHHE
Cylinder Effect force Cushion (mm) Max. allowed Max. allowed Max.allowed
at 6 bar (N) load (N) bending moment (Nm) torque (Nm)
® y F S L Ma Efi[5] axial Mr €[] radial Mv Hi:x central
16 9 110 15 120 4 0.3 0.5
16L 9 110 15 120 5) 0.4 0.6
25 14 250 21 300 15 1.0 3.0
25L 14 250 21 300 20 1.5 6.0
32 18 420 26 450 30 2.0 4.5
32L 18 420 26 450 60 3.5 10.0
40 23 640 32 750 60 4.0 8.0
40L 23 640 32 750 130 7.0 20.0
® 16L ~ 40L: RiEZEA!, B 98 BN, WANEMAEKR, H ® 16L ~ 40L: cylinder with long piston for heavy bending, torque
Rk, EERENES. moments and vertical movement.
O tETHEEESEAE, HERKESEKESH 6bar, {E ® The figures above are max. values based on light shock free duty o
PR V < 0.2m/s 2408, and speed‘ of V < 0.2m/s. Max. pressure 6 ba.r. o)
® EIAERIEYR T EREHE, HEERE FREne, [ ] /:‘nnoz(:rizdlrrlwgsc;fotgz ligzseén dynamic operations, even for short &
® iR MR —ERERMERER, LERAEEERLS [ ] Attention:‘ResuIting forces could lead to extreme exceedings of 8 %
PEA 10-20% BIRERZE the values. In case of undefinable situations the above max. gﬁ
-~ O,
FPRCLF values have to be reduced by 10 ~ 20%. <=ﬁ[
=]
o BRIERS P BAEFAN BAEHE S BAHEE &
Cylinder Effect force Cushion (mm) Max. allowed Max. allowed Max.allowed =
at 6 bar (N) load (N) bending moment (Nm) torque (Nm)
® y F S L Ma &fi[5] axial Mr 1€[5] radial Mv s central
16 9 110 15 120 4 0.45 0.5
25 14 250 21 300 15 1.5 3.0
32 18 420 26 450 30 3.0 4.5
40 23 640 32 750 60 6.0 8.0
50 28 1000 32 1200 115 10.0 15.0
63 36 1550 40 1650 200 12.0 24.0

@ FRZHEEBHEKE, HIERKSESRKES 6bar, 1
FEE V < 0.2m/s Ziki.

® EENERERA TR ERENE, HEEBB ERFERE,

@ TE: MR—ERERNEAERE, LRRAEEERLFE
B4R 10-20% IAFER R &,

@ The figures above are max. values based on light shock free duty
and speed of V < 0.2m/s. Max. pressure 6 bar.

@ An exceeding of the values in dynamic operations, even for short
moments, has to be avoided.

@ Attention: Resulting forces could lead to extreme exceedings of
the values. In case of undefinable situations the above max.
values have to be reduced by 10 ~ 20%.

= : .
EE % Cylinder weight Wit Unit: g
z HAEE Basic weight |4 100 mm 4742 ( Stroke100 mm ) o H A E 2 Basic weight |4 100 mm 72 ( Stroke100 mm )
&k Model FPRCL FPRCL 2k Model FPRCL FPRCL
i i
Tube I.D. Tube 1.D.

16 16 230

25 25 710 294

D32 D32 1,150 379

D40 ®40 2,700 594

D50 4,000 648




AR L
Rodless Cylinder

FO"RAY® FPRCL* 35| FPRCL* Series

HEEEFR Capacity @16 ~ 63

#2 &8k A1 Cushioning diagram

10

g

E

; 3 NN NN WL

NSNS

Q. N

w ‘s \\ N \

s \\\\Q i it ~

E \ \\gj\ \\\b\d

o s ™ ™~ \\\\‘?\

LR ~ QEERNASAN

W NN N

‘E#@[ 0.2 \ N ™ %

e

OloT 02030405 1T 2 3 4 5 10 00 7000
@@ E Cushioning mass (kg)

HEBETIIEE: Pay attention to the following points
O B INAEERE S1#BIB FRESHIMMEEEFR. @ If the limits above are exceeded additional shock absorbers are necessary.
O EiEEREE V < 0.1m/s TfE ARIFMBH, FNFTERHZAKIEH, @ For piston speeds < 0.2 m/s slow speed lubrication is necessary.
O EEEEKRBIB 1m/s BIERENERASZS, ® Maximun seal life will be achieved when piston speeds do not exceed 1 m/s.

SRELEERLE Positioning of cylinder mountings

2000
E___é?*__--_---\
g 1500/—
= 30 1 __
= F \
8 1000[— Y N
| =___]40 _ | _
== === =
C___Jd6 _ | \\
= k\\ [~ | Deflection 1 mm

1000 2000 3000

F #5[E R Distances free of mounting L (mm)

wW

L

EL Diagram information
O HERIZMEEEE 05 ~ 1 mm EER, RFBHEBRE, @ Calculated deflections without support of 0.5-1 mm allow exceeding of
ORI ZIREEELE1 ~ 1.5mm (BXE) €ER, ERIKREBRE, the approved limits.

@ Calculated deflections without support of > 1- max.1.5 mm require
reduction of approved limits.

| 31 Y



BEAREL

FO" RAV N FPRCL* Z 5l FPROL* Serioe

5MERR~F Dimensions ©16 ~ ®40

(A+ 1772 stroke) £0.5

B +1T#& stroke D B C ‘

L2
E
) F
2-MX N & depth ‘ K ‘ A L
=il | ! | l- ! ’
MU0 Y. L
wmem 0 © e Ve |
Cushion screw
RE A ' &
View - e SR
N__G
ERO
o Air connections
#HE (View) A: D16 ~ 32 5 E (View) A: D40
| R -—
.S T
u
. [» Q
s T N
— o
. Sin . :
o y N
< ® YNi o/
N
2 » = AERL -
Ko 1 2 > Mé; o~ Piston center =
S ‘ 2 =
EERD 1| = \\7 z A
’Piston center o L 1 o
N N 5
N e —~ VH \ 1]
4-M1 X Ni& depth : Wh 3G t 3-G (7] #
- ERO e WH ) ERO ® *E
90 gg%ﬁ / T Air connections 4-M1 XN iR depth Air connections (@)
ype o Qu
8% Code >S5
1918 Tubo 1D, A B C D E F G H J K L L1 L2 M M1 N o P P1 o
16 130 12 15 76 64 48 M5 12 5.5 32 - - - M4 | M3 7 6 43.5 | 42.3 2
25 200 17 23 120 | 100 | 80 G1/8 | 185 | 85 50 6 7 100 | M5 | M5 11 13 66 58
32 250 | 23 27 150 | 110 | 90 G1/4 22 | 105 | 55 6 7 130 | M6 | M6 14 12 86 82
40 300 | 45 30 150 | 110 | 90 G1/4 24 15 55 6 7 130 | M6 | M6 15 12 97 93
3% Code
H1E Tube 1D, Q R S T U VH VS WH WS w1 W2 Y Z1 Z2 Z3
16 25x24.5 27 18 4 10 18 18 27 27 13.5 9 4.5 37.5 24 28.8
25 36 x 36 35 23 5 15 27 27 40 40 20 13.5 6.5 53 33 38.8
32 48 x 52 4 27 6 18 36 40 52 56 30 22 8 74 44 53.5
40 58 x 58 41 28 6 18 54 54 72 69 36 27 9 85 49 58.2
o
98 &5 / Type
3% Code
& Tube 1D, A B C D E F G H J K L L1 L2 M M1 N o P P1
16L 180 | 37 15 76 64 48 M5 12 5.5 32 - - - M4 | M3 7 6 43.5 | 42.3
25L 300 | 67 23 120 | 100 | 80 G1/8 | 185 | 85 50 6 7 100 | M5 | M5 11 8 66 58
32L 400 23 27 300 | 240 180 G1/4 22 10.5 | 120 - - - M6 M6 14 12 86 82
40L 500 | 70 30 | 300 [ 240 | 180 G1/4 24 15 120 - - - M6 | M6 15 12 97 93
3% Code
191 Tube 1D, Q R S T U VH VS WH wWs W1 w2 Y Z1 Z2 Z3
16L 25x24.5 27 18 4 10 18 18 27 27 13.5 9 4.5 37.5 24 28.8
25L 36 x 36 35 23 5 15 27 27 40 40 20 13.5 6.5 53 33 38.8
32L 48 x 52 41 27 6 18 36 40 52 56 30 22 8 74 44 53.5
40L 58 x 58 4 28 6 18 54 54 72 69 36 27 9 85 49 58.2

® 16L ~ 40L: RiFES, RI 98 &KX, HANEM WERAEXNSGE. ® 16L ~ 40L: Cylinder with long piston for heavy bending and torque moments.

| 52



FONRAY”

D16 ~ 32

EARE

Rodless Cylinder
FPRCL* &%l FPRCL* Series

SV R~ Dimensions ®16 ~ ©63

D B
E ’
!
© [ >
_______%_Ai______ -
£ | ©
i
4-M1
2 X A+{T#2 stroke
| A
C l J
e} I
g [ &
g - N
N> ﬁﬁgf—ﬁiﬁ—*—ﬁiﬁ—fiﬁiﬁ— G
i
3% Code
) A | B|C|D|E G J M M1 P Q S| U |[VH|VS WH WS|{W1|Y
AE Tube 1.D.
16 65 [155( 15 | 69 | 36 M5 55 | M3x7 iR dp M4x7i®Rdp | 365 [25x24.5| 22 |165| 18 | 18 | 27 | 27 | 135 4.5
25 100 |21.5( 23 [ 112 | 65 | G1/8 | 85 | M5x 12 dp | M5x8 K dp | 52.5 | 36x36 |33 | 25 | 27 | 27 | 40 | 40 20 | 6.5
32 125 (22.0| 27 [ 152 | 90 | G1/4 [105| M6x 15 dp | M6x8 &K dp | 66.5 | 48x52 | 36 | 27 36 | 40 | 52 56 30 8
D B
E
2 X A+1T7E stroke
| A S
% o l <L B
TTT T
T h e
—(% $ )
© T @ |so
1/ S /R DA | i) | _ ]
# S ‘@»/
{f NG -
\ © | @z
Y ili X
- \—IVH \_4-M
~ WH
3% Code
: A|(B|C|[D|E G J M M1 P Q S [U|VH{VS({WH|WS|W1|Y
AE Tube 1.D.
40 150 | 44 [ 30 [ 152 90 | G1/4 | 15 | M6x 15 dp | M6x 10 R dp | 80 58x58 |36.4| 27 |54 |54 | 72 69 36 9
50 175 | 42 | 33 (200 (110| G1/4 [11.7| M6x 15 dp | M6Xx 10K dp | 89 77 x76 56 | 27 | 70 | 70 | 80 80 | 436 | 5
63 215 |475( 50 | 235|155 G3/8 | 25 | MBx 17K dp | M8x 14K dp | 123 | 102x102| 50 | 36 | 78 | 78 | 106 | 106 | 62.5 | 14.5

| 83 Y



R EL
Rodless Cylinder

FO"RAV® FPRCL* &35 FPRCL* Series

ZEEHLE  Accessories for mounting ®16 ~ ®63
mERHETZE (#E A FPRCL/FPRCLF)
End cover bracket (foot) ( for FPRCL/FPRCLF)

D16 P25 D32 D40

ailp gp
262D @F@ﬁ @ ET@
/ W @) 242D @)
E‘v ':@ ©
gpuiares | [F E
6

P50 P63
Iy
[ B8 ?
e ‘ @eo @\
o> | 2oz @)
h | ajlmlO
s |
] . @;[ © | © @ i
J -3 Lz . 26
Nl | zF |6 zB - ]
zc
£ Code ATRERES 58 Code ATEERES A
& ZA |ZB |ZC |ZD |ZE | ZF (ZG |ZH | ZP Order Hi ZA |ZB |2C |ZD | ZE | ZF | ZG | ZH | ZP Order o
Tube 1.D. number Tube 1. number o
16 16|18 |26 |36 | 4 | 14 [1.5|125| —— | PL24/1 40 — |54 |71 | 9 |115| 24| 2 | 20 | 30 PL 24/4 8%
25 25[27 |40 [55| 6 |22 2 [ 18| — | PL242 50 {70 80| 9 |125| 25| 2 | 25 | 45 | PL2455 n ]
32 —— |36 |51]65| 8 |24] 4 |20)20]| PL243 63 — |78 {106] 11|15 30| 2 [ 40|48 | PL24s6 Q 51
323 — |40 |56 |65| 8 26| 4 20|20 | PL24/3.1 g
Q.
R 3738 EE Articulated carrier ( i@ For FPRCL/FPRCLF) ]

D16 D25 D32 D40

B i e © s
| m— 2 S

] \
[ |

| / $ZM -
T—L il | 1 i
ZN o %% o
N HiNEE ﬁf 1l i
o ZQ ZJ
®d50 P63 3 L—*ZN L—*ZK
%% Code RIEERTE
e o [ ZE|ZF |ZJ |ZzK|ZL |zZM |2N|ZO|zQ| Order
I( 2 AI4% Tube I.D. Tl
I [ 16 | ——l38 |50 6 [55|20| 3 [—|PL25/
\ ) $ZM _ 25 | —|48 (60| 6 [55[20] 4 [— ] PL252
| / 32 | —le1|73]10|65|55]| 6 |40 | PL25/3
-

{ @ @ | NN < E 40 — | =70 85|10 6560|7245 PL25/4
bl za 7E 7F | 50 22 | 35 [120|146] 48 [ 66| 45 35 30 | PL25/5
Q ZN 2J 63 225| 35 | 147|172 | 48 |66 | 45 | 4 | 30 | PL25/6

| 34 Y



Rodless Cylinder

FPRCL* &%l FPRCL* Series
ZHEF {4 / BAERSRE Accessories for mounting / sensor switch ®16 ~ ®63

FONRAY”

FEINHER
Mid section support

FPRCL ®16, ®25

FPRCL 932, ®40

KC
e o 8
] 1
a -
X = [G)
[ 1ij J:IX -
; \
TS Y S ,
Jac) = ®»
&/ : {
® |9 /
BLHEBARA Sensor switch
FPRCL ®50, ®63 e
#$& Specification
ZigE Model RCAL
KA KH FARAE .
| WE | P KB Switch type H#EE Reed switch
I — s
— 1 = ?o%rft?iitts %5 Normal open
i .y
< - 9] fEFEREE
e 6 < N ([ o o [] Voltage range DC/AC5 ~ 240V
| X = 32 4 [
ol o /[ / ERERGE
© © L "\ : Current range 100 mA max
- - e —— Switch range 10W max
| f i
\ \ &% E
o@ ! @0 / ) Shock resistance 801G
2B
Voltage drop 2.5V max
FEERER T
Response time 1ms BLF Max.1ms
ERBREEE
Temperature -10C~ 70T
3% Code STHERE RET
KA|KB [KC| KD (KE| KF** |[KG|KH|KJ| KY** Order Leen wie ®4,2C,PVC
A& Tube 1.D. number
BERE
FPRCL-16 |25|45|28| 13 | - 47-50 2 120 |10 33 PL 225/1 Lead wire length 2m
FPRCL-25 [37|55|42| 20 | - | 72-75 | 3 [30|16| 50 | PL225/2 BB EHEBEES ON) 55, JErES
FPRCL-32 |70|6.5|70| 38 |55 | 91-100 | 5 |90 | 75 | 102.3 | PL225/3 Indicator lamp LED lights up when ON
FPRCL-40 [70|65|70| 38 |55 |111-120| 5 [90 |75 | 102 | PL225/3 i . IP 67 (NEMA 6)
Enclosure classification
FPRCLF-50 (90| 9 - |43.7| 70 | 136-151 [ 6.4 |120|100| 93-108 | PL 225/5 ErEERe
FPRCLF-63 |90| 9 | - |437|70| 152 |6.4|120[100] 99 | PL225/6 Indicator _ #x#& Green LED
“*KF/KY R~FitIEEE . **KF/KYsize is not fixed.
%% Code R HERA A
J o~ U e A B [E] %€ JEE
© © ¥ © o Tube 1.D. Switch holder
< 2 16 16 | 205
@“ EEST AR 25 15.5 | 35.5
32 155 | 41.5
HPL
13 40 10.5 | 46.5
= 50 | 165| 56
63 15.5 | 68.5




PR EL
Rodless Cylinder

FO"RAY® FPRCL* &3l FPRCL* Series

IEZEFELERST Hold plug 16 ~ ®50

ZEBE Hold plug

Z58 Hold plug

Hold plug
3% Code
A& Tube 1.D. = i
16 0.7 7.5 8% Code
25 1.0 13 1€ Tube 1.D. = = © = =
32 0.7 18 16 75 (53|13 ]| 2 M5 x 0.8
40 0.7 18 25 13 8 15| 4 G 1/8
50 0.8 18 32 ~ 50 18 | 10 | 1.5 4 G 1/4

#: mEER O SEMERR

Note: The dimension of end cap which lock hold plug.

g

A
o
=
®
7]
(7]
(2)
=
=
Qo
(1)
=




REEIN

® Air Chuck Hand
FO"RAI' ACH %%l ACH Series
##& Specification
£I1Z Tube I.D.
(mm) *10 16 20 *25 %32

JEH Item

jI',t;%jeﬁ’o;_&Operation #8) Double Acting Type

i .

R E

gpﬁ%ﬂrﬁ;%ure 1.5-7 kgf/cm? (1.5-0.7 MPa)
{F’%r?;zwl’@@jsjsure 10.5 kgf/cm® (1.05 MPa)

ERAEEE 0260

Temperature

== EENEE _

Max. Operation Frequency 180 cycle/min

e Cylinder Section RE Lubrication Free Type

Lubrication o

%ﬁig{éemion E Apply Grease To Sliding Section

EEEEOL

Po?t Size M5X0.8P

A1 BB 4L Ordering Code

ACHP - 20 2 KT-07R

SRELNE
Tube I.D.
kinds of style Number of sensors
R FATHI Y B3I eSS RS ok BAE
kinds of style | Parallel grip Y grip Sensor Type Code Applied voltage
o ACHP ACHY ﬁé KT-07R 5~120 DC/AC
Code Circular

##3¥ Note:
1Y R AT N B R PR, RIS E =R 6o
2. BiESS R AER (KT-07R) , ERTHE,
1.Y type gripper and H type gripper are with magnet and
can use with sensor to contral them.
2. The grippers are use of circle shape (KT-07R) and can
be purchased.

| 87



RERN
Air Chuck Hand

FONRAY ACH 5 ACH Series

25/ HH 71 Theoretical Cylinder Force

= r— e ————— = ——_1
P T %
—A— -+
N - 45— .
< 1 1 -—-_-F ------- l_?_ ------ B
| Rl
T 0 r
Y KN (ACHY ) MEZERE 4TI (ACHP ) MEHERE
Y grip (ACHY) Length of gripping point Parallel grip (ACHP) Length of gripping point
HI1E mm
Tube 1.D. *ACHY10 ACHY16 ACHY20 *ACHY25 *ACHY32
IEH Item
E)Hlﬂed Side 0.17XP 0.9XP 1.7XP 3.4XP 6.1XP >
EKE;??E*?J&?E (M) =
gf/em Lubrication R9{al
Opened Side 0.27XP 1.2XP 2.3XP 4.4XP 8.1XP gg,
c
z@ﬁ%ﬁ/ﬁﬁ%n& L) 30mm 40mm 60mm 70mm 85mm % %
IR
e BARA B _10° — 4+ 30° [
Lever Open/Close Angles g-
HIFERA (F) Kof
LEength of Maximur’g F=M/LX85

* BEERFE,
. F: ALEH, M: ERiEFNE, L. NEEERE, F Clamping force. M: Theorem moment.  L: Arm length

HE mm
Tube 1.D. *ACHP10 ACHP16 ACHP20 *ACHP25 *ACHP32
THH Item
BRI
: 0.17XP 0.9XP 1.7XP 3.4XP 6.1XP
s (M) | Closed Side
Kgf/cm Lubrication RS {al
Opéned Side 0.27XP 1.2XP 2.3XP 4.4XP 8.1XP
RAMEENRE (L)
Length Of Maximum 30mm 40mm 60mm 70mm 85mm
& MFBATTHZ mm
Leve?Open/ECIose Angles 4 8 12 14 16
* BEEERFE,



8 5% I
Air Chuck Hand

FO"RAV® ACH %5l ACH Series

ACHY Y BI5MER~F ACHY Y Type Dimensions ®10 ~ ®32

o)
ACHY 5
3
3 30°
< \V/""_\7
<
o2 H
K1 3| K2 K2
N -10°
. 2 g\ |ty
B NG s T 8
) — & \ Pl P C-/g)
|5 z © e iy L/ /@
n i \ i i | | ks
(2] — \I ’ \ [q\|[24] ™| N
Zls —| — —1 N K \ L NnleL — —
1| O ﬁ (0] \ I T2
<|m 5| B2 D
o
=| AL <
Al B|E Be | A oD 5 A
YTegl B8 Y oY
[ I c[H Nk = I 1
k! «| e
<t Ql o
flf\ 5w NG $ ™
¢ 8l & \ < %} {}
L~ Vs N
o - Y S ~
w
- N o
N O
L
E1 B1 D1
C1
A f N AN
BN T
N A
77 IS 71
T tid] 7/ |
2-F3 e
Both Sides L Ft
A1l
( BEfiL Unit: mm)
F45%% Symbol
A1 A2 | A3 | B1 B2 B3 C1 | C2 C3 D1 | D2 D3 E1
HI4E Tube |.D.
*®d10 23 16 36.5 18 20 M3X0.5P i Depth 6 18 11 M3 i® 6 (=™ Back ) 10 | 15.5 | M3XO0.5P i&® Depth 5
D16 34 22 45.5 24 25.5 | M4X0.7P iR Depth 8 28 14 M4X0.7P & Depth 8 14 21 M4X0.7P & Depth 8 6
D20 45 26 53 30 28 M5X0.8P & Depth 10 | 36 15 | M5X0.8P i& Depth 10 | 16 22 M5X0.8P & Depth 10 8
*®25 52 32 61 36 31.5 | M6X1.0P i Depth 12 | 40 16 | M6X1.0P i Depth 12 | 20 | 24.5 | M6X1.0P iX Depth 12 | 18
*®32 60 40 68 44 37.5 | M6X1.0P X Depth 15 | 50 18 | M6X1.0P & Depth 10 | 26 30 M6X1.0P i Depth 10 | 24
3% Symbol
E2 E3 E4 F1 F2 F3 G H K1 | K2 | N1 | N2 N3
HI4E Tube |.D.
*®d10 7 20 M3 $giE#EA Air connection 17 10 M3X0.5P & Depth 5 15.7 14 4 3 6 M3X0.5P
D16 8 23 M5 $giE#£ 0 Air connection 26 14 M4X0.7P i Depth 7 | 17.5 | 21.4 6 3 8 M3X0.5P
@20 9 | 28 | M54iE#ED Airconnection | 35 | 16 | M5X0.8P&E Depth10 | 22 | 30 | 12 | 7 4 | 10 | Mm4xo.7P
*®25 9.5 | 30.5 M5 $gi#£ 0 Air connection 40 20 M6X1.0P i Depth 10 26 36 14 9 5! 12 M5X0.8P
*®32 10 34 M5 $RiB#EQ Air connection 46 26 M6X1.0P & Depth 10 30 42 18 10 6 14 M6X1.0P

| 89



. % K
Air Chuck Hand

FO"RAY® ACH %&3%I] ACH Series

ACHP 175 8 R~ ACHP Parallel Type Dimensions ®10 ~ ®32

_ACHP _

& H1 Open
<
KA1 5 K3 H2 Close K2
’-—j o 3
pd oy ‘—‘
[}
.C[ — (——
g 5
bt = =
i N zZ© £ Pary
K|g T 9 E . v
o — — —L gl 14 — —
o|® K|S
z|g | ®
<|d A ,}% £ 1 S N
LY "2 Y1 [TL
— P - ™) N1 P
L Tor g gEie | 4B
T ®S &|S & =y
U] [t L
= &2 ) =
(s2]
.—H s o JL(/ <
of | i < ¢ :
) + o~
1% N ]| LRl
| @
N ol§
® l Y1 o INpl::) o~
0 N o
~ O
i}
E1 B1 D1
C1
]
Pe >
- =
oH+)rE v 2 oR
I | < =2
S\ EB
20X L A}
P 571 X%
—Z_F_B F1 nI’m
Both Sides s
A1l [}
( BEiL Unit: mm)
3% Symbol
A1 | A2 | A3 | B1 | B2 B3 C1 | C2 C3 D1 | D2 D3 E1
HI4E Tube |.D.
*®10 23 16 45 18 20 M3X0.5P & Depth 6 18 11 M3 & 6 (5T Back ) 10 | 15.5 | MB3XO0.5P i® Depth 5
D16 34 22 | 58,5 | 24 | 25.5 | M4X0.7P & Depth 8 28 14 M4X0.7P & Depth 8 14 21 M4X0.7P & Depth 8 6
D20 45 26 [69.5| 30 28 | M5X0.8P i Depth 10 | 36 15 M5X0.8P & Depth 10 16 22 M5X0.8P & Depth 10
*®25 52 32 |79.5| 36 | 31.5 | M6X1.0P & Depth 12 | 40 16 M6X1.0P i Depth 12 20 | 24.5 | M6X1.0P iE Depth 12 18
*®32 60 40 88 44 | 37.5 | M6X1.0P & Depth 15 | 50 18 M6X1.0P & Depth 10 26 30 M6X1.0P & Depth 10 24
3% Symbol
E2 | E3 E4 F1 | F2 F3 G | H1 | H2 | K1 | K2 | N1 | N2 N3
HI4E Tube |.D.
*®d10 7 20 M3 &iE#EA Air connection 17 10 M3X0.5P & Depth 5 13 22 18 7 4 3 M3X0.5P
P16 8 23 | M5 &iE# O Air connection | 26 | 14 M4X0.7P i® Depth 7 15 | 33 | 25 | 11 5 3] M3X0.5P
D20 9 28 M5 & iE# 0 Air connection | 35 | 16 | M5X0.8P & Depth 10 | 19 | 44 | 32 | 12 6 4 10 M4X0.7P
*®25 9.5 [ 30.5 | M5 s®iE#O Air connection 40 | 20 M6X1.0P & Depth 10 24 51 37 14 8 5 12 M5X0.8P
*®32 10 34 M5 $&iE#£ 0 Air connection 46 26 M6X1.0P i Depth 10 31 60 44 18 9 7 15 M6X1.0P

A



%I

Grippers
® -
FO"RA' FCHA %3l FCHA Series
#5Bh Features
O HEEESAEERRAKIFNE @® Available with comprehensive
REEEOLEE (912 ~ 32), range of bore sizes 12 ~ 32 mm.
O SR, =R IE, @ Highly accurate air driven for
© &= RS HRE holding work-piece.
@® Magnetic as standard.
#4& Specification
AI%E Model FCHA
ﬁﬂg%pe &8 Double acting
SRUEL AR
Tube I.D. (mm) 12 16 20 25 32
BEOLRST
Po?t Size M3x0.5 M5 % 0.8
fE R e N
Medil,:m =4 Air
EREBHEE
Operating Pressure Range 1.6 ~ 7kgflcm? (0.15 ~ 0.7Mpa)
BB E - _
Ambient Temperature -5 ~ + 60T ( Fi#AS No freezing )
EEIEBER . )
. Ma':(’. Frequency 180 % / 438& 180 Cycles/min
H%&ﬁ% Orderlng Code 25 ?yﬁlﬁmder AFE#AH Not required
ubrication fgfe, = (BxiMi8iH ) Grease (Actuation at)

FC H A - 20 BAMERE 30 40 60 70 85

Max Arm Length (L)

S BB fa Pp—
Clamp/Release angle
BRI HE Féﬁlfged 04xP [ 09xP | 1.7xP | 83.4xP | 6.1xP
Theorem v
Moment (M)3i 8'* 05xP | 12xP | 23xP | 4.4xP | 8.1xP
pen
Eill

4 BRIBIFS (F) X _
SREL AR Clamping Force F=M/Lx0.85
Model Tube I.D.
RAAEB R RCE,RCE1
Sensor Switch ’
%éi{ght (9 58 103 193 327 525

¥ L RAMERE (mm), M: 3238474 ( kgf-cm),
F: BR0EH (kgf), P: EREH (kgflem?)o

*L: Arm | th ( ), M: Th t (N.cm),
m%z&%ﬁﬁfﬁ . F: Crlr:mepri]r?g fo?(]:r;(N), P: Oeg:a?;irrgogzgsure(:(rl\r;lPa).
Length of gripping point

B FEBA R & 2E Installation of sensor switch

RAFERIER

Sensor switch
RCE,RCE1

Set screw

|
|
|
|
| EIE 444
|
|
|
|

NIRRT
Watchmakers
screw driver




=N
Grippers

FO"RAY® FCHA Z 35| FCHA Series

SRR~ Dimensions ®12 ~ ®32

/ 2-XX (Fe& O port)

o]

R FERIRALIRE

Sensor groove

| (RCE, RCE1)
~ (1
@ )
g

\ = L
N\ /r R 2-UU
™ M
S
N 2w
!
5§ :
‘ /
90 EF——+ o :
Iy »
T T N
| & |0
2-YY P
Q
3% Code
A B C D E F G H | J K L M
M1E Tube I.D.
12 15.4 3 6 7 26.3 9 20 7.5 10.2 23.5 28 20 32.9
16 17.5 @& 8 9 31.1 14 24 7.5 12 22 34 22.5 35
20 22 4 10 12 40.1 18 30 8.0 13 25 45 25 39.5
25 26 5 12 14 47.9 21 36 8.5 18 28 52 28.5 455
32 30 6 14 18 55.1 24 44 10.5 24 34 60 37.5 54
3% Code
N (o) P Q R S T uu \"A" WwWw XX YY V4 z2z
A& Tube I.D.
12 21.5 10.2 16 39 10 16 22 M3 M3 M3 M3 M3 5 25
16 25 14 18 425 14 22 26 M4 M4 M4 M5 M3 6 8
20 32.5 16 19 50 16 26 35 M5 M5 M5 M5 M4 7 3.5
25 38.5 20 215 58 20 32 40 M6 M6 M6 M5 M5 9
32 44 26 30 68 26 40 46 M6 M6 M6 M5 M6 10 5




FONRAY”

TiE 3 5 2R 5L
Rotary Actuator

FCRB %5l FCRB Series

#55€ Symbol

=

sTE&EfLHE Ordering Code

FCRB - 20R - FR — BSP

o

BLE F4225F

=

Model . PTH
SREL AR Port thread
Tube I.D. Blank:Rc thread

B

FR: ERIIRAEE#HE

Type

Blank: Standard type

. FR: Flange rod type
A gerodip

& AERE

R: i B &=t

RD: FT#Aim EE#E =g

¥ RELAE ©16, D20 £ RD #IX
Angle adjuster

Blank: Adjuster bolts

R: Shock absorber

RD: Adjuster shock absorber

*RD type is applicable to bore 16, 20

BSP: BSP ZF
NPT: NPT ZF

BSP: BSP thread
NPT: NPTthread

#5Bh Features
© ERFFEEEEBI R ER—E®RN @ Twin rack and pinion fitted
TEEER AR, as standard.

© T KIREMFEEERE (0°
~190° \R=FEAPEREARX,
© T MM BIERELERE, TR

@ Can be adjusted between
0 and 190 degrees.
@ Simple mounting of sensors.

SRS, @® Magnetic as standard.
® £ RFIHMHE,
##& Specification
£U5E Model FCRB
1EB AKX #wHE
Acting Type Double acting
RELNE
Tube I.D. (mm) e AU 2 e
BEOERS
Port Size FT1/8
fERmaE =
Medium Z5R A
ﬁﬁﬁ@.jﬁﬁ 1 ~ 9.9 kgf/em®
operating Pressure Range
i B8 51 2
Proof Pressure 15 kgf/om
BEaE . ;
Ambient Temperature -5 ~ + 60T (T No freezing )
Aaith A 40 Not required
Lubrication i q
BELE .
Cushion NBR #2 &8  spacer
e ap | B R
RESREE Cushion Pad 0.007J | 0.040J | 0.081J | 0.32J
Allowable EEE
Kinetic Energy C " 0.039J | 0.116J | 0.294J 1.6J
ushion
EERFRR R E
Stable rotation time 0.2 ~ 1.0 s/90°
regulation range
Sensor Switch (3%) RCD
EE& Weight (kg ) 0.7 1.16 1.57 3.07

{EEhE R Action profile

HLAERIR
Sensor switch

\Q ~~ Watchmakers

screw driver
/BB
Set screw




TiE % 5 2R L
Rotary Actuator

FO"RAY® FCRB %%l FCRB Series

HEEEF* Capacity ®16 ~ $32

2B S - T %ERR R E Torque diagram

/’ Ve /
16 A // AL/
12 / A AL
o 1.0 A VAN
5 o8 o/ ‘\9 1—‘\«6 iy
AUJ %¢ 4 , 4 .
TDO 06 [0y 2 (3?2— GQS’
o s 0.5 <A/ <A </ <
25 o4 / ARy
RE 71X
I&HE 03 // //
I‘ﬁ-'- g o0z / //
=0 / //
0.1 // //
3 100 16 30
0.1 0.2 0.4 0.8 1 2 4 6 8 12 20 40

H 5 Torque(N-m)

IEzR 5 H 513% Theoretic force

B {if Unit: N - m (kgf - m)

5K Type FCRB
£T4Z Tube I.D. 16 20 25 32
0.1 0.24 (0.02) 0.50 (0.05) 0.98 (0.1) 1.94 (0.2)

0.2 0.48 (0.05) 1.01 (0.1) 1.96 (0.2) 3.86 (0.39) ]
IRIEEE S 0.3 0.72 (0.07) 151 (0.15) 2.95(0.3) 5.80 (0.59 ) Qﬁ

e 0.4 0.96 (0.1) 2.01(0.2) 3.93 (0.4) 772 (0.79) =
pressure - = = . _ - - . - Q E
(Mpa) 0.5 1.21 (0.12) 251 (0.25) 4.91(05) 9.86 (1.0) >4
0.6 1.45 (0.15) 3.02 (0.3) 5.89 (0.6) 11.58 (1.18) ""'E

0.7 1.69 (0.17) 3.52 (0.35) 6.87 (0.7) 13.52 (1.38) c
9 L

-

o

-

B E Allowable Load

Set the load and moment to be applied to the table within the allowable values show in the table below.
(Values outsize of limitations will cause excessive play, deteriorate accuracy, and shorten service life.)

el | | P

BRE (N)

FARES B EEEE (N) Allowable thrust load BEFA1%E (N.m)
Tube I.D. Allowable radial load Allowable moment
(a) (b)
16 78 74 78 2.4
20 147 137 137 4.0
25 196 197 363 5.3
32 314 296 451 9.7




TiE 3 5 2R L
Rotary Actuator

FCRB %% FCRB Series
5N R~ Dimensions ®16 ~ $32

FONRAY”

Pany
@ N
4 Pl a
I
° o
i
G X1
ZP D X2
B O port
(REEH port) A W2(max.)
7
4-L / Hgb 4l “ m
H1 g6 e B 2R W TR R
— — ! Shock absorber Adjustable Shock
Tm 1 X‘ s vi absorber v3
T 1 | 1
H oy | by SRR / (T B~
ySaEE——— B ) =
NN S | (
¢ S1 Y2 (max.) Y4 (max.)
$S2
3% Code
e ElID) A B | C D E F |G| H|H | J K L M| N| O P
16 108 58 47 62 38 15 38 50 | 48 M5 x 7 & dp,P.C.D38 33 8 M5 x 8 i® dp 14 26 | 15.5| PT1/8
20 128 68 55 78 47 15 46 (62.5| 60 M6 x 7 & dp,P.C.D46 38 10 M6 x 8 i dp 17 27 | 18.5| PT1/8
25 135.5| 77 | 585 | 84 55 [15.5| 48 67 65 M6 x 9 iX dp,P.C.D48 |41.5| 10 M5 x 8 ik dp 17 37 20 PT1/8
32 170 94 |69.5| 106 | 68 | 20 | 55 | 85 | 83 | M8x 10 dp,P.C.D55 [49.5|125| M8x85&K dp | 20 | 47 | 24 | PT1/8
3 Code
M1E Tube 1.D. Q $1 S2 T U
16 8 5% (H wide ) x3.3F dp 6 | 17(H7)x2.5 &K dp 24(H7) x 3 & dp 2— 6.8 Eif thru, ®11x6.5 K dp, M8 x 12dp( JEE{El sink)
20 10+9% (E wide ) x3.5F dp | 10 | 22(H7)x2.5F dp | 32(H7)x3 R dp | 2- ©8.6 Eif thru, ®14x8.53F dp, M10x 15dp ( &l sink )
25 12709 (E wide ) x4 & dp 13 | 22(H7)x3&® dp | 32(H7)x3.7 F dp | 2- ©8.6 Hif thru, P14 x8.5iF dp, M10x 15dp ( JEfH sink )
32 1299 (& wide ) x5 iF dp 13 | 26(H7)x3i®Rdp | 35(H7)x 4.7 ® dp | 2- ®10.5 Eif thru, ®18x10.5F dp, M12x 18dp ( &l sink )
s S w1 w2 | W3 | X1 | X2 Y1 Y2 Y3 Y4
16 M3x4i®dp| M10x1.0 27 26 7 17 MAC1007-SN 31 - -
20 M4 x6iFRdp| M12x1.0 23 32 8 19 MAC1210-SN 36 - -
25 M4x5&Kdp| M14x1.5 36 37 8 22 MAC1412-SN-01Q( #fi& Opposite sides12 ) 50 MAD1410-N 72
32 M5x5&  dp| M20x1.5 43 47 12 30 MAC2015-SN-01Q( #ti£ Opposite sides18 ) 51 MAD2016-CN 96
B 1
ERAEEEZR Flange rod type ——
i A E J K L N
1 Tube I.D.
o6 _Jlo2 - 032 N CHEDECENENE
20 78 40 23 16 9.2 8
25 81.5 | 40 23 20 | 11.2| 10
@ | @ 32 109.5| 60 | 40 | 20 [132| 12
(15 Nh7
66" =~ 1 x HAth R~F BiZ#ERIAA R
»—T-— ey % Other dimensions are the same as standard type.
2 i JT
] - i w
+ - w |




D S| L
Rotary Actuator

FRT* &%l FRT* Series

FONRAY®

$%8L Features

@ AZFBELT, E8EE, O Hard anodised aluminium body is standard.
HREESR, E5HN, @ Clean lines with high functionality.
o —EMawERERmE ® Carbon steel rack and pinion with low

RS backlash.
@ Simple adjustment of rotary movement.
@® Magnetic as standard.
#1& Specification
BIgE
Model FRTF, FRTH, FRTH-D
SRELNE
Tube I.D. (mm) 40 63 | 80
EEAE o o
Standard Rotation (mm) 90+5° , 180+5
R FRRE
Initial Position of Slot (mm) See dimensional feature
A RE ERENHEZBEER
Medium Filtered air with or without lubrication
BN Rk — =
FRTH Male pivot gear (standard type) gﬁ%ﬂgﬁgessure Range 1.3 ~ 7 kgflcm®
BERE o ; f
0N B E AT Ambient Temperature -5° ~ +60T (7 No freezing)
FRTH-D Male pivot gear (double end rod type) REEHE AT 10 12 20
Max. Allowable Axial Thrust (kg)
FRTF R FLENE ST RAAFBIAE 90° 0.266J 0.675J 1.34J
Female pivot gear Max. allowable
kinetic energy 180° 0.58J 1.54J 3.03J
B A B BRI A
Max. allowable radial trust (F) 52.5kg 74kg 91.5kg g.. ‘6
B ERIER =
Sensgr Switch LNO1A LNO2A LNO3A Q E
>
o
£ &
= : = s p A - &’k
sIEEAXT& Ordering Code B X BT EEHES Max. allowable radial trust [}

FRTH - 40 M 90 - D

Tube I.D.
’7 LI L i
RUgE End rod type -
Model AR : ® ®

’ M: BiEEHA
) A RWHE
‘ - Magnet Code
M: Magnet
FRTH Blank: Without D: &0 E
magnet e R D: Double end rod type
Rotation
90: 90°
‘;‘ I’ 180: 180°
FRTF




mE R EL

Rotary Actuator

FO"RAY® FRT* &%l FRT* Series

$5EE|FT Capacity ®40 ~ ®80

SEHRR (—FLE) 1
Compressed air consumption for a complete cycle R4 Unit: Ueycle
RIgE B {EBNE S Operating Pressure (Mpa)

Model Rotation 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
FRTH40 90° 0.1571 0.2352 0.3133 0.3915 0.4696 0.5477 0.6259 0.7040 0.7821 0.8603
FRTF40 180° 0.3141 0.4704 0.6267 0.7829 0.9392 1.0955 1.2517 1.4080 1.5643 1.7205
FRTH63 90° 0.4383 0.6564 0.8744 1.0925 1.3105 1.5286 1.7466 1.9647 2.1828 2.4008
FRTF63 180° 0.8766 1.3127 1.7488 2.1850 2.6211 3.0572 3.4933 3.9294 4.3655 4.8016
FRTH80 90° 0.8480 1.2698 1.6917 2.1135 2.5354 2.9572 3.3791 3.8009 4.2228 4.6447
FRTF80 180° 1.6959 2.5396 3.3834 4.2271 5.0708 5.9145 6.7582 7.6019 8.4456 9.2893

#IgE  Model FRTH, FRTF
SELMIE Tube 1.D. (mm) 40 63 80
i [E 1% Constant K 0.3491 0.3927 0.4712

SHRIEFEEFTEAX: The method of calculation (Compressed air consumption)

P+0.101 .
Q=2xKxAxnxDgx — x
0.101
Z5RiHFE= Compressed air consumption (L/cycle)
A: SELZ B ETE Piston area (mm?)
Dg: e f & Rotation
P: R{EEE A Air pressure (MPa)
K: FE{## Constant
n: #ZB)JEE Cycle of operation (& cycle/min)
#7114 /15 Output torque table
3 A
1.2 / /
£ 1o yat / /
= 0.8 / 1/ /
: © o/ e
g oe & SBE
? 05 Q;, Q\# ((\/\7
OEJ_ 0.4 / / /,
Z o3 // / /
5 4
m 0.2 /
s s
0.1 yd Z Z
1 2 3 4 6 81012 16 20 30 40 60 80100

#1/1 Torque moment N.m



10 ¥ ST
Rotary Actuator

FO"RAY® FRT* &35l FRT* Series

SpEH R~ Dimensions ®40 ~ ®80

FRTF EERHE° EERE180°
Angle of rotation 90° Angle of rotation 180°
S-& depth 15 M
2X4 Hole I

pee) 8
fERARBG L =) 7% depth 15 18045°

Adjustable screw 2-X 2x4 Hole

| T
-~ 1 [
[ | o® :
1
le= o8k =5 B | E
[t ! : - 4 Y
@ Bk @@, S
S ; : - N
L _oE o L J
R D R K
w A w
A Coce A c|p|E|F H KlL|m|N P R
e 907 [180° G J o) Q s|T|lu|viw| x|z

FRTF40 263 [ 326 | 81 | 75 |72 | 8 |65 |53 |375| 93 |275|60| 38 | 15|25 |14 | 30| M6 | 5 | 165 |35 | 4 [G1/4| M6
FRTF63 306 | 377 | 95 | 90 | 82 [ 10 | 75| 75 [ 425 |110| 30 | 70 (56.5| 16 [ 30 |19 |32 | M8 | 6 | 22 |45 5 |G3/8| M8
FRTF80 343 | 428 | 119|105 | 96 | 12 | 95 | 95 | 515 |[135| 36 |82 | 72 |19 |45 |24 | 38 | M10| 6 | 275 | 45| 5 | G3/8 | M10

EERE0° WEFE180°
FRTH Angle of rotation 90° Angle of rotation 180° g
o jE
S-i% depth 15 180+5° < T
>
o
Ko
[}
)
s =
| B
. Z-i® depth 15 it
| | 2X 2x4roe i O-iF depth15
] | S
[ T
& . ‘ )
- ] > Tz | Ao
* oo aﬂ;
- - |
@ ! @ 1 @ ‘)@
[N
¢E L. J ST
D K Bigger axis P Q T
W A =W FRTH63 28
FRTH80 58 35 10

8% Code A
G Model 90° | 180°
FRTH40 263 | 326 | 112 | 75 | 72 8 65 | 53 [375| 93 |275|60| 38 | M5 (30|16 | 25| M6 |5 |18 |35 |4 | G1/4| M6
FRTH63 306 | 377 (138 90 | 82 | 10 | 75 | 75 | 425 (110 30 [ 70 (56.5| M8 | 42 | 24 | 36 | M8 |8 |27 |45 | 5 | G3/8 | M8
FRTH80 343 | 428 |170|105| 96 | 12 | 95 | 95 | 515|135 | 36 [ 82| 72 [ M8 |50 | 28 | 45 | M10 | 8 |31 | 45 | 5 | G3/8 | M10

C/IDIE(F|G|H|J|K|L(M|N|O|P|{Q|R| S |[T|U|V|W| X | Z




mE R EL

Rotary Actuator

FRT* &3l FRT* Series

FONRAY”

SpEH R~ Dimensions ®40 ~ ®80

FRTH-D EEFEI0° EEFE180°
Angle of ratation 90° Angle of ratation 180°
S-iR depth 15 o mo
2X4 Hole ’Sf'; - 180°+5
Y 'Y'
/
] =
o FREAEIRG
Adjustable screw
ol 1] Z-3& depth 15 i
[ hl
[ i ‘ 22X 2x4Hole ‘Jl O-Fdepth 15 |
4 + H [T _—ﬁ—_
| —TT
h |z
e 1 *’H%*’* ””” ’i oo i%f“bm AP >
@ ! @_ - ' @ )@ N
| il [
b i
| |
¢ E Li J
D K
w A w
el A g lple|Fle|H|J|k|L|m|{N|o|lP|a|R]|s|T|u]|V X |z
% Model 90° |180°
FRTH40-D | 263 | 326 |143| 75 | 72 8 65 | 53 | 37593 [275| 60 | 38 | M5 |30 | 16 | 25 | M6 5 (18| 35 G1/4 | M6
FRTH63-D | 306 | 377 |181| 90 | 82 [ 10 | 75 | 75 |42.5(110| 30 | 70 [56.5| M8 | 42 | 24 | 36 | M8 8 |27 | 45 G 3/8| M8
FRTH80-D | 343 | 428 |221|105| 96 | 12 | 95 | 95 |51.5|135| 36 | 82 | 72 | M8 | 50 | 28 | 45 | M10 | 8 | 31 | 45 G 3/8 | M10
EIEAX: Mounting type
FRTF FRTH-D
QULL® “ ©
i =ah .
EnitE oL

JEEEE Bottom mounting LA EE Top mounting

JEMEEE Bottom mounting _EAEE Top mounting

O £ K A EEEE . Rotating direction and adjustable angle

FRTF

+5°

=52

FEREERS

Adjustable screw

FRTH

+5° !

Adjustable screw

| 09



FONRAY®

D S| L
Rotary Actuator

FRT* &%l FRT* Series

B ERRB =L Installation of sensor switchs ®40 ~ ®80

1T hy 4
TuelD. | Somerowich | A | B | ¢ | D | E
40 LNO1A 29 32 32 M4 x 8L M4
63 LNO2A 40 43 32 M4 x 10L M4
80 LNO3A 49.5 52 32 M4 x 12L M4

EE R Cylinder Weight

Standard
Rotation

BT Unit: kg
43 BRAERR RIS
Egg}g FRTH L Sensor switch
Model &

- I

SRELRIE
Tube I.D.
90° 180° 90° 180°
40 3.00 3.10 2.84 2.94 0.065
63 5.40 5.80 5.07 5.47 0.066
80 9.75 10.30 9.19 9.47 0.086

B 3 =

A
=
[
<
>
a
c
=
o
=




FONRAY”

REBE TR

Pneumatic—-Swing Clamp Cylinders

FTA* &5l FTA* Series

FTAS/FTAD

HENEIE / SR BIRE

Single side clamping arm . Double sides
clamping arm

FTAS. .F/IFTAD. .F
HENEIE / EIBERRE ( PHREEY )

Single side clamping arm . Double side
clamping arm

(Piston with magnet)

FTAS. .FC/FTAD. .FC
WENEE / IR FIRE (RFLMEEER )
Single side clamping arm . Double side
clamping arm

(Manifold with flow control)

FTAS. .FA/FTAD. .FA
WENEE / SR EIRE (EER)

Single side clamping arm. Double side
clamping arm

(Flange type)

ETE&E 18 Ordering Code
FTAS L

11

EH NRITIE
L: inRE
Clamping
Stroke
Blank:Standard
L: Lengthened

Bigk p
M;):el SEL TR
Tube I.D.

‘TAS

tTAD

101

25M

i

M: Fi#EA
M: Magnet
% Only for
standard type.

$%58E Features
O=REFTRITEFEAERH
BN, BEFEAEHBERT, 8

R RBETLE,

® These swing clamps are used when
it is required to keep the fixture
workpiece loading and un-loading.

® This penumatic clamping element

OAEEHATEARTHXR

&, HERERIERMER 360°
BREZ FRERE,

FERESIE Note

O EER=RHE A TR, &S (]
BERBRZRER, SAXR
ERzZ 15,

OB EAEEHATRIR, &
mEmEEHIR, B REER
R IRIRELRE R A ERE 4o

#¥1& Specification

is a pull type cylinder,there are five
standard sizes, and for each size two
versions of standard clamping arms,
mounting of these clamping arms at
angle within 360.

Please don't exceed 1.5 times of the
original length, if it is necessary to
increase the length of the clamping
arm.

Suggested to install a flow control
valve protect cylinder barrel and
internal components against fretting
wear.

FTAS ( B;:82RE )

FTAD ( #i2FiR2 )

m
i Mo (Single side clamping arm) | (Double side clamping arm)
EEAR . y .

Acting Type #E)E! Double acting

SRELALE (mm)

Tube 1.D. (mm) 25,32,40,50,63 32,40,50,63

& Ainige BETR

Power Fluid Filtered air with or without lubrication

& AR H & E

The Range of Pressure

1 ~ 10.3 kgf/cm?

it 1
Max. Pressure 14.7 kgf/cm?
Ak Eop) HEEE (EEGEEREE )

Material of Cylinder Barrel

Anodised aluminium alloy

RENEH AR

Standard Angle of Rotation

( Angle of

90° £ 2° (0° .

45° | 60° BRHhEEZRAE)
0° ,45° and 60° are optional )

WER T

Rotating Direction

NERFEE (CM ) SRSt (CCW )

Clockwise or counter clockwise

Sensor Switch

LN40R

CW -

WeE 77 [0

CCW: iifF 1 e s

CW: lEEFEt iEE

Rotating direction

CCW: Counter
clockwise
CW: clockwise

90

2

- FC - B

T

e JFRE S
90: ZEEHMAE 90° =, =R
Rotating angle B: 3
90° : Standard rotation Clamping arm type
] e Blank:Standard
IE’:E@.K B: Extension
Mounting type
FA

FC

2B AR M EEE,
%1:0Only for without magnet type.
% 2:FC type required with the manifolds.



REBEf T BRI

Pneumatic—Swing Clamp Cylinders

FO"RAY® FTA* &35l FTA* Series

1= E1E Precautions be sure to read before handling ®25 ~ ®63

B2 BiiFE R~ =E Single side swing clamp

D o
PN Mo
[/(@ s (cow) 55 A (CW)
§ el
P ; 3
— /éﬂ[éﬂ#(cw) X
| | [}
o e to
L/ Lr_J— %—g
g
St
218 RiRE i =~ =8 Double side swing clamp
SR ) —)
. .
: ‘ /
|@/;/Nx\@| \ F}? ﬂ a / |$/7/—\7\$|
2 LY S
8 (coW)\ = T = & = @f—__—fi}J /1 (ow)
Nl e
~L__J \ L__J)—

BT

(2]
=
5
<%
o
7]

[R5 3 B 4E73X Clamping arm mounting methods

o{ ></'

BiIFE#RIE A Clamping arm removing methods

i EHBANEERIFHEN, BEHSERER,; FE
FEEERE, SRERERAEMCERBIBERIES,
Note: If the clamping arm is wrong mounting and removing,
the spring pin is froken easily.
Then the rotation angle is deviation or the action is not
smooth when the cylinder works.

| 102



REBE TR

Pneumatic-Swing Clamp Cylinders

FO"RAY® FTA* &5l FTA* Series

4MEH R~} Dimensions 25 ~ ©63

I (CW) [ﬂ}/‘?\ ]—
BEE [ m =aE
w3 (cow) W kD\\+//Gd

4-p L Bil thru P 4-¢L BiF thru
K
.~ 4

| o

PN mem) - G2 -
L I
1 ujj'“ = l\ ] N
| ik - Il Joi °
y in]
E1 #1RHER !
(ot BT || b % | | b
i1 N J
M o E2 = ®
‘ < < | - \w - <
ol o | b
@M T T e
3 | © S NS
r ‘r R e !
N a 6
6l ‘ -
[-T-1RY [ |
Lraper 110 = BiBBRRER
| >4 Single side clamping arm
S
| Eaeiaam j=73 EH NEITE TR
mapiE | EEiee | wmmE | S IR ZEER S Clamping arm type
HUgE Model Tube Piston Swing (mm) B/ £l Clamping force G1 G2
1.D. rod stroke — — Pressure area N (C") Gl\?lpa) e e — T
l_‘_t“ >:< 2 B g‘ I m‘ I
sy o in) (o) Standard Eernsion Al il Standard Eernsion Standard Extuension
FTAS-25 25 14 9 13 - 491/337 200 50 70 - -
FTAS-32 | FTAD-32 32 ®16 11 15 30 804/603 360 70 100 140 200
FTAS-40 | FTAD-40 40 16 11 15 30 1257/1056 630 75 100 140 200
FTAS-50 | FTAD-50 50 20 13 17 34 1963/1649 980 85 130 160 230
FTAS-63 | FTAD-63 63 $20 13 17 34 3117/2803 1680 95 130 160 230
3% Code TRHER EH MRITEMRE X
Standard type Clamping stroke lengthened type Cc D1 D2 E1 E2 | F
EU5% Model A | A1 A2 A3 B |ST| A A1 A2 A3 B ST
FTAS-25 67 | 89 | (105.9) - 65 | 22 - - - - - - 23 (159 - M6 x 1.0 - 6

FTAS-32 | FTAD-32 | 82 | 108 | (128) 127 | 78 | 26 | 97 | 138 | (158) | 157 93 | 41 | 28 (019 |[J19 |M8x1.25| ®8 | 8
FTAS-40 | FTAD-40 | 82 | 108 | (128) 127 | 78 | 26 | 97 | 138 | (158) | 157 93 | 41 | 28 [(J19 |J19 |M8x125| ©8 | 8
FTAS-50 | FTAD-50 | 94 | 124 | (150.4) [ 146.2| 90 | 30 | 111 | 158 |(184.4)|180.2 | 107 | 47 | 31 |[125.4 [(122.2| M10x1.5| ®8 | 10
FTAS-63 | FTAD-63 | 94 | 124 | (150.4) [146.2| 90 | 30 | 111 | 158 |(184.4)|180.2 | 107 | 47 | 31 [(025.4|[J22.2 | M10x1.5| ®8 | 10

5% Code N3
S H | J K L M N | N1 | N2 sﬁﬁ . E?(E 55?2 ) O|P Q R S T U
FTAS-25 - P35 | 38 | 30 | P46 | M5x8.0 | 35 8 | 165 39.5 - - - | 96.8| @11 [ 14 5 8.5
FTAS-32 | FTAD-32 | 9 P46 | 50 | 40 | ®5.6 | PT1/8 50 |11.5( 19 45 60 95 | 25 P9 [ P14 | ®16 7 9.5
FTAS-40 | FTAD-40 | 9 ®55 | 60 | 48 | 6.8 | PT1/8 55 | 14 19 45 60 95 | 25 ®9 | ®14 | D16 7 9.5
FTAS-50 | FTAD-50 | 10 | ®65 | 70 | 57 | 6.8 | PT 1/8 60 | 17 21 54 71 111 29 | ©11 | ®17 | ®20 9 [125
FTAS-63 | FTAD-63 | 10 | ©78 | 83 | 67 P9 PT 1/8 70 | 20 21 54 71 111 29 | @11 | ®17 | ®20 9 [125

# FEH TEBITEMRERT,  ¥Clamping stroke lengthened type.

| 103 }



FONRAY®

REBEf T BRI

Pneumatic—-Swing Clamp Cylinders

FTA* &%l FTA* Series

BiFEEY / 5MER R~ Dimensions /With magnet type ®25

3.‘ ®115
, — $6.8
wsow) 2 [ D Q)
| P |
/ \ \ o
o| «© ! I o
[$ ] @‘ ’ g E E \ } & @ i Taper 1:10 = : ©
wcom N @) & % 14
‘ 4-¢4.6 Hifi thu 43
= [ =1
BB BEE EBRHEZER
Auto switch mounting  Single side clamping arm
o1 groove pOSItIOn
6 35 ‘ 15.9
! |
i T
__Ll.l [ T
| Hili ’ if
All
V =2 J N M6x 1.0 =2 J
M6x 1.0 N
| | - |
ImEE 2 >
I 4 7 = _TT
| ‘ 1 I e ! ‘
[ | N | [ ‘ g
| ‘ | I 2-M5x0.8 | ‘ | ‘ 3
| ‘ | l 8 [ | l ‘
| i ey | 1]
| el &4
S i AR -
Jel 2
4 P = ZREH o HRERK G1
SRUEL RS TEERRR HATE FEH NETE i NS i
HU5E Model Tube I.D. Piston rod | Swing stroke Clamping stroke Pfs{i“u/rziﬁla Clamping force Clamping arm type
(mm) (mm) (mm) (mm) push pull(mm?) N(0.6Mpa) S%%ﬂd Eﬂf.ﬁgg
andar xtension
FTAS-25M 25 14 9 13 491/337 200 50 70
EE R Cylinder weight B FEFABA Installation of sensor switch LN4OR
WIE#ER Standard type WK #EEE With magnet type
ik £ ik 8
Model Weight (kg) Model Weight (kg)
FTAS-25 0.3 FTAS-25M 0.4
FTAS-32 0.7 FTAS-32M 0.73
FTAD-32 0.9 FTAD-32M 0.93
FTAS-40 0.9 FTAS-40M 0.95
FTAD-40 1.1 FTAD-40M 1.15
FTAS-50 1.6 FTAS-50M 1.65
FTAD-50 1.8 FTAD-50M 1.85
FTAS-63 2.1 FTAS-63M 2.22
FTAD-63 2.3 FTAD-63M 2.42

2

(2
=
5
<3
<
7]



REBE TR

Pneumatic-Swing Clamp Cylinders

FTA* &35l FTA* Series
Mi# B / 5P R~ Dimensions /With magnet type ®32M ~ ®63M

FONRAY”

 FTAS

 FTAD _

& (cw) A IE#: (cw) A @/m\@
7 Y
- \ -
5| |[@ o [ Tﬁ"("f%” ] = 8] 5| o
\ /
5 (cow) s (cow) M é\ﬁ/
‘ 4oL i@ P 4-¢L Bil thru
G1
F #3
N ((ﬁ;nlﬁgal_") i G2
T 1 i ]
1 N Y s P
B gem 7 BT | |
(standard) E1/] I s I I 5
. |
= < $E2 =] 2
T z N =
o <
Z y ol < ‘ " o
| 1 ! +1 )
o N + o #j - o
z | | Y
$! ]
$R
$Q
|
| =
Il Taper1:10 1 o
— 0 =
¢S
R 2 R BEMMEE
Single side clamping arm uto switch mounting
groove pOSItIOn
s aeing | B P - . HREREIZ
SETHE ﬁ'g*q:ﬁ‘:‘é 12 EH NETE ZREE R AnEE S Clamping arm type
HUEE Model Tube I.D Piston Sl Clamping JEB{8 / Frfal Clamping = 0
" (mm.) ’ rod strokg stroke Pressure area force - -
(mm) (mm) push /pull(mm? | N(0.6Mpa) | RHEE | fRE | BEH | jRE
(mm) Standard | Extension | Standard | Extension
FTAS-32M | FTAD-32M D32 P16 11 15 804/603 360 70 100 140 200
FTAS-40M | FTAD-40M P40 D16 11 15 1257/1056 630 75 100 140 200
FTAS-50M | FTAD-50M ®50 $20 13 17 1963/1649 980 85 130 160 230
FTAS-63M | FTAD-63M 63 20 13 17 3117/2803 1680 95 130 160 230
3% Code A A1
R A2 A3 B C D1 D2 E1 E2 F H | J K
FTAS-32M | FTAD-32M 87 113 (133) 132 83 28 |19 19 M8 x 1.25 »8 8 9 D46 50 40
FTAS-40M | FTAD-40M | 87 113 (133) 132 83 28 |19 19 M8 x 1.25 »8 8 D55 60 48
FTAS-50M | FTAD-50M 99 129 | (155.4) | 151.2 95 31 [1254 | [J22.2 | M10x1.5 D8 10 10 D65 70 57
FTAS-63M | FTAD-63M 99 129 |[(155.4) | 151.2 95 31 0254 |[J22.2 | M10x1.5 »8 10 10 P78 83 67
8% Code
S L M N N1 N2 N3 (o) P Q R S ST T u
FTAS-32M | FTAD-32M | ®5.6 PT 1/8 50 11.5 19 50 9.5 25 ®9 P14 P16 26 7 9.5
FTAS-40M | FTAD-40M | ¢6.8 PT 1/8 B5) 14 19 50 9.5 25 ®9 P14 P16 26 7 9.5
FTAS-50M | FTAD-50M | ¢6.8 PT 1/8 60 17 21 59 111 29 D11 P17 D17 30 9 125
FTAS-63M | FTAD-63M D9 PT 1/8 70 20 21 59 11.1 29 D11 P17 P17 30 9 12.5

| 105}



REBEf T B

Pneumatic-Swing Clamp Cylinders

FO"RAY® FTA* &3l FTA* Series

RFLHIFEESY / 4MER R ~F Dimensions /Manifold with flow control ®32 ~ ®63

FTAS FTAD

JEEs (CW ) g [@ 3 G} ! i (oW) [$@®;L\$h
e u e i | ¥ o
[@ @@ ®> =5 5 ¢ [ e als * 2

s (cow) \ l@@/ s (cow) l$ \L@#@;

P Min.5
® #eFEmFLClamp port

Q) ' |
s I T
M \ 4oL @ M 4-6L Bty
£
=
5

G1 HEkmFLRelease port
E - G2
A | |
T i
I I NI
| n . i loa i
E1 fZ#R) 7 }E } f i h |
(standard) E1A T i e i | s
} o $E2
| < - 2
| < <
| «h il
| _
i | @ | o i i ©
L i v i i
0 T T ¢ R 0 )
‘ | O-Ring 7 4Q __l | O-Ring
¢l _ ol
| 2w
= <
I . = =
| Taper 1:10 r D¢ o 5 &
' )
$S 2 &1
._I_' . . .
B8 R HR %23 R~ Single side clamping arm
- o P Z & FE R N4 R .
SRELNTE | HERE ﬁg EH NEITE E%ﬁ%/ﬁ;iiéﬂ“ Cﬁrﬂpﬁ;} Clamping arm type FTA
g Tube Piston h Clamping
AU5E Model D rod Swing " Pressure area force G1 G2
(mm) (mm) stroke (mm) push /g)ull N =R e R nER
(mm) (mm”) (0.6Mpa) | standard | Extension | Standard | Extension
FTAS-32FC | FTAD-32 FC 32 D16 11 15 804/603 360 70 100 140 200
FTAS-40FC | FTAD-40 FC P40 D16 11 15 1257/1056 630 75 100 140 200
FTAS-50FC | FTAD-50 FC 50 20 13 17 1963/1649 980 85 130 160 230
FTAS-63FC | FTAD-63 FC $63 20 13 17 3117/2803 1680 95 130 160 230
4% Code
A | A1 A2 A3 B | C D1 D2 E1 E2 F H | J K
#5% Model
FTAS-32 FC | FTAD-32 FC| 82 108 | (129.5) 127 78 22 [ [19 19 M8 x 1.25 »8 8 9 46 50 40

FTAS-40 FC [ FTAD-40 FC| 82 | 108 | (129.5) 127 78 | 22 | [J19 19 M8 x 1.25 o8 8 9 ®55 | 60 | 48
FTAS-50 FC | FTAD-50 FC | 94 | 124 | (152.4) | 1462 | 90 | 25 |[J254 |[J222 M10x 1.5 ®8 10 | 10 ®65 | 70 | 57
FTAS-63 FC | FTAD-63 FC| 94 | 124 | (152.4) | 146.2 | 90 | 25 |[125.4 |[]22.2 M10x 1.5 o8 10 | 10 78 | 83 | 67

3% Code )
58 vode! L M N (0] P Q R S ST T U O-ring
FTAS-32 FC | FTAD-32 FC 5.6 19 50 9.5 25 9 o114 16 26 7 9.5 P7
FTAS-40 FC | FTAD-40 FC 6.8 23 55 9.5 25 ®9 >14 D16 26 7 9.5 P7
FTAS-50 FC | FTAD-50 FC 6.8 28 60 111 29 D11 D17 20 30 9 12.5 P9
FTAS-63 FC | FTAD-63 FC o9 32 70 111 29 D11 17 20 30 9 12.5 P9




REBEf TR

Pneumatic—Swing Clamp Cylinders

FTA* &5l FTA* Series
$XB 2 / 5ME R ~F Dimensions /Flange type ®32 ~ $63

FONRAY”

FTAD
L
IEEs (cw) R NC a—
/ | A
X | o AN ‘ AN «!| =
5| 3 [—dEpe—] 1|3
\ ! /
s (con) N\, KON~ ]
» <L> 3
4-¢ L Hi thru ® HFFifFL.Clamp port 4-¢ L Eif thru
Wi $kmFLRelease port
G1
F a4t 7 G2 '
] {standard]
| A >
= = - o
) | HJ I 2 4 e
E1(st1§r;—§agr[id) / /li Il [ l —
—
= Y| & L | By
1] 1] T ‘ ]
T : T e 2
Li 1 - L | I
< ‘ z
| < | al <
® ® |
i A $R iy ‘ i
I i i iy Ut | It U
6 Q '
v |\ w N
2-M M
bl [ i ®1
Taper 1:10 )
I > 3 Y
¢S
B8 BiR =4 R~t Single side clamping arm
. o e i A BRI
SRELRE | iHZEIRAE ﬁg EH NETEE }%ﬁ%/?g{éﬁll Cﬁﬁ:ﬁi? Clamping arm type
" Tube Piston h Clamping
HU5% Model D rod Swing " Pressure area force G1 G2
(mm) | (mm) jtr[fn‘jf (mm) pu(snr: / Zp)ull o N o | PR [ mEE | B [ mED
: Standard | Extension | Standard | Extension
FTAS-32 FA | FTAD-32 FA »32 D16 11 15 804/603 360 70 100 140 200
FTAS-40 FA | FTAD-40 FA 40 D16 11 15 1257/1056 630 75 100 140 200
FTAS-50 FA | FTAD-50 FA 50 20 13 17 1963/1649 980 85 130 160 230
FTAS-63 FA | FTAD-63 FA D63 20 13 17 3117/2803 1680 95 130 160 230
%% Code
A | A1 A2 A3 B | C D1 D2 E1 E2 F | H 1 J K
#U5% Model
FTAS-32 FA | FTAD-32 FA| 82 108 | (129.5) 127 78 22 | [J19 19 M8 x 1.25 »8 8 9 46 50 40
FTAS-40 FA | FTAD-40 FA| 82 108 | (129.5) 127 78 22 | O19 019 M8 x 1.25 8 8 9 D55 60 48
FTAS-50 FA | FTAD-50 FA | 94 124 | (152.4) 146.2 90 25 | J25.4 | [OJ22.2 M10x 1.5 8 10 10 D65 70 57
FTAS-63 FA | FTAD-63 FA| 94 124 | (152.4) 146.2 90 25 | [J25.4 | [J22.2 M10x 1.5 »8 10 10 78 83 67
3% Code
L M N N1 (o] P Q R S ST T U
#U8% Model
FTAS-32 FA | FTAD-32 FA $5.6,99 x 5.5dp PT 1/8 50 32 9.5 25 9 14 D16 26 7 9.5
FTAS-40 FA | FTAD-40 FA ©6.8,010.5 x 6.5dp PT 1/8 55 40 9.5 25 P9 P14 D16 26 7 9.5
FTAS-50 FA | FTAD-50 FA ©6.8,010.5 x 6.5dp PT 1/8 60 50 111 29 D11 D17 20 30 9 12.5
FTAS-63 FA | FTAD-63 FA 9,014 x 9dp PT 1/8 70 63 111 29 D11 D17 20 30 9 12.5

| 107



REBEf T BRI

Pneumatic—-Swing Clamp Cylinders

FTA* &3l FTA* Series
25X Clamping arm type ®32 ~ ©63

FONRAY®

ERRRE (FEH )
Single side clamping arm
( Standard type with thread )

f . 7 \\ i
'@' & i a
\\’/ Y
8% Code
F G " D1 F G | G1 E1 Q R S T u
G1 FTAS-25 |[115.9 35 50 M6 x 1.0 P6.8 | 11 D14 5 8.5
R FTAS-32 |19 50 70 M8 x 1.25 9 P14 | ©16 7 9.5
E1 Q FTAS-40 |[119 55 75 M8 x 1.25 9 P14 D16 7 9.5
\ FTAS-50 (1254 | 10 | 60 85 M10x 1.5 P11 P17 | ®20 9 125
|
! - FTAS-63 |[1254 | 10 70 95 M10x 1.5 D1 D17 20 9 12.5
Taper 1:10 1 |\ :# a
s
[-1- IR%
HiBFfE B&E (mREEF)
Single side clamping arm B type
( Extension type without thread )
e\
] o 8% Code
N D1 F G1 L Q R S T u
#I%% Model
L FTAS-25 B |[]15.9 6 70 15 6.8 [OX N D14 5 8.5
G1 FTAS-32B (119 8 100 20 9 14 16 7 9.5 o
R FTAS-40B |19 8 100 | 20 ®9 | 14 | P16 7 9.5 <TF
Q FTAS-50B |[(125.4 10 130 25 D1 D17 20 9 12.5 g&
FTAS-63 B | (1254 10 130 25 [OX N D17 20 9 12.5 (1) ﬁI
i @
Taper 1:10 1, ' \\ D‘ y
S
S8R (FE3/ nRa ) ERRIR (FER )
Double side clamping arm Double side clamping arm ( Standard type )
( Standard & Extension type ) eV R
= D D4 G2 H o P
5% Model Tube I.D.
‘ FTAD-32 D32 »8 119 140 9 9.5 25
11 I FTAD-40 D40 »8 19 140 9 9.5 25
1 *f* FT 2 FTAD-50 »50 »8 [J22.2 160 10 111 29
L FTAD63 | ®63 | @8 | 222 | 160 | 10 | 111 | 29
P
) S8 B (MRAET )

G2

Double side clamping arm B type ( Extension type )

S| e D4 | G2 | H o P
EU5% Model Tube I.D.
FTAD-32 B »32 »8 19 200 9 9.5 25
FTAD40B | o4 | @8 | 019 | 200 | o | 95 | 25
FTAD-50B | 50 | o8 | 222 | 230 | 10 | 111 | 29
FTAD-63 B D63 »8 [J22.2 230 10 11.1 29

| 108 }



FONRAY”

iR ERR / B EST

Magnetism Sensor Switch/Fixed Metal Band

wERLAERE B Magnetism Sensor Switch

EilL Gy RUFERI EAERE BX{E Rt B AR AR B
Model Photo Form Working Voltage | Max. Value Dimension Apply for cylinder & groove
KT-03R WEE /B3 | 5~240V DC/AC | 10W, 100mA (PBTSH)  (PCRR)  (BKSW)
KT-03N NPN / #BHE!
5-~28V DC 6W, 200mA
KT-03P PNP / %Ba5 s 60~630E AL
KT-06R S /BB | 5~120V DC/AC | 10W, 100mA L
A (] i} 305+01
Y
KT-06N NPN / % B35 L 3E[ ]
5-28V DC 6W, 200mA "rD — b u &
KT-06P PNP / % B% it 42201
KT-07R WEE /¥R | 5-120V DC/AC | 10W, 100mA L ( BIMBASMC )
e s —m—— 3054014
KT-07N NPN / B2 28 e
5-28v DC | oW, 200ma | O L1 @@ m
KT-07P PNP / # B8 R A 4.25+0.1
RD-301-R WEE /% | 5~240V DC/AC | 10W, 100mA I (AIRTAC)
3 7.12£0.1
el | (OO, P,
RD-301-N NPN / % Bz e
5~28V DC W, 200mA [Sﬁ {ﬁ
RD-301-P PNP / B B% ——
RD-201-R WEE / EHE | 5~240V DC/AC | 10W, 100mA
RD-201-N ﬁ' NPN / %R
\/ 5-28V DC | 6W, 200mA
RD-201-P PNP / #EEY
155 15.0
—
EE%% F Jm B

Fixed Metal

Band

g ﬁg
!

]
v,

HER1

FHSCHSARHG © IRIRERRE
EIE

PN

5%%2 SE3 S B4
1 L ERS ARS8 HERIEER B AR EEE e e
At EE R RO - BRERURIRARS - 6 SHELRAE SRR SHERENST R
» ER IR R BZEE -
£ BIBALERED -

S 20
T T

S: [BIZYEL A B+ B R A 855 |

A BEEAEMERREE

Blgn: PN-S25: Z{# Ak C25H R FHHEIRE
HRERZE, BREE RD-201-REAFIH#EEE RS

12; ®12 [EA4ET
16: ®16 [EAET
150: 150 EIBET



FONRAY® Feed Gl

ElE ¥ E Fixed Clamp

PAC

\ ‘ 33.0 |
) —
’ 19.0
SEEEAE  032~100 HASH N
HSERE  D4~d10)

H AERIRE (tie—rod), AR EIZE RD-201-R & RD-301-RZ Flfyr4 1S,

| : -
Q mir=
= T

B

R

5y Size A B c D -
Model >-<
PM-6 19.1 31.3 73 12 o
PM-8 18.4 335 95 12 P
PM-10 16.7 35.7 11.2 12 N
PM-12 20 355 15 12 3
PM-14 24 38.0 13.5 12 ©
PM-16 24 40.0 15.5 12

= ATERMREL (tie—rod), AR EIZERD-201-RAFI MR IEE REE,

B Unit: mm

R~
g 2 A B 32 PR K BT TR
Model

Pl-1 11.15 104 ®32 ~ ®40
PI-2 14.10 13.5 ®50 ~ ®63
PI-3 15.45 15 ®80

Pl-4 16.3 16 ®100
PI-5 19.8 18.7 ®125
PI-6 26.5 25.7 ®150

HR7EKBIEI(1SO profile), AR EIERD-201-R & RD-301-RZ& 5 EaE 4RSS

| 110 }



